Rl
525

JFH BRI B
HENE3R

oo
=

n
—
o
L
7]
(O]
=
Q.
=
<
-l
®)
U
[0 4
L
o
=
=
S
o
S
(2 4
g
=
o
(2 4
2z
X




THIFRIRNBRAT

EBEH 1989 FRIINEE - DL AUTOGRIP migTIHEIX -
EUEREN RS - AR E AL B B B b3S R A E MRV
BMRE  RIARSRHESECHNARRS ZRRE -

G A=

EERBHRATBMEZERQEZHE O - 441th 4000 ¥ -
MELSENEERE  EULATEPL  BEFHETIESR
BENEREEAREURNERFHE - RHFHHRER
B BOIRBEEFER X BMESKFINEEFREE -

LOCATION OF AUTOGRIP

“HBAUREMRERTER  REECRERNEREER
FELEEO6N - 8K 10 AP ZE B /) 358 K 0 #8501 -
EERAMELE  ETEREMBHRELENEXK -

REET

FHHEHEEER  WIRREREEFRNERERT -

A AUTOGRIP

AUTOGRIP'S BUSINESS PHILOSOPHY

A Y

AUTOGRIP MACHINERY COMPANY

AUTOGRIP machinery was established in 1989 in Taiwan.
Our product lines focus on the power chucks, rotary
cylinders and automatic clamping series. We provide
the optimized solutions and services for our customers
worldwide.

AUTOGRIP Machinery's main factory is located
in Puxin, Changhua, Taiwan, covering an area of
13,223 square meters. It is equipped with advanced
production equipment and serves as the company's
R&D center, focusing on the production of small-volume,
customized parts and new product development. We
adhere to world-class standards to meet customer
needs and ensure high customer satisfaction.

The second factory, located in Yunlin Technology Industrial
Park, is an automated production line specializing in
standard products. It mainly produces 6", 8", and 10"
hollow power chucks and rotary hydraulic cylinders. With
a focus on mass production, it meets the market demand
for quick delivery.

Committed to integrity and professionalism, we strive to
provide the most professional products and services.




RPRELE

EEBHANERESER PN - SEARTER
& GO LIRREMPNERBRENSERS - BE
mH - #ESHMtESEENSRE -

WE ARE FROM TAIWAN

RN ERERREAFOR  EERIREREZELHN
ORF RBERE - AT THRFNRESBHY -

AUGTOG >

All the products of AUTOGRIP are designed and
made in our hometown-Taiwan. You can find that our
products have a strong Taiwan spirit- solid and durable,
with high rigidity and high precision.

Our company has a good reputation in the industry.
AUTOGRIP is devoted to providing the optimized
solutions and service for the workpiece clamping needs.

AuToGriP B



TERMEEASERE
AUTOGRIP MECHANICAL TESTING LAB.

EEHMMRER S EREAER R EREREER
o BEmMMEBRHERERENEE - HEMLDA - FLB
—EBEEAE - EREMMERBESSREIRE - &
MRHEBARPTEEZNER  BREGNERMBEE -
- BEPVEDRER REEPRTOMNEMEALER -

AUTOGRIP mechanical testing lab. continues to develop
reliable test equipments and technique for controlling the product
quality. Before the new product is launched to the market, the
products will go through a series of tests to ensure that the
performance and accuracy meet the design specifications.
Products in the manufacturing process are also tested regularly
to ensure the products are of good quality and consistent.

The Lab controls the quality for the customers and provides
customers with the most satisfied experience when using the
products.

C AUTOGRIP



B A2 2845 7780 sl
Dynamic Gripping Force Test

e FRARFHEAZS  SREEHEBAE AT - JeEANFT HREE#HMERAE L -

e The curve of gripping force against rotary speed is obtained via force sensor at a given

test condition.

35 Clamping force(kN)

ENREIRIF MR E ~ Gripping Force Graph

-4 Autogrip 3H-206
- FREEER

80
70
60 —
g \\

50 —
%0 - —
30 <
20
10

0 1000 2000 3000 4000 5000 6000

3 speed (r.p.m)

B E0OR T2 Rl
Dynamic Oil Leaking Test

o SRR EARDER NRRE - BEETGRE -

e The oil leaking of cylinder is measured at different rotary speed to ensure it is within

engineering specification.

JB& Total Leakage(|/min)

“

RRRESEMARE Total Leakage Characteristic Graph

4 ALHRFE W BALREER Model: TH-AS36

26
25

24 y

o 1000 2000 3000 4000 5000 6000 7000

#43% speed (rp.m.)

y

autocrip D



YOUR TRUSTED PARTNER oN WORIKHOLDING

E AuTtocGRrIP



EEBIE
Why AUTOGRIP?

1 RMRHEERENRETEEE

ERAEE W BEURERAEZ B AER
7R HER L B ) R R R R,
1SRRI, S EHSTRE m TR RIB AR T 2o

2. ZTEEN )R GAMN 2 ) BRI B ]

B)33kER BT ~ XM, BRMITEE, IR,
VEN, ARREEASZNERNE UK
&5,
T RS B TR K [ R,
R [ R EE] | SEIRRRESRESK
B,

3. RIZFFVRZ BN = RIAR TS

AUTOGRIP BRI UIKR—BEUER R MEES
BEBE, BMNEXERGIBHNA EIREE
B E SRR

AR THRGHREBH !

1. Custom design service

Example: Solution of automatic workholding
and workpiece seating confirmation, special
requirement on cuir/hydroulic cylinder, rotary valve,
rotary joint, or customized soft jaw/hard jaw.

2. Variety of chucks & cylinders

Chuck: 1-jaw to 6-jaw chuck from 3” to 797, Extra
long stroke, Pull back, Stationary chucks, Collet
chucks and other clamping solution.

Cylinder: through-hole, Non-through hole, Stroke
control, Coolant/air connection, Air cylinder,
Double rod, Compact style.

3. Faster delivery and satisfied service.

Since its establishment, AUTOGRIP has always
prioritized customer satisfaction as our primary
goal. Our professional team is dedicated to
providing you with high-quality products and
services.

Autocrip F



GRIPPING FORCE SENSOR

155 71 BRI 2%

AUTOGRIP

GFS-10

3 ¥ 7] BRIl 28

GRIPPING FORCE SENSOR

%58 / FEATURES

e EF 50 E@BE -

* Type-C TEER -

- S4REHEE

« 712 Android 1 iOS -
e OJECE 2 /T8 3 JTUHRIE -

Supports Android and iOS.

Stable Bluetooth 5.0 Transmission.
Convenient Type-C Charging.
High-Performance Lithium Battery.

Configurable for 2-Jaw or 3-Jaw Operation.

GFS-100

\ ANDROID APP ON
Google Play

2 Available on the

.Apple Store

FFF N RGAIZSIRE. <L, 552 S B . GFS-100 specifications and dimensions, Please refer to Accessories pages.

G AUTOGRIP




POWER CENTERING VISE

8 71T 0\ R §H

AUTOGRIP

B 71 E LR EH

POWER CENTERING VISE

Y58 / FEATURES

o REABBNNIBEPHESKSE -

- SNVE - WEVERARFAIMIP O - IRDEMEEERE -
- AZMEL - CERREHERE R -

- REEPARNRRE HE - LRESBIEEIA -

e Constantly high clamping forces are ensured while machining.
e Compact design, suitable for milling

machines or machining centers.
= With built-in cylinder, it could be either

pneumatically or hydraulically operated.

* Plug & Play, easy to install.

BlEsEiR T E
Plug & Play, easy to install.

BUSRRI& STE, 552 Mg A E O R B . Model, specifications, and dimensions, please refer to the Power Centering Vise page.

AuTtoGrip H



SWING TYPE THREE-JAW CHUCK

TR BN B 1% 1 = T 5e B e
Il."

BEEH2020
TAIWAN EXCELLENCE

REEN BRI — T\ 32 B

SWING TYPE THREE-JAW CHUCK

AUTOGRIP

%5 / FEATURES

- BERFIHE  BETELNE -

- BEBRHFAEHNEEERNRST AERK20E -
RMEARAK 5 ERVTEEFHERHS -

Bk RIS -

Grip the work piece in radial direction and then pull down.
Gripping on forging or casting part with taper up to 20°
Jaw equalizing: 5°Max.

= Anti-dust and Seal proof for cutting fluid,easy to maintain.

| AuTOGRIP



LARGE THRU-HOLE AIR CHUCK

RAEPERENIER

AUTOGRIP

SN,

)
NV

781552018
TAIWAN EXCELLENCE

=m HHERARG
A, PATENTED AIR FEED SYSTEM
chze Ay - SMESUERRG - BARE C MBI -

o BAGAMEE T MA BN - BiR

+ REFLZE -
EH@ / FEATURES  Built-in cylinder / Check valve.

o BABAE : @52mm~@375mm © e Pressure detection / Unique design.
BEARBEEMMI -

SAIRAM - NEREL -

BEERRIIR  NETRREEBRE -

Large thru-hole : @52mm~@375mm.

No distributor ring needed.

Easy to install.
Less maintenance.

EF|F 5% PRODUCT PATENTED

= US8770222 B2(US.A.)

=) M440159 / M415011 (Taiwan)

= 20.2011.101.818.4/20.2012.102.498.5(Germany)
SN 3169457 / 3178706(Japan)

7] EP 2517822 B1(EV)

KEE ZL 20112 0141324.9/ZL 2012 2 0274549.6(China)
%AR  0000278076(taly)

AUTOGRIP J



POWER CHUCK FOR VERTICAL LATHE

B BRI B K Bh7KEN 713 ER

AUTOGRIP

3Vzz

%*E@é a E The maximum diameter is

2000mm(79")

R E— - BRESH/RYIH3,45 6MERT -
o EMTFHFETZ, SAITHRD - Tl
- DIBRKRS - BB ERRIRER - - DR RE 25

* Various Models / Size:

Available in 3, 4 and 6-jaw versions .
= with sizes 12 to 79 inch diameter.
= Rotary cylinder : RE series .

It's a WEDGE-HOOK type 3-jaw high speed power chuck.

= With manual radial setting of master jaws for the workpieces
centering.

e Sealed against swarf, chips and coolant, suitable for vertical

lathe.

K AutoGrIP



POWER INDEXING CHUCK

BE) 7o E 358

AUTOGRIP

1S

= &) 73 [E 3K B

Power Indexing Chuck

%58 / FEATURES

o THEBEBRRPETOERE  IRSELFHZEETREER -
- REANSHIERERBERE - TEEES -

o FKRREIBRE -

- SHtERERSEERE -

e BRNDEZFRRERS - RBEBRNBAKE - TRMS -

Indexing operates during the spindle rotation, can perform a quick change between multiple working axles.
All parts of chuck hardened, ground and lubricated directly.

Sealed against swarf, chips and coolant.

High rigidity and high repeatability precision.

Unique indexing system and hydraulic system, with pressure detection device in chuck, high reliability.

AutocriP L



STATIONARY CHUCK BASE PLATE

17 B J% 58 FE AR

AUTOGRIP

AVA=CAS LY
MULTI-PLATE.4-PLATE

"?—r@ / FEATURES

o BRRGK /M IO -

o ERFMIMETLH (D73 23,6 THHWER) -
» OJ#&FC SP/SM/SD/SU/SE 11 &R EE -

- ERHE/RE -

- BERBEHBIIEHEZ -

- RRRERE  URERBEIFESE

- (RERE (Ek) -

- RERA (EE) -

= For milling machine / machine center.

Allow simultaneous machining with up to 4 grippers. (Order
can be customized for 2,3,6 grippers).

Work with SP/SM/SD/SU/SE vertical chuck.

Driven by Hydraulic or Pneumatic.

Individual circuit for each chuck.

Special design and reduce the height of working surface.
Lock valve unit (optional).

Air tight detection function(optional).

I EBERKIERY] STATIONARY CHUCK SERIES

SP - T B = T35 SD - T BTN FKER SE - T E X ASRENI KR
SP-STATIONARY CHUCK SD-STATIONARY PULL DOWN CHUCK SE-STATIONARY EXPANSIBLE
o B - . s/ EH)/ RERA - PULL LOCK CHUCK
« Wedge-hook type. « Pull down / Heavy duty machining . BRI ) WIS | REIR -

+ Airtight detection. « Pulllock / Inner dia. clamping /

« Air tight detection.

SM - T EHRITIZREE SU - U B ME &R

SM-LONG JAW STROKE SU-STATIONARY PULL LOCK CHUCK
STATIONARY CHUCK . HIT / EUH)/ BB -

. BREMTRE / 85640 - « Pull lock / Heavy duty machining

« Long jaw stroke « Air tight detection.

« Air tight detection.

M AuToGRIP



RUBBER GRIP COLLET

122 Ek

AUTOGRIP

EE I B EEFRIS ?

ERE 19 B

BKH

=iaE BB REM

WEPRA : A (R ) il

ET s

SCB RG

E—RBERFHEETE £0.5mm

autocrip N



ROTARY CYLINDER & LINEAR POSITION SENSOR

kaFg BUchze / B B AT Y AR 4 TE I R AR 1K 1E

AUTOGRIP

Y58 / FEATURES

- ZTIEWRA -

o FRTHIRABFERROEREF -

o RMSHERERE - B0 TIERE -

e F %5 HEREE G B ol -

e Entire stroke range position monitoring.

e Position setup by teach-in function.

e Manual adjustment for proximity switch is
unnecessary when changing workpiece.

e Suitable for sub-spindle or vertical
lathes with limited space.

e Reduce idle time, increase throughput.

O AuTOGRIP



HYDRAULIC CYLINDER WITH ROTATING JOINT
3B 85§32 BE M Y30 855 BR ET

AUTOGRIP

RC-125S-F2

MR/ BER / 88E

Proximity switch with bracket

With double paths rotating joint(Fixed type)

RC series

10 82 132 B 5 3% BY 0 885 [BR ]

HYDRAULIC CYLINDER WITH ROTATING JOINT

Y58 / FEATURES

o PERTIEEHE -

- OJ9MEEBBESERBEREEE - BSnERZ AR POHKHEK -

o NEF B HEERS -

- DEEMSENIERBASAM USRS ETITREES -

- IHEFBRIIMNEERENERELEZEERERRD -

Medium and solid hydraulic cylinder with channel.

Can choose an external rotary joint with either single or double paths.

It meets the demand for coolant through spindle and airtight pressure detect function.
Has a buil-in check valve for safety.

The proximity switch and single or double paths rotating joint are optional.
Stroke control via proximity switch or linear positioning system.

AutocriP P



<=
ES PROPOSE LIST

F=]1] 4
&

4

A% OE 355 7F 2
AGIOCD ZEEER

O

( N (
X A% B N| (EmaEs )
L Seating confirmation not required) L Reduce maintenance frequency J
e R
Bl 2 32 15 SMREEE
Gripping round figure (o JI EE - N Y L O.D. (Outer Diameter) based )
= A2 N Ao
L Seating confirmation required ) L _( W @ Eiﬁ h
L 1.D. (Inner Diameter) based
p |
— =% |
3858 AL i
\Buut—m air cylinder ) |
|
|
|
e |
W EHEITH |
(THFBEMA) I on :
Shaft-type workpiece — e = |
Pipe-type workpiece AR T AAEEER :
(Insertion of workpiece Gripping taper Seating confirmation not required |
axis into chuck required) Irregular workpiece |
L J |
|
|
s N |
KREwh - B !
Large-sized shaft e
Pipe-type
_ (FRzmE )
Seating confirmation not requiredJ
Bl 72 e f5 |
Gripping round figure - N
[” . HMITF
= @ EE EE ]_ L Rough machining operation

Seating confirmation required

(EmITE

L Finish machining operation

Bik - ZEEIH
Plate-type workpiece | [ B2 TH

REE-Rpe teliTees Easily deformed workpiece

—

MERS |
B R _{¢®E$I# }_ Gonping on 3 sides F———

Center-based workpiece
AR T4
7 TH 2% 45
Grippping on 4 sides

Gripping taper
Irregular workpiece

—

_{EEEE@Em) )

Single-side-based (Fixed jaws) J

(EmI TR

L Rough machining operation

BEOEETH
Center-based —
workpiece

(E=mTIE

L Finish machining operation

Q AUTOGRIP



( P N
BREETIH
Exceed specifications > 3 H
L diameter workpiece )
(" = L, o~ N
BARBHRE > 3L
Gripping exceed big diameter
(. J
- 3HS
= 3U-K

p
REFETEBRN

L Gripping position diameter small

[ mEEHRA

Gripping position diameter large
L pping p 9 )

\

AP-115L1F

\i

B A S I )
Gripping exceed big diameter J

AP-1451) F

APS

—[ #ﬁ fﬂ *ﬁ E f;«é T {4: Exceed specifications diameter workpiecej

Y

_ B
‘[ IE K& HEF Gripping exceed big diameter J

2H /4H

2L

—( rEREEE

Reduce maintenance frequency J

3P

—( mntg

F i

3PS

Jaw lift reduction ]

4( iz o EE  verical spindle ]

4[ 3 K8 335 Gripping exceed big diameter]

3V

3M

|
|
|
3N |
|
|
3W |

3D |

_ (FrmzEER

Seating confirmation not required
N J

(mmmEEs

Stable gripping precision

3U |

}_

End surface gripping allowed

( o

SMETER RIS, THAMATFS |
| Outer diameter gripping | ! When not clamped, the workpiece
Ve | and the jaw do not interfere

o

A& H v

L Inner diameter gripping )
[ TaEss

3E |

)

21/3) |

B

L Seating confirmation required

((EAmss )

2P /2M

LGripping exceed big diameter J

2M

\

2W

4T

—

315 = B 7

Gripping round figure

\

1L

AR REEITHE

\

3W-C

Gripping taper Irregular workpiece

\

2W-C

FARRPHIABNEENR - BASBITEH -

*The contents in this chart are subject to change without notice for further improvement, etc.

\/

3R

AuToGrIP R



I N D EX [Product Description]

I %7358 Power Chucks
3H-2/3H-2A 3H/3H-A 2H/2H-A
thZEE) 3R ChZE B 3R EE thZEE) I3RER
LARGE THRU-HOLE POWER CHUCK THRU-HOLE POWER CHUCK THRU-HOLE POWER CHUCK
pZe7) THRU-HOLE 22 THRU-HOLE 2 THRU-HOLE
=T 3-JAW 4 =T 3-JAW A T 2-JAW 4
4H[4H-A 3P/3P-A 2P/2P-A
HhZEE) JI 3R E hEE) IR E B E)SI3E
THRU-HOLE POWER CHUCK POWER CHUCK POWER CHUCK
©ZE THRU-HOLE PEE NON-THRU-HOLE $ER NON-THRU-HOLE
TU/T 4-JAW A =T 3-JAW g T 2-JAW A
3L/3L-A 2L/2L-A 1L
BEMNITEZE N BRMUTIEE RE HBEMNITZENKEE
EXTRALONG JAW STROKE EXTRALONG JAW STROKE EXTRALONG JAW STROKE
POWER CHUCK POWER CHUCK POWER CHUCK
©pZeR THRU-HOLE ZeH THRU-HOLE A NON-THRU-HOLE
=T 3-JAW TN 2-JAW BT 1-JAW
3M M 3V-A
PERMNITZHE B R/MTITIZHEE UERPEHIKE
LONG JAW STROKE POWER CHUCK LONG JAW STROKE Sg'%?gAEﬁ?ﬁEFOR
ER NON-THRU-HOLE POWER CHUCK
=T 3-JAW 4 P EE NON-THRU-HOLE 4 thEE NON-THRU-HOLE 4
M 2-JAW =/ 3-JAW
4V-A 3HS 3PS
B APEE R =EMAREREESHHKE =M EEREEIRE
POWER CHUCK FOR THRU-HOLE FULLY SEALED FULLY SEALED TYPE
VERTICAL LATHE TYPE POWER CHUCK POWER CHUCK
ZA NON-THRU-HOLE 2ZA fully sealed type ZZHE fully sealed type
TUIT 4-JAW =M 3-JAW =T 3-JAW
d: —i L]
I ¥55% 81 /13258 Special Purpose Power Chucks
IS 3N 4T
BE) 9 ERE RN E =T PO B 22 E
POWER INDEXING CHUCK INCLINED MASTER JAWS FOUR-JAW TWO MOTION
POWER CHUCK TYPE POWER CHUCK
A NON-THRU-HOLE FEEE NON-THRU-HOLE
é =T 3-JAW é 9T 4-JAW é
3D 2D 3U
BRI EN S 3ETE BRI EN S HETE BRIEHI B 358
PULL DOWN POWER CHUCK PULL DOWN POWER CHUCK PULL LOCK POWER CHUCK
A NON-THRU-HOLE A NON-THRU-HOLE =R THRU-HOLE
=M 3-JAW g =M 2-JAW g =T 3-JAW g
3U-K 3E 3w/3w-c
BRIEH B TR AsRERITUEN S 2EEE BEEN DU — T\ 358
PULL LOCK POWER CHUCK EXPANSIBLE PULL LOCK SWING TYPE 3-JAW POWER CHUCK
th53A! NON-THRU-HOLE POWER CHUCK {EEHE SWING TYPE
=M 3-JAW A NON-THRU-HOLE =M 3-JAW
é =T 3-JAW é 4
3RF 3R 3J
#hES Kl A 5% ER BB FER = M35E P B EN I3
RETRACTABLE-JAW 3-JAW SWING COMPENSATING TYPE FINGER POWER CHUCK
SHAFT CHUCK 3-JAW POWER CHUCK SEPR! NON-THRU-HOLE
#1HEL COMPENSATING TYPE g iR, COMPENSATING TYPE g =T 3-JAW g
=M 3-JAW =M 3-JAW
2J AP APS
= - - — —. Qb 7o &5 B AR O
S E R BN I b2 BT A PR
FINGER POWER CHUCK LARGE THRU-HOLE AIR CHUCK ( _BRATE )
FREE NON-THRU-HOLE FRZE R THRU-HOLE LARGE THRU-HOLE AIR CHUCK
ZM 2-JAW =M 3-JAW (DOUBLE SPEED JAW STROKE)
FRESE) THRU-HOLE / =T 3-JAW

S AuToGRIP



AUGTOG»

Z3x3c5E Collet Chucks

CcL CL-A DIN6343

ELE S EEE S Wi

COLLET CHUCK COLLET CHUCK STEEL COLLET

chZe# THRU-HOLE ﬂ hZe ) THRU-HOLE ! M3 STEEL COLLET a
CB/CB-A CBE/CBE-A CBD/CBD-A

B IR BRI B R AU EE A B R
DRAW BACK COLLET CHUCK END STOP COLLET CHUCK DEAD LENGTH COLLET CHUCK
pZER THRU-HOLE g hZe ) THRU-HOLE g chZe# THRU-HOLE

SCB RG CEP

B AR 12 PU3E & JE e BB

STATIONARY DRAW COLLET CHUCK RUBBER GRIP COLLET EXPANDING COLLET CHUCK

725 THRU-HOLE

ECP
B
EXPANDING GRIP COLLET

A PY3RE! EXPANDING A

PISRMETHE EXPANDING

h A

I Ex(3FE Stationary Chucks

VH VP SM

UEARTERE
LONG JAW STROKE
STATIONARY CHUCK

A NON-THRU-HOLE
=M 3-JAW

R AVA= T PEUEXKR

STATIONARY CHUCK WITH
THRU-HOLE STATIONARY CHUCK

FRESIH THRU-HOLE STATIONARY E%T“Ig%ﬁeYNON'THRU'HOLE
= =M 2/3-JAW STATI
=1 =M 23-JAW

=N

SP SD SuU

T EXME TR AR
STATIONARY PULL LOCK CHUCK

R NON-THRU-HOLE
=M 3-JAW

BT EE AvA=EavE SRS

STATIONARY CHUCK STATIONARY PULL DOWN CHUCK

A NON-THRU-HOLE R NON-THRU-HOLE
1z 3 THRU-HOLE =M 3-JAW
Z I =M 2/3-JAW

SE MP4 I VH-201

U EHASRERIZEER 37 5 AR R AR FENIRRE

STATIONARY EXPANSIBLE STATIONARY CHUCK BASE PLATE HAND OPERATED AIR VALVE
PULL LOCK CHUCK

I EE A NON-THRU-HOLE
=T 3-JAW

PR P R A 2R 5 FE)3E5E

THF ACCESSORIES

A A

FAOELOES

Pneumatic Rotary Chuck Manual Chuck Power Centering Vise
RAP 3MF VR
B R [ER = T3EE SRV F BRI/ =TGR BAE DR H
PNEUMATIC ROTARY CHUCK SELF-CENTERING 3-JAW POWER CENTERING VISE
AR EE Pneumatic rotary TYPE MiNUAL CHUCK 294238 Wedge Type
E%B;E_JV\L(\)/\II\I-THRU-HOLE

R J]iEiBE

Facing Heads

FA FD

RJJEEE ®mnREJiEER
SINGLE-SLIDE FACING HEAD DOUBLE-SLIDE FACING HEAD
E8[5%! SINGLE SLIDE 5% DOUBLE SLIDE

AUTOGRIP |



I N D EX [Product Description]

I [E<5 3 B Synchronous Clamp

CP

EFHE
SYNCHRONOUS CLAMP
#RiABY Crank Type

I Z5;H B EE ] Rotary Cylinders

cw
RAXE LI E

WEDGE-DRIVEN
SYNCHRONOUS CLAMP

#4422 Wedge-Driven

TK

B AR AP 22 S0 B B ]
SHORT TYPE ROTATING HYDRAULIC
CYLINDER WITH THRU-HOLE

TS

RAVE B Fg BYcpZE 10 88 R L
SHORT TYPE ROTARY HYDRAULIC

CYUNDER WITH G BORE

TH

22 3@ 42 B L
ROTATING HYDRAULIC CYLINDER
WITH THRU-HOLE

AND SAFETY DEVICE HRU-HOLE AND SAFETY DEVICE AND SAFETY DEVICE
Iz E THRU-HOLE q: S8 THRU-HOLE A THRU-HOLE
SHEE HYDRAULIC HEE HYDRAULIC SHE HYDRAULIC

TR RK RK-N

ER 4G Al o 70 30 58 BR T B33 |+ 8 o BB @8 B T thE e B T

SMALL TYPE ROTARY HYDRAULIC
CYLINDER WITH THRU-HOLE
AND SAFETY DEVICE

FZSE) THRU-HOLE

SHEE HYDRAULIC

h

ROTATING HYDRAULIC CYLINDER
WITH SAFETY DEVICE
FEFE) NON-THRU-HOLE
SHEE HYDRAULIC

ROTATING HYDRAULIC CYLINDER

FEEE) NON-THRU-HOLE
SHEE HYDRAULIC g

FEIE AR COMPACT STYLE
SHEE HYDRAULIC

RH RA RS

oh & 1O R T hEEEEZE B B35 | A T AR R B A aE B T
ROTATING HYDRAULIC CYLINDER

ROTATING HYDRAULIC CYLINDER ROTATING AIR CYLINDER WITH STROKE CONTROL

FE A NON-THRU-HOLE th g A NON-THRU-HOLE MB%ATE{YDEVICE

SHIEE HYDRAULIC ZSE AIR {T2#EHIE! STROKE CONTROL
BB HYDRAULIC

RS-N RL RL-N

1772 ¥R Y E 85 BR T T35 | E R /K B3 s BR 77K B iEEEH B L

ROTATING HYDRAULIC CYLINDER ROTATING HYDRAULIC CYLINDER ROTATING HYDRAULIC CYLINDER

WITH STROKE CONTROL WITH COOLANT CONNECTION WITH COOLANT CONNECTION

17324242, STROKE CONTROL AND SATETY DEVICE 7£7k 2 COOLANT CONNECTION

S HYDRAULIC 7KL COOLANT CONNECTION 3B HYDRAULIC

SHE HYDRAULIC
RL-AN RC RE
T R BN H BRG] 3088 52 pR M B B BR 6T E%ﬂiﬂs‘itb ug;éaa BRHL

ROTATING HYDRAULIC CYLINDER HYDRAULIC CYLINDER WITH MPACT STYLE HYDRAULIC CYLINDER

WITH AIR CONNECTION ROTATING JOINT mg*s;;%%g%gmt

AR A AIR CONNECTION SRR MR e

S HYDRAULIC 4 éOT;fING JOINT 4 FE5EHEEL COMPACT STYLE é
3e/E HYDRAULIC

RE-A RE-L RD

TR RS BT R R ] Y=gt ba ) GO il Ff356 |- P AR AL A e [BR T

COMPACT STYLE HYDRAULIC COMPACT STYLE HYDRAULIC DOUBLE ROD ROTATING CYLINDER

CYLINDER WITH AIR CONNECTION CYLINDER WITH COOLANT WITH SAFETY DEVICE

AND SAFETY DEVICE CONNECTION AND SAFETY DEVICE

B

RD-N
SE 19 AU 0 98 E ER L

DOUBLE ROD ROTATING CYLINDER

427 DOUBLE-ROD
SHEE HYDRAULIC

WE

@ Rotary Valvies

FE1EE 5 E COMPACT STYLE
BB HYDRAULIC

A

RV

SRR 7R
HYDRAULIC ROTARY VALVE
SHIEE ) ACes

OIL CIRCUIT DISTRIBUTOR

U autoGriP

RV-A

R EE R
AR ROTARY VALVE
22 AR

427 DOUBLE-ROD
SHEE HYDRAULIC




AUGTOG»

jmW§E1%FE Rotary Joints

RJ-80

R ANRIEEE R
COOLANT ROTATING JOINT
1@ COOLANT JOINT

RJ-92

2 AR B B BRI B
KB SRS

COOLANT ROTATING JOINT WITH

AUTOMATIC ON/OFF SEAL
JB#4EE COOLANT JOINT

S4B E {th Parts and Accessories

FZS DRAW TUBE g

T DRAW BAR

GFS-100 SJ HJ
37| 2 5 i 3
REF SRR ER REE FREERE
GRIPPING FORCE SENSOR STANDARD SOFT BLANK JAW STANDARD HARDENED JAW
1ZHE4E T STANDARD SOFT JAW E ﬁﬁ%}l\m HARDENED JAW ﬁ
T-NUT FL CcT/CT-S
T A28 & ga AR SkREITIERREE
T-NUT CHUCK ADAPTORS COOLANT COLLECTOR
L4818 T . WITH STROKE CONTROL
TR T A ADAPTOR A £7KE COOLANT COLLECTOR A
CT-SB/CT-SBS FV
SKREITIZFREE TR FABEM
COOLANT COLLECTOR WITH STATIONARY CYLINDER LOCK VALVE
STROKE CONTROL FOR AIR STATIONARY CHUCK
£7K& COOLANT COLLECTOR s 5
S ACCESSORIES
DRAW TUBE DRAW BAR
PEHRHNRERE PEHENRERE
THE CALCULATION OF DRAW TUBE LENGTH THE CALCULATION OF DRAW BAR LENGTH

AUTOGRIP V



= MBALERE R

=B )RR

LARGE THRU-HOLE POWER CHUCK

A 3H-2[3H-2A

o ME=NBAEBRAK-

o HEMEIILIFERIBEME WEHEHE -
° mm&mﬁﬁmthf

[ ]

WEDGE-HOOK type 3-jaw with the extra large through-hole.
Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.

JEREFIBEERERHBETH A -

K Default E&KRIEERE Z HKE -

K max [ERE4A RO B RB ST 7 R AR -
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.
K'is the maximum thread specification and it could be customize.

ORERFT KRR -

Serration Pitch HEEgEE 1.5
3H-215 A8 G  H M 3H-221,3H-224,3H-232 3.0 S
3H-215 A11 U ‘ |
Refer to Fig.A T ‘
2B A ) ] e A
2 ) ey 2
=g
al § SER?) N 8 Q[ N P N
Slgl e S %
L1]| kAD - 9 )
1 B s
— — S — - \
L/ 3H-204 E3%8818
L1 B L E 3H-205 Only 3 bolts
B 15° 15°
3H-BA,3H-2A 3H-B,3H-2
REBFRIEDLBIIER
Subject to technical changes
FHiIR& SPECIFICATIONS
8 sg=za | TUTER FTRFEE P = =y = . =
B BRI coamopa  SEEAND  BAKSS | ESOEN B8 EPEEE SAEAES
Plunger | Jaw stroke = =K | &/ Max. Clamping Moment of '
Vodel S (Dia,) e Min. Max. D.B. pull o Max. speed i Weight Matching oyl Max. pressure
mm mm mm mm KN (kgf) KN (kgf) min (r.p.m.) kg * m? kg MPa (kgflcm?)
3H-204 A4 13 5.5 113 7 13.7(1400) 36.0(3670) 8000 0.012 4.22 | 5.34 | TK-A528 2.0(20)
3H-205 | A4 13 5.5 138 10 17.2(1750) 48(4890) 7000 0.02 6.3 71 TK-A533 2.5(25)
3H-206 = A5 14 6 170 13 23.3(2375) 66.8(6810) 6000 0.06 13.1 | 14.9 | TK-A646 2.5(25)
3H-208 A6 18 7.6 210 17 31.9(3250) 107(10900) 5000 0.15 21.8  23.4  TK-A853 2.6(26)
3H-210 | A8 21 8.9 260 37 49.1(5010) 152(15500) 4500 0.32 375 43 | TK-A1075 3.2(32)
3H-212 | A11 25 10.6 315 43 58.8(6000) 157(16010) 3700 0.74 58.6  64.7  TK-A1512 1.9(19)
3H-215 | A8 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 | 149 | TK-2114 2.1(21)
3H-215 | A1l 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 143.3 TK-2114 2.1(21)
3H-215 | A15 25 10.6 405 49 71(7240) 180(18350) 2500 2.8 127 135.6) TK-2114 2.1(21)
3H-18B | A15 23 10.6 456 79 71(7240) 180(18350) 2000 4.8 162.4173.4) TK-2416 1.9(19)
3H-221 | A15 28 12.9 530 @ 105 90(9175) 234(23860) 1800 7.5 223 | 234 | TK-2416 2.4(24)
3H-224 | A20 28 12.9 610 135 @ 100(10200) 240(24500) 1500 15.8 270 | 284 | TK-2820 2.1(21)
3H-232 | A20 34 18 800 | 205 | 100(10200) 240(24500) 1200 a7 546 | 560 | TK-2820 2.1(21)

A EHIES 3H-2A. 3H-BA BLZ<F3& (The dimensions and the specifications of 3H-2A,3H-BA type are in red data.)

1 AuToGRIP




- - =S8 /K58 = TBAFL @R
’ 3H 2I3 H 2A LAR:GI:E THRU-HSLE POWER CHUCK N

MR~ DIMENSIONS

Model A B Cc D D1 D2 E El F G max. G min. H J
3H-204 A4 113 59 83 85 70.6 63.51 82.6 4 28 32 35 315 -9.5 185 | 175 12
3H-205 A4 138 60 71 110 82.6 63.51 96 4 15 39 1 16 -12 3 20 12
3H-206 | A5 170 81 91 140 104.8 | 82.56 116 5 15 53 13 28 -1 14 17.5 20
3H-208 A6 210 91 103 170 1334 | 106.38 | 150 5 17 66 16,5 335 -15 15.5 20 30
3H-210 | A8 260 102 | 115 220 1714 | 139.72 | 190 5 18 86 105 | 285 | -105 7.5 25 45
3H-212 A1l 315 110 | 126 300 235 196.87 | 260 6 22 106 10 32 -15 7 28 50
3H-215 | A8 405 132 | 159 380 330.2 | 139.72 | 171.4 6 33 145 11 44 -14 19 39 60
3H-215 (A1l 405 132 | 166 380 330.2 | 196.87 | 235 6 40 145 11 51 -14 26 39 60
3H-215 A15 405 132 | 153 380 330.2 | 285.78 | 330.2 6 27 145 11 38 -14 13 39 60
3H-18B A15 456 145 | 166 380 330.2 | 285.78 | 330.2 6 27 165 18 45 -5 22 40 60
3H-221 A15 530 140 | 161 380 330.2 | 285.78 | 330.2 6 27 180 15 42 -13 14 40 80
3H-224 A20 610 145 | 166 520 463.6 | 412.78 | 463.6 6 27 210 15 42 -13 14 41 80
3H-232 |A20 800 150 | 170 520 463.6 | 412.78 @ 463.6 6 27 275 24 51 -10 17 42 100

Model K max. K Default L L1 M N P Qmax. Qmin. Rmax.| Rmin. 5] T U
3H-204 A4 M38x1.5 M32x1.5 3~M10 |16.0 15 24 52 14 | 1275 6.75 25 12225 23 10 | 3~M10
3H-205 A4 M45x1.5 M40x1.5 3~-M10 145 145 31 62 14 2025 6.75 | 295 268 25 10 3~M6
3H-206 | A5 M60x2 M55x2 6~M10 16.0 16 | 37 73 | 20 ' 21.25 9.25 36 33 31 12 3~M6
3H-208 A6 M75x2 M60x2 6~M12 170 15 38 95 25  23.7 10.2 457 419 35 14 3~M6
3H-210 | A8 M95x2 M85x2 6~M16 20.0 22 | 43 110 30 | 322 12.7 56.5 52.05 40 16 3~M8
3H-212 | AL M115x2 M115x2 6~M20 30.0/ 28 51 130 30 44.75 14.75 67.8 625 | 50 21 | 3~M10
3H-215 | A8 | M155x3 | M115x2 | M155x3 = M100x2 | 6~M24 36.0 24 | 63 | 165 | 43 49.75 19.75| 90 84.7 | 62 | 25.5 6~M16
3H-215 A1l M155x3 M155x3 6~M24 136.0 31 | 63 165 43 49.75/19.75 90 84.7 | 62 | 25.5 6~M20
3H-215 A15 M155x3 M155x3 6~M24 |36.0 34 | 63 165 43 49.75/19.75 90 84.7 | 62 | 25,5 3~M12
3H-18B | Al5 M175x3 M175x3 6~M24 138.0 36 | 63 H 165 43 64 205 | 102 | 96.7 @62 | 255 3~M12
3H-221 A15 M190x3 M190x3 6~M24 33.0 36 | 73 180 60 | 69.5 245 1135 107.1 65 25 | 3~M12
3H-224 | A20 M225x3 M225x3 6~M24 350 33 73 180 60 K 935 245 128 1215 65 25 | 3~M12
3H-232 A20 M295x3 M295x3 6~M24 36.0 34 | 73 180 60 1505 245 166 157 | 65 25 | 3~M12

AT SRR 3H-2A. 3H-BA BLZ~<FIE (The dimensions and the specifications of 3H-2A,3H-BA type are in red data.)

/7 = HRBRTBBEARILERE FERE 410" WEHEEERRRFR
EIRZRE FRRBEARERFERITERTDZARE, BEHCEAERIL
EETHBEZE, HEa A EREE.

The 3H-2 series are power chucks with extra large thru-hole design.

The rotary cylinders are recommended based on power chucks that from 4"~10" are common
used in the industry.

If you find that you need different bore size or installation interface, please just contact us. We
have many standard and customized rotary cylinders for option and meet your needs.

Please contact AUTOGRIP for more detailed information. Thanks.

AUTOGRIP 2



thZSE) /3R eE =M
’ 3HI3H-A THF;_G_-HOLE PO\—/LVER CHUCK )

o ME=-TMAEBAL -
o RWENHMIKELRIBEBME LEHEEE -
o SHMEBRSKIFEE -
® WEDGE-HOOK type 3-jaw with the large through-hole.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
J ERELIZEER BB TR AL,
K Default {E#RIEE $iiE 2 HBE,
K max (B4 B4R IRIE A BB SR OF 7 | KRG, AR BIR BRI R,
J is the hole diameter of blank draw nut.
If not notified, AUTOGRIP will adopt the K Default as K value.
K is the maximum thread specification and it could be customize.
G Serration Pitch
2 ol S
E1 G H ‘ M~ PHEER 15
3H-15 A8 = T R —7
Refer to Fig.A I [] g 1z
26E A Sl g i
K ~ T =
o % = :H o
. 8 {1
sl Y L1 || &8 i g
Juk: i
L i
L1 B L E
B
Fig.A
A 3H-A 3H
REBFARIEDBIIER

Subject to technical changes
F#T#R1& SPECIFICATIONS
I N R i RREE  augaan  BAKEH | BEESH 5

(B Chucking Dia. & BRDHIL | BARREN
Model Psllurg L Ja\sz?g?ke %ZX( Ezil'rj]‘ Max. D.B. pull Max.fg;génpmg Max. speed M?ﬁgﬁ?;(’f Weight P Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg *m? kg MPa (kgflcm?)
3H-12 | A8 25 10.6 304 34 54.9(5600) 143.7(14650) 3300 0.77 56.6 59.3 TK-A1291 2.5(25)
3H-15 | A8 25 10.6 381 50 71(7250) 179.8(18350) 2500 2.28 120 134  TK-Al512 2.3(23)
3H-15 | A1l 25 10.6 381 50 71(7250) 179.8(18350) 2500 2.28 120 | 127 | TK-Al1512 2.3(23)
3H-18 A1l 25 10.6 450 50 71(7250) 180.3(18400) 2000 4.46 160 | 174 = TK-A1512 2.3(23)
4MER~F DIMENSIONS
Model A B Cc D D1 D2 E El F G max. G min. H J
3H-12 | A8 304 110 122 220 171.4 |139.72 190 6 18 91 10 28 -15 3 28 50
3H-15 | A8 381 132 159 300 235 |139.72| 1714 6 33 120 11 44 -14 19 39 60
3H-15 A1l 381 132 148 300 235 |196.87| 260 6 22 120 11 33 -14 8 39 60
3H-18 | A1l | 450 132 148 300 235 |196.87 260 6 22 120 11 & -14 8 39 60
Model K max. K Default L w | m NP Q2R R s T u
3H-12 | A8 M100x2 M100x2 6~M16 |23 25 51.3 130 30 44.75/14.75 61.3 56 50 21 3~M8
3H-15 | A8 | M130x2 | M115x2  M130x2 | M100x2 | 6~M20 |30 24| 63 165 43 49.75 19.75 77,5 722 | 62 | 2550r22 6~M16
3H-15 | A11 M130x2 M130x2 6~M20 30 28| 63 165 43 49.75/19.75| 77.5 | 722 62 | 2550r22 @ 3~M10
3H-18 A1l M130x2 M130x2 6~M20 31 29 63 | 165 43 82.75 2125 775 722 62 2550r22 3~M10

AT SRS 3H-A BUZ <% (The dimensions and the specifications of 3H-A type are in red data.)

3 AUTOGRIP



rhesSE) 5 5E SRR
’ 2HI2H-A THRU-HOL E POWER CHUCK )

BEZMARREARL - HRES RPN -
RBENEKIECRIERINE - TEHEES -

SHIMEBRSRGEE -

WEDGE-HOOK type 2-jaw with the large through-hole.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EREGIZEERERBIRZ ALK,

K Default B4 RIEERE Z HEKIE,

K max (B4 EA5IRIE p] BB SR SF 2 ARG, AlKB IR KETH,
J is the hole diameter of blank draw nut.

If not notified, AUTOGRIP will adopt the K Default as K value.

K is the maximum thread specification and it could be customize.

B b
] .
I B
& H—] I it
e | | R
2H-208 A5 \‘ - | K “ o
2H-15 A8 88 g gl R
;eﬁ,f!ﬁetcAFlg.A ) J L | j
2 it 8
%‘%7 == == L
s W TR i
Su;ecl o technical ‘Changes o B - - JLL
TR SPECIFICATIONS _2H-A ~ 2H-2A 2H~2H-2
e mone (o KERE L sgmxoun | miwEn | emEER B2 | ERONE  BAGREN
Vodel Ps,!tlf,g B JaWD?;"_Oke ﬁa{({ ﬁlﬂ\ Max. D.B. pull Clam:\)/:'ra\)(_;. force | Max. speed M?[:Zi?;c'f Weight e Max. pressure
mm mm mm mm kN (kgf) KN (kgf) min* (np.m.) | kg * m? kg MPa (kgflcm?)
2H-204 A4 13 55 113 7 9.2(940) 19.4(1980) 8000 0.012 42 48 TK-A528 1.3(13)
2H205 | A4 | 13 5.5 138 10 | 11.4(1167) 32(3260) 7000 002 68 7.6 TK-A533 1.6(16)
2H-206 | A5 14 6 170 13 15.5(1580) 44.4(4530) 6000 0.06 13.1 | 149 | TK-A646 1.6(16)
2H-208 | A5 18 7.6 210 17 23.1(2360) 57.3(5840) 5000 0.17 21.3 242 TK-A853 1.8(18)
2H-208 @ A6 18 7.6 210 17 23.1(2360) 57.3(5840) 5000 0.17 21.3 224 TK-A853 1.8(18)
2H-210 | A8 21 8.9 260 37 32.9(3355) 101.9(10385) 4500 0.31 33.5 36.2 TK-A1075 2.2(22)
2H-12 A8 25 10.6 304 34 36.7(3740) 95.8(9780) 3300 0.70 59.7 | 62.7 | TK-A1291 1.7(17)
2H-15 | A8 | 23 10.6 | 381 50  46.9(4790) | 119.6(12200) 2500 242 | 115 | 129  TK-A1512  1.5(15)
2H-15 A1l 23 10.6 381 50 46.9(4790) 119.6(12200) 2500 2.34 115 | 122 | TK-A1512 1.5(15)
4MER<F DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J
2H-204 A4 113 59 83 85 70.6 63.51 82.6 4 28 32 35 | 315 | -95 | 185 175 12
2H-205 A4 | 138 60 71 110 82.6 63.51 96 4 15 39 1 16 -12 8 20 12
2H-206 A5 170 81 91 140 104.8 82.56 116 5 15 53 13 28 -1 14 17.5 20
2H-208 A5 | 210 91 109 170 133.4 82.56 104.8 5 23 66 16.5 | 395  -15 215 20 30
2H-208 A6 210 91 103 170 133.4 106.38 150 5 17 66 16.5 335 | -1.5 155 20 30
2H-210 A8 260 102 115 220 171.4 139.72 190 5 18 86 105 | 285 -105 75 25 45
2H-12 A8 304 110 122 220 171.4 139.72 190 6 18 91 10 28 -15 3 28 50
2H-15 A8 381 133 160 300 235 139.72 171.4 6 88 120 11 44 -12 21 39 60
2H-15 A11 381 133 149 300 235 196.87 260 6 22 120 11 33 -12 10 39 60
Model K max. K Default L L1 M N P | Qmax. Qmin. [Rmax.| Rmin. | S T V]
2H-204 A4 M38x1.5 M32x1.5 4~M10 @ 16 15 | 24 | 52 | 14 1275 | 6.75 25 2225 23 10 3~M10
2H-205 A4 M45x1.5 M40x1.5 4~M10 145 14531 62 14 2025 6.75 295 26.75 25 10 3~M6
2H-206 @ A5 M60x2 M55x2 6~M10 | 16 16 | 37 | 73 | 20 22.75 | 9.25 36 33 31 12 3~M6
2H-208 | A5 M75x2 M60x2 6~M12 17 18 38 95 25 237 10.2 457 419 35 14 6~M10
2H-208 @ A6 M75x2 M60x2 6~M12 | 17 15 | 38 | 95 | 25 237 10.2 457 419 35 14 3~M6
2H-210 | A8 M95x2 M85x2 6~M16 20 22 43 110 30 322 12.7 H 56.5  52.05 40 16 3~M8
2H-12 A8 M100x2 M100x2 6~M16 | 23 | 25 | 51 130 30 44.75 14.75  61.3 56 50 21 3~M8
2H-15 A8  M130x2 M115x2 M130x2 M100x2 6~M20 30 24 63 165 43 | 47.3 18.2 80 747 62 2550r22 6~M16
2H-15 A1l M130x2 M130x2 6~M20 | 30 | 28 | 63 165 43 47.3 18.2 80 74.7 62 25.50r22 3~M10

A BEUES 2H-A. 2H-2A BUZ<F7% (The dimensions and the specifications of 2H-A. 2H-2A type are in red data.) AUTOGRIP 4



—p = AR
’ 4HI4H A THF?L?—HOLE PO\TVER CHUCK B

o MENMAEBAL  RAIBESEMYMNIKE -
o BENEHMIKELRIBEBME THEEE -
o SHIMEBRSKIFEE -
® WEDGE-HOOK type 4-jaw with the large through-hole.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
J EREGZEERERBIRZ ALK,
K Default B4 RIEERE Z HKIE,
K max {8 % EA5 RIS o] BB IR OF 7 | KHRAE, AR B PR R RETH,
J is the hole diameter of blank draw nut.
If not notified, AUTOGRIP will adopt the K Default as K value.
K is the maximum thread specification and it could be customize.
4H-208 A5 e Serration Pitch
4H-210 A6 £1 | dFEEE 15 s
4H-15 A8 v s 3
Refer to Fig.A
258 A S N ol
« . .E == !_|,: i,z
= E1 e % o
U e
C = 2 o
L= 858 38
L L
_ju B ——f——
Fig.A L/ /1
E A u_ s v/ |l
B
1RBHRMEIEAIHER] Subject to technical changes AH-A -~ 4H-2A 4H -~ 4H-2
BHTH% SPECIFICATIONS
v more MOE PUWHE  smeson | mxosn  emoem 2 EREME BARAES
Plunger | Jawstroke —f&A | &=/ Max. Clamping Moment of '
- droke (Dia,) Max. | Min. Max. D.B. pull — Max. speed F—— Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgflcm?)
4H-206 = A5 14 6.0 170 13 23.2(2375) 66.7(6810) 5000 0.06 125  16.7 | TK-C646 2.5(25)
4H-208 | A5 18 7.6 210 17 34.3(3500) 85.8(8750) 4200 0.19 235 254 | TK-A853 2.8(28)
4H-208 | A6 18 7.6 210 | 17 34.3(3500) 85.8(8750) 4200 0.19 | 235 243 TK-A853 2.8(28)
4H-210 A6 21 8.9 260 = 37 49.1(5010) 110.7(11300) 3800 0.4 38.7 44 | TK-A1075 3.2(32)
4H-210 A8 21 8.9 260 37 49.1(5010) = 110.7(11300) 3800 0.4 38.7 | 42.3  TK-A1075  3.2(32)
4H-12 | A8 25 10.6 304 34 54.9(5600) 143.6(14650) 2700 0.77 62 65.7 | TK-A1291 2.5(25)
4H-15 | A8 25 10.6 381 50 71(7250) 179.8(18350) 2000 231 117.6 | 130 @ TK-Al512 2.3(23)
4H-15 A1l 25 10.6 381 | 50 71(7250) 179.8(18350) 2000 231 | 117.6 123.5 TK-A1512  2.3(23)
4H-18 A1l 25 10.6 450 50 71(7250) 179.8(18350) 1700 435 162.6 168.5 TK-A1512 @ 2.3(23)
ShEYR < DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J
4H-206 | A5 | 170 @ 81 91 140 104.8 82.56 116 5 15 53 13 28 -1 14 17.5 20
4H-208 A5 210 @ 91 | 109 170 133.4 82.56 104.8 5 23 66 16.5 | 39.5 | -1.5 | 21.5 | 205 30
4H-208 A6 210 @ 91 | 103 170 133.4 | 106.38 150 5 17 66 165 | 33,5 | -15 | 155 | 205 30
4H-210 A6 260 | 102 @122 220 1714 | 106.38 | 1334 5 25 86 105 | 355 | -10.5 | 145 | 25 45
4H-210 A8 260 | 102 @115 220 171.4 | 139.72 190 5 18 86 105 | 285 -105 | 7.5 25 45
4H-12 A8 304 110 | 122 220 171.4 139.72 190 6 18 91 10 28 -15 3 28 50
4H-15 | A8 | 381 | 132 159 @ 300 235 139.72 | 171.4 6 33 120 11 44 -14 19 39 60
4H-15 A1l 381 | 132 148 300 235 196.87 260 6 22 120 11 33 -14 8 39 60
4H-18 A1l 450 132 | 148 300 235 196.87 260 6 22 120 11 33 -14 8 39 60
Model K max. K Default L L1 M N P Qmax. Qmin. Rmax. Rmin. S T ]
4H-206 | A5 M60x2 M55x2 4~M10 16 16 37 73 20 2125 925 | 36 33 31 12 3~M6
4H-208 A5 M75x2 M60x2 4~M12 17 18 | 38 95 25 | 23.7 102 457 419 35 14 6~M10
4H-208 | A6 M75x2 M60x2 4~M12 17 |15 38 95 25 23.7 102 | 457 419 35 14 3~M6
4H-210 A6 M95x2 M85x2 4~M16 20 18 43 110 30 322 127 | 56.5 52.05 40 16 6~M12
4H-210 A8 M95x2 M85x2 4~M16 | 20 22 | 43 110 30 | 32.2  12.7  56.5 52.05| 40 16 3~M8
4H-12 | A8 M100x2 M100x2 4~M16 23 | 25 51.3 130 30 44.75 14.75| 61.3 | 56 50 21 3~M8
4H-15 A8  M130x2 M115x2 | M130x2 M100x2 = 4~M20 |30 24 | 63 165 43 49.75 19.75 77.5 | 722 62 2550r22 6~M16
4H-15 | ALl M130x2 M130x2 4~M20 31 28 | 63 165 43 49.75 19.75 775 722 | 62 2550r22 3~M10
4H-18 A1l M130x2 M130x2 4~M20 31| 29 63 165| 43 |82.75 21.25 77.5  72.2 |62 2550r22 | 3~M10

5 AUTOGRIP #I&2UE% 4H-A L2 <F7% (The dimensions and the specifications of 4H-A type are in red data.)



A 3pl3p-A FEBDEE(

B = MUN B ch B 3l EE -

BRI ERBERME - WEEES -
BLERARKE RS -

WEDGE-HOOK type 3-jaw mini power chuck.

Matching surfaces of all parts hardened, ground and lubricated directly.
Suitable for bench lathe.

3~M8x20L
|
Jeal
S8 ¥
% c
© € E
8 I 3 -
Q< Q
Q
B [
3~M8x35L
1"
36
REBFRIEDLBIER
Subject to technical changes
BHTHRME SPECIFICATIONS
v omose | R EER  skmxon  mxsosn  mmeEm BE  ARENE  BAGAES
Plunger BN~ 2] Max. Clamping Moment of '
- e Jaw stroke (Dia.) Max. | Min. Max. D.B. pull — Max. speed — Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg ¢ m? kg MPa (kgflcm?)
3P-03 10 4.6 85 3 4.5(460) 11.3(1150) 7000 0.004 1.8 RK-75 1.2(12.4)

FEBL Z %4 T Standard Soft Jaw For 3P-03 Power Chuck
SJ-K03

N

N

40

Mounting Hole

M2 44 1, [,%
v, ‘

16

24.5
2.5

5.5

AUTOGRIP 6



BWE) I (= e
A 3P[3P-A EREREE =) s

o WE=/NPERH -
o REHEHIIKBLRIERME  WEHEEE -
o ShtEBRSREFEE -
® WEDGE-HOOK type 3-jaw power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
Serration Pitch
3P-08A5 H . G M H G E1 H G M, TEE 1S s
3P-10A6 — U F‘i e \ |
3P-12A6 T LA
Iiefer to Fig.A gf}* a i L :f}i‘%: o
SHIE A A Edatz 8 8L 15 el o %
o jEL N . SN ‘ = x
a == u_
U = )
8 L == % = &Y — et
2 I o K 3 x/ = L Q
. g = O ST £ l S XX
r < o B 5] — \
I — 8| 8 7T] 38 ?
Foa o/ Jule L] e Ve s B
A B B
REBRRIEHRHET 3P-04,3P-05 3P-A 3P
Subject to technical changes
AT SPECIFICATIONS
g NP 718 FEFEE o = =y = U, RAER
i} o P = =
L BOE | RID  cranopia | BERANS  BANES  EESESH 8 S DT e
Jawstroke = A | &/ Max. Clamping Moment )
o Plunger stroke (Dia.) Max. Min. Max. D.B. pull - Max. speed - Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.) | kg * m? kg MPa (kgflcm?)
RK-75(N) 2.2(22)
3P-04 15 6.9 110 5 8.1(830) 22.5(2300) 6000 0.01 4.1 - RA-130 0.6(6)
RK-75(N) 2.2(22)
3P-05 15 6.9 135 | 14 8.1(830) 25(2550) 5500 0.02 6.2 - RA-130 0.6(6)
RK-100(N) 2.6(26)
3P-06 | A5 20 9.2 165 | 16 17.9(1830) 52.4(5350) 5250 0.05 13 14 RA-170 0.6(6)
RK-125(N) 2.3(23)
3P-08 | A5 21 9.7 210 21 25(2550) 74.5(7600) 4750 0.14 24 28 RA.220 0.5(5)
RK-125(N) 2.3(23)
3P-08 | A6 21 9.7 210 @ 21 25(2550) 74.5(7600) 4750 0.14 24 27 RA.220 0.5(5)
RK-125(N) 2.6(26)
3P-10 | A6 25 8.8 254 | 24 28.9(2950) | 107.8(11000) 4000 0.3 35! 42 RA.220 0.6(6)
RK-125(N) 2.6(26)
3P-10 | A8 25 8.8 254 | 24 28.9(2950) | 107.8(11000) 4000 0.3 35 40 RA.220 0.6(6)
RK-150(N) 2.6(26)
3P-12 | A6 30 10.5 304 24 41(4180) 155.8(15900) 3360 0.73 59 65 RA-270 0.8(8)
RK-150(N) 2.6(26)
3P-12 | A8 30 10.5 304 | 24 41(4180) 155.8(15900) 3360 0.73 59 63 RA-270 0.8(8)
IR ST DIMENSIONS
Model A B C D D1 D2 E El F G max. G min. H J
3P-04 110 52 - 60 80 - - 6 - - 18 - 3 - 25 26
3P-05 135 55 - 80 100 - - 7 - - 9 - -6 - 35 28
3P-06 A5 165 74 84 140 | 104.8 82.56 | 116 5 15 21 102.6 876 & 826 67.6 35 34
3P-08 A5 210 85 103 170 | 133.4 | 82.56 | 104.8 5 23 25 127 104 106 83 36 38
3P-08 A6 210 85 97 170 | 133.4 106.38 150 5 17 25 127 110 106 89 36 38
3P-10 A6 | 254 89 109 220 | 171.4 106.38| 133.4 5 25 34 158 153 133 108 36 45
3P-10 A8 254 89 102 220 1714 139.72 190 5 18 34 158 140 133 115 36 45
3P-12 | A6 | 304 106 125 220 | 171.4 |106.38| 133.4 6 25 34 163 138 133 108 36 50
3P-12 A8 304 106 118 220 | 171.4 139.72| 190 6 18 34 163 145 133 115 36 50
Model K L L1 M N P Q max. Q min. R max. R min. $ T U
3P-04 M10x1.5 3~M8 12 - 24 52 14 11.2 6.7 23.6 20.15 23 10 -
3P-05 M12x1.75 | 3~M8 14 - 31 62 14 15.7 5.2 30.4 26.95 25 10 -
3P-06 | A5 M16x2 6~M10 | 14 14 37 73 20 18.25 9.25 38.25 | 33.65 31 12 3~M6
3P-08 A5 M20x25 | 6~M12 @ 20 17 38 95 25 2525 | 11.75 46.3 41.45 35 14 6~M10
3P-08 | A6 M20x2.5 | 6~M12 @ 20 18 38 95 25 25.25 | 11.75 46.3 41.45 35 14 3~M6
3P-10 A6 M20x2.5 | 6~M16 @ 18 18 43 110 30 35.25 | 12.75 51.1 46.7 40 16 6~M12
3P-10 A8 M20x2.5 @ 6~M16 18 25 43 110 30 35.25 | 12.75 51.1 46.7 40 16 3~M8
3P-12 A6 M20x2.5 | 6~M16 @ 18 18 51 130 30 48.75 | 12.75 61 55.05 50 18 or 21| 6~M12
3P-12 | A8 M20x2.5 | 6~M16 18 25 51 130 30 48.75 | 12.75 61 55.75 50 18 or21 3~M8

AT EIES 3P-A B2 <& (The dimensions and the specifications of 3P-A type are in red data.)
7 AUTOGRIP



= HRE (= =M
A 3p[3p-n EEEREES) S

B = M B 38 -

R mOLIECRBERMNE - WEERHE -

SRS IFEE -

WEDGE-HOOK type 3-jaw power chuck.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch  HEF#aEE
E1 3P-215,3P-218 : 1.5

3P-215A8 3P-221,3P-224 : 3.0
3P-221A8 oy
3P-221A11 77730
3P-224A11 =
Refer to Fig.A —
2RE A =
E1 o _FL’_G_
o 18 IE
o U s =
s - g jidﬁ“
3 K/, IR,
— 1 =t g
L/ Ly E
L1 B 11| B L
B 15°
Fig.A 3P-2A 3P-2 3P-215,3P-218 3P-221,3P-224
BA
R INER

Subject to technical changes

R 453R1& SPECIFICATIONS

)5 \s=zo | TUTHE FEFER o = [ = e = .
v mome TOE KERR  sseig mcmEn  BEERH 1] EREHEL | BARAES
Plunger | Jaw stroke | =K | &/ Max. Clamping Moment of )
— droke (Dia.) Max. Min. Max. D.B. pull — Max. speed —— Weight Matching cy. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgf/cm?)
3P-215 | A8 35 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 | 122.4 22:2288(:\)‘; 2.8(28)
RH-200 or
3P-215 A1l 35 16 381 50 82(8360) 249(25390) 3000 1.8 109.9 | 116 2.8(28)
RK-200(N)
3P-218 A1l 35 16 450 60 82(8360) 249(25400) 2800 2.32 124 130 RH-200 or 2.8(28)
) RK-200(N) )
RH-200 or
3P-221 | A8 35 16 530 59 82(8360) 272.6(27800) 1900 4.9 177 200 2.8(28)
RK-200(N)
3P-221 A1l 35 16 530 59 82(8360) 272.6(27800) 1900 4.9 177 194 RH-200 or 2.8(28)
) ) RK-200(N) )
RH-200 or
3P-224 A1l 35 16 610 152 82(8360) 272.6(27800) 1750 7 230 246.28 RK-200(N) 2.8(28)
RH-200 or
3P-224 Al15 35 16 610 | 152 82(8360) 272.6(27800) 1750 7 230 | 238.6 2.8(28)
RK-200(N)
4MER<F DIMENSIONS
Model A B c D D1 D2 E E1 G max. G min. H J K
3P-215 A8 381 114 141 300 235 139.72 | 171.4 6 33 104 71 69 36 55 60 M30x3.5
3P-215 |A11| 381 114 130 300 235 196.87 260 6 22 104 | 82 69 47 55 60 M30x3.5
3P-218 A1l 450 114 130 300 235 196.87 260 6 22 92 70 57 35 55 60 M30x3.5
3P-221 A8 | 530 125 152 380 330.2 | 139.72 | 171.4 6 33 97 64 62 29 55 60 M30x3.5
3P-221 A1l 530 125 146 380 330.2 | 196.87 235 6 27 97 70 62 35 55 60 M30x3.5
3P-224 A1l 610 125 146 380 330.2 | 196.87 235 6 27 97 70 62 35 55 60 M30x3.5
3P-224 A15 610 125 146 380 330.2 | 285.78 | 330.2 6 27 97 70 62 35 55 60 M30x3.5
Model L L1 M N P Q max. Q min. R max. R min. S T U
3P-215 | A8 6~M20 30 24 63.3 165 43 51.25 18.25 775 69.5 62 255 6~M16
3P-215 A1l 6~M20 30 33 63.3 165 43 51.25 18.25 77.5 69.5 62 25.5 3~M10
3P-218 All 6~M20 35 33 63.3 165 43 52.75 18.25 108 100 62 255 3~M10
3P-221 | A8 6~M24 31 24 71 180 60 96.5 24.5 86 78 65 25 6~M16
3P-221 A1l 6~M24 31 28 71 180 60 96.5 245 86 78 65 25 6~M20
3P-224 Al11 6~M24 31 28 71 180 60 96.5 24.5 125 117 65 25 6~M20
3P-224 A15 6~M24 31 34 71 180 60 96.5 245 125 117 65 25 3~M12

A BEIES 3P-A BLZ<F 3% (The dimensions and the specifications of 3P-A type are in red data.)

AUTOGRIP 8



BE) A =M
A 2p[2p-A FEBIE

o M &G -
o BENHIILELERERIME  WEHEBES -
o SHIMAEBRSRFEE -
® WEDGE-HOOK type 2-jaw power chuck.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
ngggon Pitch
H G H G El H G M BreERE 15 S
2P-08 A5 i — — T
2P-10 A6 — = Fmn U\i I R e
Refer to Fig.A o = N
S e o - B |
Ko Q& ) ]
£ e | L T = e
8 u a 0 I S
8 ‘:EL a K a K ~ L1 a
] 5] =Q < o S E3 S
< = SIS T 18 T
v 8 T x S[s ey
Ly B /ul e L/l B L E -
) L B B T
Fig.A
A 2P-04 ~ 2P-05 2P-A 2P
REBFARIEDBIIER
Subject to technical changes
FHFRHE SPECIFICATIONS
w5 pige | WIE L FRER L aepig mATasn  BEERH B8 | EMENE  BAEREH
(Bf¥) | Chucking Dia. g ) =
Plunger | Jawstroke &®A | &/ Max. Clamping Moment of )
— droke (Dia) Max. Min. Max. D.B. pull o Max. speed —— Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgflcm?)
RK-75(N) 1.5(15)
2P-04 15 6.9 110 5 5.3(540) 14.7(1500) 6000 0.01 3.8 - RA-130 0.4(4)
RK-75(N) 1.5(15)
2P-05 15 6.9 135 14 5.3(540) 16.7(1700) 5500 0.02 5.8 - RA-130 0.4(4)
RK-100(N) 1.7(17)
2P-06 A5 20 9.2 165 14 12(1220) 35(3570) 5250 0.04 12 | 13 RA-170 0.4(4)
RK-125(N) 1.5(15)
2P-08 A5 21 9.7 210 17 16.5(1680) 50(5100) 4750 0.13 22 | 26 RA.220 0.4(4)
RK-125(N) 1.5(15)
2P-08 A6 21 9.7 210 17 16.5(1680) 50(5100) 4750 0.13 22 25 RA-220 0.4(4)
RK-125(N) 1.8(18)
2P-10 A6 25 8.8 254 22 19.4(1980) 71.5(7300) 4000 0.29 33 | 42 RA.220 0.4(4)
RK-125(N) 1.8(18)
2P-10 A8 25 8.8 254 22 19.4(1980) 71.5(7300) 4000 0.29 33 | 40 RA-220 0.4(4)
2P-12 A8 30 10.5 304 22 27.4(2800) 103.9(10600) 3360 0.70 57 @ 61 | RK-150(N) 1.7(17)
2P-15 All 35 16 381 50 54.9(5600) 164.6(16800) 3000 1.70 96 103 | RK-200(N) 1.9(19)
MBI R~ DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J
2P-04 110 52 - 60 80 - - 6 - - 18 - 3 - 25 26
2P-05 135 55 - 80 100 - - 7 - - 9 - 6 - 35 28
2P-06 A5 165 74 | 84 140 104.8 82.56 116 5 15 21 102.6 = 87.6 82.6 67.6 35 34
2P-08 A5 | 210 85 | 103 | 170 1334 82.56 104.8 5 23 25 127 104 106 83 36 38
2P-08 A6 | 210 85 97 170 133.4 | 106.38 150 5 17 25 127 110 106 89 36 38
2P-10 A6 | 254 89 | 109 | 220 1714 | 106.38 | 133.4 5 25 34 158 133 133 108 36 45
2P-10 A8 | 254 89 102 | 220 1714 | 139.72 190 5 18 34 158 140 133 115 36 45
2P-12 A8 | 304 | 106 | 118 | 220 171.4 | 139.72 190 6 18 34 163 145 133 115 36 50
2P-15 A1l | 381 | 114 | 130 @ 300 235 196.87 260 6 22 - 104 82 69 47 55 60
Model K L L1 M N P Q max. Q min. R max. R min. ] T U
2P-04 M10x1.5 4~M8 12 - 24 52 14 11.3 8.3 23.3 20.15 23 10 -
2P-05 M12x1.75 4~M8 14 - 31 62 14 13.5 6 30.4 26.95 25 10 -
2P-06 A5 M16x2 6~M10 14 14 37 73 20 18.25 9.25 38.25 | 33.65 31 12 3~M6
2P-08 A5 M20x2.5 6~M12 20 17 38 95 25 22.3 11.8 46.3 41.45 35 14 6~M10
2P-08 A6 M20x2.5 6~M12 20 18 38 95 25 22.3 11.8 46.3 41.45 35 14 3~M6
2P-10 A6 M20x2.5 6~M16 18 18 43 110 30 30.8 11.3 51.1 46.7 40 16 6~M12
2P-10 A8 M20x2.5 6~M16 18 25 43 110 30 30.8 11.3 51.1 46.7 40 16 6~M8
2P-12 A8 M20x2.5 6~M16 18 25 51 130 30 48.5 12.5 - - 50 |[18o0r21 6~M8
2P-15 A1l | M30x3.5 6~M20 30 33 63 165 43 48.8 23.3 775 69.5 62 255 | 3~M10

A EHIES 2P-A I <1 (The dimensions and the specifications of 2P-A type are in red data.)
AUTOGRIP



3L/3L-A

BRMITIE8) ) KEE

EXTRA LONG JAW STROKE POWER CHUCK

=Mepzm

AR = TBAREBELLE - BRIITE -

BEms

SHMtEBRSRIFEE -
CRANK type 3-jaw with the large through-hole and extra long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EREGRERERETFZ ALK

K max B/ EAEIR1E p] SRR ~ BRI, KRB RES

BIERIBBEE - TEEEE -

J is the hole diameter of blank draw nut .
K is the maximum thread specification and it could be customize.

5T,

3L-208 AS Serration Pitch
3L-210 A6 G BegE®E 1.5
3L-215 A8 = M
Refer to Fig.A E1 G H .
2HEA u | ] | R
%Eé — — B
Tl i iR o 2
~ T KA |
- g T @
a g i ] 38
L/
L1 B
(REZHAEERBOIER] Subject to technical changes 3L-2A 3L-2
B HER4& SPECIFICATIONS
e mogm | OE KRET skmxon mamsn  sEEem EE | ERENE  BARAES
- Psltli ggzr Ja\Engike ;iaj; ?Aillrj]\ Max. D.B. pull lag fgrlsgmmg Max. speed x?r::t?; Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min(rp.m.) | kg *m? kg MPa (kgflcm?)
3L-205 @ A4 12 18 138 6 15.6(1590) 17.2(1750) 4200 0.019 | 7.2 8 TK-A533 2.3(23)
3L-206 | A5 15 24 170 24 23.5(2400) 26.0(2650) 3600 0.063 | 14.7 | 15.9 TK-C646 2.7(27)
3L-208 | A5 20 32 215 30 34.3(3500) 35.0(3570) 3000 0.18 23 | 257 TK-A853 2.8(28)
3L-208 @ A6 20 32 215 30 34.3(3500) 35.0(3570) 3000 0.18 23 | 24.6 TK-A853 2.8(28)
3L-210 A6 25 37.5 260 53 47.7(4870) 48.0(4895) 2400 0.35 39.5 46.5 TK-A1075 3.1(31)
3L-210 | A8 25 375 260 53 47.7(4870) 48.0(4895) 2400 0.35 |39.5| 45 TK-A1075 3.1(31)
3L-212 | A8 30 45 315 61 64.7(6600) 61.0(6220) 2100 0.827 1 67.3 | 70.5 | TK-A1291 3.0(30)
3L-215 | A8 35 52 405 52 84.3(8600) 85.0(8665) 1600 258 | 139 | 152 | TK-A1512-35 2.7(27)
3L-215 | ALl 35 52 405 52 84.3(8600) 85.0(8665) 1600 2,58 139 | 145 TK-A1512-35 2.7(27)
4MEUR~F DIMENSIONS
Model A B C D D1 D2 E E1l F G max. G min. H J
3L-205 A4 | 138 65 76 110 82.6 63.51 96 4 15 32 1 15 -11 3 20 12
3L-206 A5 | 170 84 97 140 104.8 82.56 116 5 18 45 6.5 24.5 -8.5 9.5 19 20
3L-208 A5 | 215 96 | 114 @ 170 1334 82.56 104.8 5 23 52 7 30 -13 10 20 30
3L-208 A6 | 215 96 | 114 | 170 133.4 | 106.38 150 5 23 52 7 30 -13 10 20 30
3L-210 A6 | 260 | 108 | 128 | 220 171.4 | 106.38 | 133.4 5 25 75 8.5 33 -16.5 8 25 45
3L-210 A8 | 260 | 108 | 121 | 220 1714 | 139.72 190 5) 18 75 8.5 26.5 | -16.5 15 25 45
3L-212 A8 | 315 | 125 | 138 220 171.4 | 139.72 190 5 18 91 15 33 -15 3 30 50
3L-215 A8 | 405 | 150 | 177 | 300 235 139.72 171.4 6 33 120 125 | 455 | -225 | 10.5 39 60
3L-215 | A11 | 405 | 150 @ 166 | 300 235 196.87 260 6 22 120 125 | 345 -225 | -05 39 60
Model K max. L L1 M N P Q max. Q min. R max. R min. S] T U
3L-205 A4 M40x1.5 3~M10 15 15 31 62 14 15.75 5.25 38.5 29.5 25 10 3~M6
3L-206 A5 M55x2 3~M10 18 15 37 73 20 15.25 7.75 51 39 31 12 3~M6
3L-208 A5 M60x2 3~M12 18 19 38 95 25 19.25 10.25 63.5 47.5 35 14 6~M10
3L-208 A6 M60x2 3~M12 18 | 20 38 95 25 19.25 10.25 63.5 47.5 B85) 14 3~M6
3L-210 A6 | M85x2 M60x2 3~M16 24 | 20 43 110 30 24.75 11.25 80 61.25 40 16 3~M12
3L-210 A8 M85x2 3~M16 24 | 21 43 110 30 24.75 11.25 80 61.25 40 16 3~M8
3L-212 A8 M100x2 3~M16 24 | 21 51 130 30 29.75 13.25 96.5 74 50 21 3~M8
3L-215 A8 M130x2 6~M20 33 275 63 165 43 34.75 13.75 119 93 62 255 | 6~-M16
3L-215 A1l M130x2 6~M20 33 31 63 165 43 34.75 13.75 119 93 62 255  3~M10

AT EBEES 3L-A BLZ <& (The dimensions and the specifications of 3L-A type are in red data.)

Autocrip 10




- BRMITE# HKEE = Mepgem
’ 2LI2L A EXTRA LONG %]EAW STROIZLE POWER CHUCK

A TEBABERALE  BRITE -

RENEKIECRIBBINE - TEHEES -

St AR RS RIFEE -

CRANK type 2-jaw with the large through-hole and extra long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

J EREGZEERERBIRZ ALK,

K max {4 B4R IEIE A R SR OF 7 S| ARG, AR B IR T RETR,
J is the hole diameter of blank draw nut,

K is the maximum thread specification and it could be customize.

G Serration Pitch
~ PrEEEE 1.5 s

m
®
T
<

|

. [ [

.
o

2L-15A8
Refer to Fig.A
ZRIE A

e

7°7'30"
T
(An_oy

oD2
oD1

3
F
Hh

D2
oA

2C He
IZNp
oF
4

Serration Pitch

BEEEEE 1.5
2L-208A5 M
2L-210A6 S, G_ H
Refer to Fig.B E1
25E B

‘é

g
q.r|
N

i
L[
[ [
=

2L-2A 2L-2

1RBHRMEIERAIHEF Subject to technical changes

F#T#R1& SPECIFICATIONS

B3 miore | TR RER  amexon  mkwEn | BREEH 8 ERENE | RARRES

- Plunger stroke Ja\EvD?:?ke 5’7:: i’r{\ Max. D.B. pull Max.fgrlzénping Max. speed M?::S;Of Weight Matching cyl. Max. pressure

mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg * m? kg MPa (kgf/cm?)
2L-205 | A4 12 18 138 6 10.4(1060) 11.4(1170) 4200 0.018 | 69 | 7.7 TK-A533 1.5(15)
2L-206 | A5 15 24 170 | 24 15.7(1600) 17.3(1760) 3600 0.063 | 14.4|15.6 TK-C646 1.8(18)
2L-208 | A5 20 32 215 | 30 22.9(2330) 27.1(2760) 3000 0.173 22 | 26 TK-A853 1.9(19)
2L-208 | A6 20 32 215 | 30 22.9(2330) 27.1(2760) 3000 0.173 22 | 24.2 TK-A853 1.9(19)
2L-210 | A6 25 37.5 260 | 53 31.8(3250) 37.3(3800) 2400 0.33 40 45.5| TK-A1075 2.1(21)
2L-210 | A8 25 37.5 260 @ 53 31.8(3250) 37.3(3800) 2400 0.33 40 | 44 TK-A1075 2.1(21)
2L-12 A8 30 45 304 | 30 43.1(4400) 50.0(5100) 2100 0.8 60 | 65.5| TK-A1291 2.0(20)
2L-15 A8 35 52 385 | 26 56.2(5730) 53.0(5400) 1600 2.52 133 | 147 | TK-A1512-35 1.8(18)
2L-15 All 35 52 385 | 26 56.2(5730) 53.0(5400) 1600 2.52 133 | 140 @ TK-A1512-35 1.8(18)

A EEIEA 2L-A B <1 (The dimensions and the specifications of 2L-A type are in red data.)

11 AutocriP



- BRMNITIZE)/13KH =Mz
’ 2'-/ 2L=A £ 5 One 5aw STROKE POWER CHUCK

MR~ DIMENSIONS

Model A B C D D1 D2 E E1 F G max. G min. H J
2L-205 A4 138 65 76 110 82.6 63.51 96 4 15 32 1 15 -11 3 20 12
2L-206 A5 170 84 97 140 104.8 82.56 116 5 18 45 6.5 24.5 -8.5 9.5 19 20

2L-208 A5 | 215 96 | 114 | 170 1334 82.56 104.8 5 23 52 7 30 -13 10 20 30

2L-208 A6 | 215 96 114 170 1334 | 106.38 150 5 23 52 7 30 -13 10 20 30

2L-210 A6 | 260 | 108 | 128 @ 220 1714 | 106.38 | 133.4 5 25 75 8.5 33 -16.5 8 25 45

2L-210 A8 260 @ 108 121 @ 220 171.4 139.72 190 5 18 75 8.5 265 | -165 | 15 25 45

2L-12 A8 | 304 | 127 | 140 @ 220 1714 139.72 190 5 18 91 15 33 -15 3 28 50

2L-15 A8 | 385 | 150 @177 @ 300 235 139.72 171.4 6 33 120 | 125 | 455 | -225 | 10.5 39 60

2L-15 All | 385 | 150 166 & 300 235 196.87 260 6 22 120 | 125 | 345 | -225 -05 39 60
Model K max. L L1 M N P Qmax. Qmin.  Rmax. =R min. S T U
2L-205 | A4 M40x1.5 4~M10 15 15 31 62 14 1575 | 5.25 38.5 29.5 25 10 3~M6
2L-206 | A5 M55x2 4~M10 18 | 15 37 73 20 | 15.25 | 7.75 51 39 31 12 3~M6
2L-208 | A5 M60x2 4~M12 18 19 38 95 25 | 19.25 | 10.25 | 63.5 47.5 35 14 6~M10
2L-208 | A6 M60x2 4~M12 18 | 20 38 95 25 | 19.25 | 10.25 | 63.5 47.5 35 14 3~M6

2L-210 A6 = M85x2 M60x2 4~M16 24 20 43 110 30 | 2475 | 11.25 80 61.25 40 16 6~M12

2L-210 A8 M85x2 4~M16 24 21 43 110 30 2475 11.25 80 61.25 | 40 16 3~M8
2L-12 A8 M100x2 6~M16 22 19 51 130 30 | 46.25 | 19.25 7 54.5 50 21 3~M8
2L-15 A8 M130x2 6~M20 33 | 275| 63 165 43 5125 | 27.25 | 9425 | 68.25 62 2515 6~M16
2L-15 All M130x2 6~M20 33 31 63 165 43 | 51.25 | 27.25 | 94.25  68.25 | 62 25.5 3~M10

A EEIER 2L-A BLZ <1 (The dimensions and the specifications of 2L-A type are in red data.)
AUTOGRIP 12



HERMITESN /KR

EXTRA LONG JAW STROKE POWER CHUCK

o MRAVEEMPENE - BRNITE -
o HEANEGEBEERTHMKS -
o SHIMAEBRSRIFEE -
® CRANK type single-jaw with the large through-hole and extra long jaw
stroke.
® Suitable for clamping the jig or irregular work piece.
® High rigidity and high clamping accuracy.
Serration Pitch
el
c GHMEE 15 M ‘
N = <
1L-08A5 3~U <L \
1L-10A6 < ol |
Refer to Fig.A ¥EJ£—' E
2B A gl ===
Sr\ —1 H ‘
T
s 2 S
O|5| = o
1Ay
K i
15
B
Fig.A
BB A 1L-A
Subject to technical changes —
FATRIE SPECIFICATIONS
=
R BOGR | GR  JSIE | mERcn RAKEH  REEEH EE | EREME | BARRES
Plunger &R | =N Max. Clamping Moment of )
Model dtroke Jaw stroke Max. Min. Max. D.B. pull " Max. speed i Weight Wi @l Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgflcm?)
1L-06 @ A5 20 16 168 5 12.3(1250) 27.3(2780) 3800 0.05 125  14.3 RK-100 1.7(17.5)
1L-08 A5 25 20 215 7 15.7(1600) 37.2(3800) 3000 0.15 242 | 271 RK-125 1.4(14.3)
1L-08 @ A6 25 20 215 7 15.7(1600) 37.2(3800) 3000 0.15 242 253 RK-125 1.4(14.3)
1L-10 A6 30 24 254 17 21.6(2200) 48.5(4950) 2400 0.28 38.8 | 46 RK-150 1.3(13.7)
1L-10 A8 30 24 254 17 21.6(2200) 48.5(4950) 2400 0.28 38.8  44.3 RK-150 1.3(13.7)
4MEIR<F DIMENSIONS
Model A Al B © D D1 D2 E 7 G max. | G min. H J J1i K max. L L1
1L-06 | A5 168 9.5 | 80 | 90 140 104.8 82.56 116 15 21 37 17 25 46 54 | M30x1.5 M10 16 16
1L-08 A5 215 8 93 | 111 | 170 | 133.4 | 82.56 | 104.8 23 21 46 21 32 52 70 | M33x1.5 | M12 | 21 19
1L-08 A6 | 215 8 93 105170  133.4 106.38 150 17 21 46 21 32 52 70 | M33x1.5 | M12 | 21 20
1L-10 A6 | 254 13.5 108 128 220 171.4 106.38 133.4 25 30 47 17 30 62 90 | M45x1.5 | M16 | 25 20
1L-10 A8 | 254 |13.5 108 121 | 220 171.4 139.72 190 18 30 47 17 30 62 90 | M45x1.5 | M16 | 25 27
Model M N P Qmax.  Qmin. R max. R min. S] T U V(H6) V1(h9) V2 w W1 X Y z
1L-06 A5 | 37 73 20 19.75 7.75 46 30 31 12 M6 30 15 4.5 64 M10 445 36 30
1L-08 A5 38 95 25 25.25 | 10.25 54 34 B85 14 | M10 35 18 4.5 70 M12 61 52 36
1L-08 A6 | 38 95 25 25.25 | 10.25 54 34 35 14 M6 35 18 4.5 70 M12 61 52 36
1L-10 A6 | 43 110 @ 30 33.75 | 11.25 67 43 40 16 M8 40 20 5] 90 M14 71 | 585 45
1L-10 A8 | 43 | 110 | 30 33.75 | 11.25 67 43 40 16 M8 40 20 5 90 M14 71 585 | 45

A EEES 1L-A B2 5% (The dimensions and the specifications of 1L-A type are in red data.)

13 AutoGRIP




M cheg £ TYTA2568E (— ) I

LONG JAW STROKE POWER CHUCK

B =M BRE - £TITE -

RBENEKECRIERINE - TEEES -

SHIMEBRSRSEE -

WEDGE-HOOK type 3-jaw power chuck and long jaw stroke.
Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch
B 15 S

=

%4

|

*m
=
A// fTT
i
3

e
)

B
Iy

"
£

L " L1 B
3M-05
Serration Pitch
M HEEE 15 S
— T
L A
H G EmE .
‘ el ol <
I
\, } o
S |
S
K a
1T | s
) L
<| Q g
Q
L E
B
REBINGIEELBONER
Subject to technical changes 3M‘06N3M‘1 2
F#T#E4% SPECIFICATIONS
wy | moEe | e BHEE  amekan | BAKES | BSEHN | B8 OEGOEE | BAGRES
= (BEfX) Chucking Dia. FTER = =1 =
Plunger | Jaw stroke | ERK =/ Max. Clamping Moment of )
- droke (Dia,) Vi Min. Max. D.B. pull — Max. speed — Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
3M-05 15 10.9 135 14 9.8 (1000) 23 (2350) 4500 0.02 6.0 RK-75(N) 2.7(27)
3M-06 20 14.5 165 14 21.6 (2200) 50 (3680) 4000 0.04 12.2 RK-100(N) 3.0(30)
3M-08 23 16.7 210 17 29.4 (3000) 72 (7340) 3500 0.13 23.0 RK-125(N) 2.9(29)
3M-10 27 19.6 254 22 39.2 (4000) 102 (10400) 3000 0.3 34.3 RK-150(N) 2.8(28)
3M-12 30 21.8 304 26 54.0 (5500) 150 (15300) 2500 0.71 59.4 RK-150(N) 3.6(36)
4MY R~ DIMENSIONS
Model A B C(H®6) D E G max. G min. H J K
3M-05 135 55 80 100 7 6 -9 35 28 M12x1.75
3M-06 165 74 140 104.8 5 101.6 81.6 36 34 M16x2
3M-08 210 85 170 133.4 5 129 106 36 38 M20x2.5
3M-10 254 89 220 171.4 5 160 133 36 45 M20x2.5
3M-12 304 106 220 171.4 6 70 40 46 50 M24x3
Model L L1 M N P Q max. Q min. R max. R min. S] T
3M-05 3~M8 14 31 62 14 155 5 32.9 27.45 25 10
3M-06 6~M10 14 37 73 20 17 8 38.7 31.45 31 12
3M-08 6~M12 20 38 95 25 223 8.8 47.5 39.15 35 14
3M-10 6~M16 18 43 110 30 32.3 12.8 53.9 44.1 40 16
3M-12 6~M16 18 51 130 30 47.8 13.3 62.5 51.6 50 21

AuTOoGRIP 14



RERMITIERE () = Mg
LONG JAW STROKE POWER CHUCK

B =M BRE - £TITE -

RBENEKECRIERIE - TEEES -

SHIMEBRSRSEE -

WEDGE-HOOK type 3-jaw power chuck and long jaw stroke.

Matching surfaces of all parts hardened, ground and lubricated directly.
High rigidity and high clamping accuracy.

Serration Pitch  HFEi b
3M-215, 3M-218 : 1.5
3M-221, 3M-224 : 3.0

3M-215,3M-218

REHEIEREOHER)

Subject to technical changes

R #RM& SPECIFICATIONS

we mofR | e KERE amexon mkousn  BREEE 0 BB OERESE  BARREN
— Pgltlizggr Ja\A(IDSilargke ﬁajx( ﬁg\ Max. D.B. pull Max.f(;:gr:ping Max. speed M?::;S;Of Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (rp.m.) | kg *m? kg MPa (kgf/cm?)
3M-215 35 25.4 381 20 91.0 (9280) 158.9 (16200) 2300 1.8 96 | RK-200(N) 3.0(30)
3M-218 35 25.4 450 51 91.0 (9280) 158.9 (16200) 2000 2.32 124 RK-200(N) 3.0(30)
3M-221 35 25.4 530 53 91.0 (9280) 158.9 (16200) 1350 4.9 175 | RK-200(N) 3.0(30)
3M-224 35 25.4 610 | 160 91.0 (9280) 158.9 (16200) 1250 7.2 225 | RK-200(N) 3.0(30)
4MEURST DIMENSIONS

Model A B C(Heé) D E F G max. G min. H J
3M-215 381 114 300 235 6 2 104 69 55 60
3M-218 450 114 300 235 6 2 92 57 55 60
3M-221 530 125 380 330.2 6 3 97 62 55 60
3M-224 610 125 380 330.2 6 3 97 62 55 60

Model K L L1 M N B Q max. Q min. R max. R min. S] T
3M-215 M30x3.5 6~M20 30 63.3 165 43 49.75 18.25 79 66.3 62 25.5
3M-218 M30x3.5 6~M20 535 63.3 165 43 51.25 18.25 109.5 96.8 62 25.5
3M-221 M30x3.5 6~M24 31 71 180 60 90.5 24.5 92 79.3 65 25
3M-224 M30x3.5 6~M24 31 71 180 60 90 24 131 118.3 65 25

15 AutocrIP



PER/MNITIZKE

LONG JAW STROKE POWER CHUCK

ZMHER

2M

o ME_MPERE BMITE-
o RBEHHILIFLRERME WEHEBEES -
o SHIGEBESRERE -
® WEDGE-HOOK type 2-jaw power chuck and long jaw stroke.
® Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
Serration Pitch s
M HeEgE 15
E EVE_‘L 1
|| 18T 5 -
G
K ‘ ‘
— il -
8 8|8,
LN
a
= ¢
L/ | B
2M-05
Serration Pitch
M HEE 15 s
[
[ =1
H G M= o
f f RS jma M ie] z
‘ ‘ \7 o
— ]
S \
“ Ll 5
(@) ‘ E—=2Y
<| Q| T—————- -
Q
L/ e
REATEEBEOHER B
ubject to technical changes
s ’ 2M-06~2M-12
#7334 SPECIFICATIONS
a5 o | TUIE BRER  aumian BAKESH  BEESH B8 ERESI  RAGEES
(BERX) Chucking Dia. 3 (=]
Plunger Jaw stroke | &K =2\ Max. Clamping Moment :
- Sl (Dia,) M Min. Max. D.B. pull — Max. speed i Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) mint (rp.m.) = kg * m? kg MPa (kgflcm?)
2M-05 15 10.9 135 14 6.5(660) 11(1120) 4500 0.02 6.0 RK-75(N) 1.8(18)
2M-06 20 14.5 165 14 14.3(1460) = 24(2450) 4000 0.04 12.2 | RK-100(N) 2.0(20)
2M-08 23 16.7 210 17 19.6(2000) = 36.6(3730) 3500 0.13 23.0 | RK-125(N) 1.9(19.3)
2M-10 27 19.6 254 22 26.1(2660) = 49.3(5030) 3000 0.30 343 | RK-150(N) 1.8(18.6)
2M-12 30 21.8 304 26 36(3670) 66(6730) 2500 0.71 59.1 | RK-150(N) 2.4(24)
SMNEYR ST DIMENSIONS
Model A B C(H®6) D E G max. G min. H J
2M-05 135 55 80 100 7 6 -9 35 28
2M-06 165 74 140 104.8 5 101.6 81.6 36 34
2M-08 210 85 170 133.4 5 129 106 36 38
2M-10 254 89 220 171.4 5 160 133 36 45
2M-12 304 106 220 171.4 6 70 40 46 50
Model K L L1 M N B Q max. Q min. R max. R min. S T
2M-05 M12x1.75 4~M8 14 31 62 14 15.5 5 32.9 27.45 25 10
2M-06 M16x2 6~M10 14 37 73 20 17 8 38.7 31.45 31 12
2M-08 M20x2.5 6~M12 20 38 95 25 22.3 8.8 47.5 39.15 35 14
2M-10 M20x2.5 6~M16 18 43 110 30 323 12.8 53.9 44.1 40 16
2M-12 M24x3 6~M16 18 51 130 30 47.8 13.3 62.5 51.6 50 21

AUTOGRIP 16




A 3v-A

M ERPREE) /KA (—)

POWER CHUCK FOR VERTICAL LATHE

=MPERKEEE

o HEE=ZNPERHE -
o [YIBAEBKEE  HhEEERARIAER -
° WEDGE-HOOK type 3-jaw high speed power chuck.
®  Sealed against swarf, chips and coolant, suitable for vertical lathe.
3v-21
Serration Pitch VS
H oG M_ #EE F
U El{ ‘ e -
T e — 2
t o
H G
a8 < ol « & —,4‘—‘; J] < g U ﬁT\E“J, -
3V-15A8 s 8 g 8 SL== ° g x‘t E [a)
3V-15A15 [ S
L1
SV-16ATs Ry J
3V-21A11 o — j=====C13
AN AT :
2EE A . el
BRI AR B
Subject to technical changes VA v
3R SPECIFICATIONS
g pome IR SRER | zueiann | BAKEH  BEEEH | £8  OPLEE BAGRED
(BR) Chucking Dia.
— Pgl::gg:r Ja\EVD?:())ke ﬁajx( ﬁg\ Max. D.B. pull Max.fgligmmg Max. speed M?rr]:t?;m Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg * m? kg MPa (kgflcm?)
V12 A8 30 127 | 304 30 | 41(4180) | 156(15900) = 3150 | 0.73 0.79 62.9 68.7 Egjgg 2.6(26)
3V-15 A8 B85 16 381 30 81.9(8360) | 245.1(25000) 2900 1.97 | 2.27 |105.5/128.5
3v-15 | AlL 35 16 381 30 81.9(8360) 245.1(25000) 2900 | 1.97 | 2.27 105.5 127
3v-15 Al15 &5 16 381 30 81.9(8360) | 245.1(25000) 2900 3.33 | 2.67 |105.5| 142
3v-18 A8 35 16 450 80 81.9(8360) | 245.1(25000) 2600 3.33  3.62 132.7 155.5
3v18 A1l 35 16 450 80 | 81.9(8360) 245.1(25000) 2600 | 3.33 3.63 1327 1545 ge.00 = 2.8(28)
3Vv-18 Al5 35 16 450 80 81.9(8360) | 245.1(25000) 2600 6.83 | 4.02 |132.7 165 RE-200K 3.0(30)
3v-21 | ALl 35 16 530 62 81.9(8360) 271.6(27700) 1800 | 6.83  7.46 196.5 227
3v-21 Al5 35 16 530 62 81.9(8360) | 271.6(27700) 1800 6.83 | 7.37 |196.5 221
3v-24 | ALl 35 16 610 136 | 81.9(8360) 271.6(27700) 1700 | 11.19 11.83 241.7 272.8
3v-24 | Al5 35 16 610 136 81.9(8360) 271.6(27700)| 1700  11.19 | 11.73|241.7 266
3V-32 Al15 B85 16 800 136 81.9(8360) | 271.6(27700) 1100 28.9729.51|353.6 378
SMEYR < DIMENSIONS
Model A B © D D1 D2 E E1l F G max. G min. H J
3V-12 | A8 304 @ 107 141 220 | 171.4  139.72 @ 190 6 40 15 113 73 83 43 36 50
3V-15 A8 381 116 | 164 | 300 235 139.72 | 171.4 6 54 1.5 153 99 118 64 55 60
3v-15 | A1l 381 @ 116 168 @ 300 235 | 196.87 @ 260 6 58 15 153 95 118 60 55 60
3v-15 Al5 | 381 116 | 172 380 235 285.78 | 330.2 6 62 1.5 153 91 118 56 55 60
3Vv-18 A8 450 116 | 164 | 300 235 139.72 | 171.4 6 54 1.5 153 99 118 64 55 60
3V-18 | A1l 450 116 @ 168 @ 300 235 | 196.87 | 260 6 58 15 153 95 118 60 55 60
3V-18 | A15 450 116 172 380 235 | 285.78 | 330.2 6 62 1.5 153 91 118 56 55 60
3v-21 All | 530 127 | 167 380 330.2 | 196.87 235 6 46 3 137 91 102 56 55 60
3V-21 | A15 | 530 | 127 167 | 380 | 330.2 | 285.78 | 330.2 6 46 3 137 91 102 56 55 60
3v-24 All | 610 127 | 167 380 330.2 | 196.87 2385 6 46 8 137 91 102 56 55 60
3V-24 | A15 610 | 127 167 @ 380 | 330.2 28578 | 330.2 6 46 3 137 91 102 56 55 60
3V-32 | Al15| 800 | 127 | 167 | 380 | 330.2 | 285.78 | 330.2 6 46 3 137 91 102 56 55 60
Model K L L1 M N P Q max. Q min R max. R min. S] T V]
3V-12 A8 | M20x2.5 3~M16 24 | 24 54 130 30 475 16 61 54.65 50 21 3~M8
3V-15 A8 | M30x3.5 6~M20 35 | 24 66 165 43 51.25 @ 18.25 | 775 69.5 62 25.5 6~M16
3v-15 All M30x3.5 6~M20 35 32 66 165 43 51.25 18.25 775 69.5 62 25.5 3~M10
3V-15 | A15  M30x3.5 6~M20 35 | 26 66 165 43 51.25 = 18.25 | 775 69.5 62 25.5 6~M24
3v-18 A8 | M30x3.5 6~M20 35 | 24 66 165 43 51.25 | 18.25 108 100 62 25.5 6~M16
3v-18 All M30x3.5 6~M20 35 32 66 165 43 51.25 18.25 108 100 62 2585) 3~M10
3V-18 | A15  M30x3.5 6~M20 35 | 26 66 165 43 51.25 | 18.25 108 100 62 25.5 6~M24
3v-21 A1l M30x3.5 6~M24 41 | 35 74 180 60 93.5 24.5 89 81 65 25 6~M20
3v-21 Al5 M30x3.5 6~M24 41 35 74 180 60 93.5 24.5 89 81 65 25 3~M12
3V-24 | A1l M30x3.5 6~M24 41 | 35 74 180 60 93.5 24.5 128 120 65 25 6~M20
3V-24 | A15  M30x3.5 6~M24 41 | 35 74 180 60 93.5 24.5 128 120 65 25 3~M12
3v-32 Al5 M30x3.5 6~M24 41 35 74 180 60 189.5 24.5 128 120 65 25 3~M12

17 AUTOGRIP AI&#iEA 3v-A B <F5% (The dimensions and the specifications of 3V-A type are in red data.)




A 3v-A  rEEEEwnEE o) -

POWER CHUCK FOR VERTICAL LATHE

B =M B KRR -

FMOEBFENREETE - DURITHRL -

BrtlE K biKaE - FRIEEEANIINER -

WEDGE-HOOK type 3-jaw high speed power chuck.

With manual radial setting of master jaws for the workpiece centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

u
;,,X?E}
R~ o
I~ sl ‘ 30
| ﬁ ©
olalal = = | <| I
8| gle| © [SINS)
a Q
| | 8
L1 ‘ E1
3V-40A20
3V-50A20
Refer to Fig.A B B
2B A — B
Fig.A 270 223
= 90
_EA_ 762,762 76.2| 38.1
|
B E of [T 1L+
19.03 — i
15 [l 1003 19.03 |||
83
&M $3-50 for V-40"~50" M -
RIS RLBIHER) Softjaw  SJ-63 for V-63-79" Hardened jaw HJ-50 for V-40"~79
Subject to technical changes
BHIERHE SPECIFICATIONS
o Ny miT#z PSEI=EES R = g = e =
)| =} N = =
sk BLTR2 (EE) S DR BHEBAND | BAKES  SREEH I s BREEI SAEREA
Plunger | Jawstroke = &A= &/ Max. Clamping Moment of '
— droke (Dia.) Max. Min. Max. D.B. pull o— Max. speed - Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) KN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
3v-40 | A20 57 46+(60) | 1005 | 310 | 180(18350) @ 320(32620) 630 68 | 72 | 780 | 849 4.2(42)
RK-250
3V-50 | A20 57 46+(60) | 1250 290 | 180(18350) | 320(32620) 500 145 148 1000 1050 Rg.o50 4.2(42)
3v-63 60 48+(80) 1600 = 390 = 200(20390) 360(36700) 400 500 | - 1600 | - RE'A§58 4.6(46)
RE-L25
3v-79 60 48+(80) | 2000 440 | 200(20390) | 360(36700) 320 1250 - | 2500 | - 4.6(46)
4MYR~T DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J K
3V-40 A20 | 1005 @184 226 520 | 463.6 | 412.78  463.6 8 50 190 123 | 73 | 66 16 65 65 M36x4
3V-50 A20 | 1250 @ 184 226 520 | 463.6 | 412.78 | 463.6 8 50 190 123 | 73 | 66 16 65 65 M36x4
3V-63 1600 222 - 720 | 647.6 - - 8 - 218 | 131 - 71 - 65 - M36x4
3V-79 2000 = 240 - 720 | 647.6 - - 8 - 238 | 133 - 73 - 65 - M36x4
Model L L1 M N P Q R max. R min. 5] T U Vv W
3V-40 A20| M24 37 110 270 76.2 295 457 404 6~19.03 7~M24 | 3~M12 42 84
3Vv-50 |A20 M24 37 110 270 76.2 416 563 510 9~19.03 9~M24 | 3~M12 42 84
3V-63 M30 46 110 270 76.2 540 738 674 12~19.03 | 13~M24 - 42 110
3V-79 M30 48 110 270 76.2 740 914 850 16~19.03 | 17~M24 = 42 110

AT EEIES 3V-A B2 ST (The dimensions and the specifications of 3V-A type are in red data.) AUTOGRIP 18



MVERPRESIKE(—)

POWER CHUCK FOR VERTICAL LATHE

Mg EE

BRI M B 3 -
FathiE KEBhKEEr - FRlEaEARIIHER -

WEDGE-HOOK type 4-jaw high speed power chuck.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

M

Serration Pitch

HreEgE £ s
EfEE— Al
o - > [
a < < 2 —T\_J\:ﬂ; :
8 8 8| gl * 1 =
4v-15A8 1— a
Y W ©
4V-15A15 —1 H
Vv J Q|
Fig.A £ —
fs%i.é’iﬁﬁﬁr’;;&h&'ﬂ%&‘ﬂh EA = 2 e
/i3 SPECIFICATIONS A -
my o R O SREE e gy BREEM | 8 ARESE  BAERE.
(BRX) Chucking Dia.
- P;{iggzr Ja\EvD?:;)ke ﬁ:}f ﬁg\ Max. D.B. pull S fgiig]pmg Max. speed M?::T?; & Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
412 A8 30 | 127 | 304 48 | 41(4180)  156(15900) 2520 | 0.72 079 59 | 67 ';Ejgg 2.6(26)
4V-15 A8 35 16 381 36 81.9(8360) | 245.1(25000) 2300 2.10 | 2.39 | 108 | 131
4v-15 All 35 16 381 36 81.9(8360) = 245.1(25000) 2300 2.10 | 2.39 | 108 | 130
4V-15 A15 85! 16 381 36 81.9(8360) | 245.1(25000) 2300 2.10 | 2.79 | 108 | 139
4V-18 A8 35 16 450 60 81.9(8360) = 245.1(25000) 2050 3.51 | 3.80 | 139.3| 162
4v-18 All 35 16 450 60 81.9(8360) | 245.1(25000) 2050 3.51 3.80 139.3 160.9
4v-18 A15 35 16 450 60 81.9(8360) = 245.1(25000) 2050 3.51 | 4.20 | 139.3| 172 ';EgggK gggg;
4V-21 All 35 16 530 62 81.9(8360) | 271.6(27700) 1450 6.98 | 7.62 | 199 | 230
4v-21 A15 35 16 530 62 81.9(8360) @ 271.6(27700) 1450 6.98 | 7.53 | 199 223.7
4V-24 All 35 16 610 152 | 81.9(8360) @ 271.6(27700) 1350 11.34 | 11.98 | 243.8 | 275
4v-24 | A15 35 16 610 152 | 81.9(8360) @ 271.6(27700) 1350 11.34 | 11.88 | 243.8 268.3
4V-32 A15 35 16 800 152 | 81.9(8360) @ 271.6(27700) 880 32.58 | 33.13 | 396 | 419.9
4MYR~T DIMENSIONS
Model A B © D D1 D2 E El F G max. G min. H J
4v-12 A8 | 304 107 141 220 | 171.4 139.72 190 6 40 15 113 73 83 43 36 50
4V-15 A8 | 381 116 164 300 235 [139.72| 171.4 6 54 15 153 99 118 64 55 60
4v-15 All 381 116 168 300 235 |196.87| 260 6 58 15 153 95 118 60 55 60
4V-15 Al15 | 381 116 172 380 235 |285.78| 330.2 6 62 15 153 91 118 56 55} 60
4V-18 A8 | 450 116 164 300 235 [139.72| 171.4 6 54 15 153 99 118 64 55 60
4v-18 All | 450 116 168 300 235 |196.87| 260 6 58 15 153 95 118 60 55) 60
4V-18 A15 | 450 116 172 380 235 |285.78| 330.2 6 62 15 153 91 118 56 55 60
4V-21 All | 530 127 167 380 | 330.2 [196.87| 235 6 46 3 137 91 102 56 55 60
4v-21 A15 | 530 127 167 380 | 330.2 285.78 330.2 6 46 3 137 91 102 56 55 60
4V-24 All | 610 127 167 380 | 330.2 |196.87| 235 6 46 3 137 91 102 56 55} 60
4v-24 | A15 | 610 127 167 380 | 330.2 285.78 330.2 6 46 3 137 91 102 56 55 60
4V-32 A15 | 800 147 187 380 | 330.2 |285.78| 330.2 6 46 3 137 91 102 56 55) 60
Model K L L1 M N P Q max. Q min. R max. R min. $ T U
4v-12 A8 | M20x2.5 3~M16 24 24 42 | 110 | 30 51.75 15.75 61.3 54.9 40 16 4~M8
4V-15 A8 | M30x3.5 6~M20 35 24 66 | 165 @ 43 40.75 18.25 87.5 79.4 62 25.5 6~M16
4V-15 All | M30x3.5  6~M20 35 32 66 | 165 43 40.75 18.25 87.5 79.4 62 25.5 4~M10
4V-15 Al5 | M30x3.5 6~M20 85 26 66 | 165 43 40.75 18.25 87.5 79.4 62 25.5 6~M24
4v-18 A8 | M30x3.5  6~M20 35 24 66 | 165 | 43 51.22 18.22 108 100 62 25.5 6~M16
4V-18 All | M30x3.5  6~M20 35 32 66 | 165 @ 43 51.22 18.22 108 100 62 25.5 4~M10
4V-18 Al5 | M30x3.5 6~M20 35 26 66 | 165 43 51.22 18.22 108 100 62 25.5 6~M24
4v-21 All | M30x3.5  6~M24 | 41 85) 74 | 180 | 60 72.5 24.5 89 81 65 25 6~M20
4v-21 Al5 | M30x3.5 | 6~M24 | 41 35 74 | 180 | 60 72.5 24.5 89 81 65 25 3~M12
4Vv-24 All | M30x3.5  6~M24 | 41 35 74 | 180 @ 60 93.5 24.5 128 120 65 25 6~M20
4v-24 Al5 | M30x3.5 | 6~M24 | 41 35 74 | 180 | 60 93.5 24.5 128 120 65 25 3~M12
4V-32 Al5 | M30x3.5 6~M24 36 85! 74 | 180 | 60 189.5 24.5 128 120 65 25 3~M12
19 AuTtocrIP 4T EES 4V-A Bl Z <H5% (The dimensions and the specifications of 4V-A type are in red data.)




’ 4\/-A MERREHIRE (D) TR S K B R

POWER CHUCK FOR VERTICAL LATHE

BRI R B 35 -

FMOIEFFEFHETE - DA THERD -

MrthiE KFhKeRer - FRlEa ARSI -

WEDGE-HOOK type 4-jaw high speed power chuck.

With manual radial setting of master jaws for the workpiece centering.
Sealed against swarf, chips and coolant, suitable for vertical lathe.

4V-40 A20
4V-50 A20

4V-63 A20 A0 b w
Refer to Fig.A /<<>>\ -

2HEA ‘ \<2§/ W
%

=7

El
" [ z

oc
i
,%ﬁ I
Fii

|||

a
G Q
B L1, Ll
i \
L1 Il
! el
— L |
Il
Il
Il
Il
Eﬂ I
B B
Fig.A
[EA
RBIRIIERAVIET)

Subject to technical changes

F##R1& SPECIFICATIONS

v monR o SEET skexon mamen | BEEsm EE | ERESE  BARAES
Model PsltL:EEZr Ja?o?:())ke i;( H:ﬁ/r{.\ v DD Rl Max'fgrliaren P9 wax. speed M?:;?:; o weight Matching cyl. | X pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg ¢ m? ki MPa (kgf/cm?)
4V-40 | A20 57 46+(60) 1000 310 | 180(18350) | 320(32620) 500 70 94 740 | 790  RK-250 4.2(42)
4V-50 | A20| 57 46+(60) | 1250 290 = 180(18350) = 320(32620) 450 222 | 224 1130 1180 253?522 0 4.2(42)
4V-63 60 48+(80) 1600 @ 390 | 200(20390) | 360(36700) 340 565 1800 RE-L250 4.6(46)
4MYR <) DIMENSIONS
Model A B c D D1 D2 E El F G max. G min. H J K
4V-40 | A20 1000 | 184 226 | 520 | 463.6 412.78 463.6 8 50 190 | 123 73 66 | 16 65 65 M36x4
4V-50 A20 | 1250 @ 200 = 242 520 463.6 412.78 463.6 8 50 190 123 73 66 16 65 65 M36x4
4V-63 1600 = 240 - 720 | 647.6 - - 8 - 214 131 71 65 - M36x4
Model L L1 M N P Q R max. R min. S T U \ W
4V-40 | A20 | M24 37 110 270 76.2 295 457 404 6~19.03  7-M24 | 3-M12 42 84
4V-50 | A20 | M24 38 110 270 76.2 416 563 510 9~19.03 = 9~M24  3-M12 42 84
4V-63 M30 46 110 270 76.2 540 738 674 12~19.03  13~M24 - 42 110

AT A 4V-A B Z <% (The dimensions and the specifications of 4V-A type are in red data.) AUTOGRIP 20



=M= RFRESDN/I2KEE SEH

THRU-HOLE FULLY SEALED TYPE POWER CHUCK

o REBRB/E - AEREREEE  BEEENE -

o REALTREBEE - AIETIEK - BRRMNSA - RIRISEEET
A -

o BERESEALEESS  SERRENEINT  BEL AR TMTER - %5
B ERR TR -

o AIREBLEEBRIT R EKETRER) -

® Fully sealed design extends maintenance intervals, improving production
efficiency.

® Sealed design ensures constant lubrication and protects against the ingress
of coolant and chips, which guarantees clamping precision and durability.

®  Suitable for lights-out manufacturing; dry machining of castings and forgings;
or when high-pressure coolant is utilized. Especially ideal for vertical lathes.

® Media fed through central bore - available for coolant or air. (optional)

Serration Pitch
—H BaiE 15
G M S
E1l
(=1 T
G I i ]
=
u [ e A= o
o saey=0 A
G *%1“5 |
5 w o
2 I
& = |

C

NI

|

|
;
|

©
o8l g o
SIRSIAS) g
a
1l ®
=== g
L L
E
B
3HS-A 3HS
REBIRIEIENAIHEF] Subject to technical changes
BRI SPECIFICATIONS
o N z=30 712 RIEFER e = o = e =
1) P =
23 BRI congbia | BUEAND | BANES | SOy 8 EMEWE BAERED
Plunger | Jawstroke & A | &\ Max. Clamping Moment of )
Vodel o (Dia.) Max. | Min. Max. D.B. pull e Max. speed F—— Weight Matching oyl Max. pressure
mm mm mm mm KN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
3HS-08 A6 18 7.6 220 | 22 31.9(3250) 107(10900) 5000 0.18 26.5  28.1 | TK-A853 2.6(26)
SNEYR < DIMENSIONS
Model A B © D D1 D2 E =il F G max. G min. H J
3HS-08 A6 220 98 110 170 133.4 106.38 150 5 17 52 20 15 2 -3 20 30
Model K max. K Default L L1 M N P Qmax. | Qmin.  Rmax. R min. S T U
3HS-08 A6 M60x2 M55x2 | 6~M12 19 17 39 95 25 47.75 | 29.75 29 25.2 35 14 3~M6

AT EBEES 3HS-A BUZ 1K (The dimensions and the specifications of 3HS-A type are in red data.)

21 AuTtoGRIP




=MAERERES)IKE SHAY

FULLY SEALED TYPE POWER CHUCK

EBHARE - BORERER  ReEENE -
HRBEAE O RISEEE - BERLETIHIK - VIBNEDREA - BIRISIEE
B AE -

o HMEBESEALMHFFESS HBHEMBENLZAMI - SELSAR FNIE
- SRIEaERRIIAER -
o OB EEETKITHPOIKIEIRERL) -
® Fully sealed design extends maintenance intervals, improving production
efficiency.
® Sealed design ensures constant lubrication and protects against the ingress
of coolant and chips, which guarantees clamping precision and durability.
® Suitable for lights-out manufacturing; dry machining of castings and forgings;
or when high-pressure coolant is utilized. Especially ideal for vertical lathes.
® Media fed through central bore - available for coolant or air. (optional)
Serration Pitch
PR 15 M s
Lod ]
B =
ki::: \: D-
t (e z
H G
o
[ q
 r— — o
o) \ || £
S %TL N *
f
«/ " A
% L1 Q
< O \ T i A
Q| [ [ N
e
il
L/ E
B
REBFRIEEHIRER
Subject to technical changes
B HFR4& SPECIFICATIONS
\smm | TUTRR FEFEE BFFERA = =y = | wms RAEA
st BLTHE (=) Chucking Dia. h BAKES | BEDEH I 58 EAEEI Bh
" Plunger Jaw stroke | = = . Max. clamping ’
dtroke (Dia.) RAMax. &/J\Min. | Max. D.B. pull — Max. speed | Weight Matching oyl Max. pressure
Model mm mm mm mm kN(kgf) kN (kgf) min'l(r.p.m.) kg * m’ kg MPa (kgf/cmz)
! RK-150(N) | 2.4 (24.4)
3PS-12 30 12.7 315 22 38.5(3926) | 160(16315) 3360 0.84 67 RA-270 0.7 (7.4)
4MYR~F DIMENSIONS
Model A B c D E € < H J K
max. min.
3PS-12 315 106 220 171.4 6 102 72 39 48 M20x2.5
Model L L1 M N P Q Q i X S T
max. min. max. min.
3PS-12 6~M16 22 52 130 30 87.25 46.75 27 20.65 50 21

AUTOGRIP 22




IS B&h5) ERER

POWER INDEXING CHUCK

o THEEBETETOERE, IR SE T BETRESR,
o REANBEHIERUNNEEE, LEERR,

o RBIkERBIRERS.

o BRtEELREEERE.

o BENDERGNRBRSR, REEENENHE, TRES.

® |ndexing operates during the spindle rotation, can perform a quick change

g between multiple working axles.
& ® All parts of chuck hardened, ground and lubricated directly.
7 ® Sealed against swarf, chips and coolant.
7 ® High rigidity and high repeatability precision.
Iz ® Unique indexing system and hydraulic system, with pressure detection device in
chuck, high reliability.
J
K
L T T

) B A Y
% - N

ac
OE
OF
DA

I

B2 = @ ?
BLl|
B
S
IS-254~1S-315
REF
Sumect o el changes
% SPECIFICATIONS
R NEAE TR OO apaEEn | REn  BEEEH 0 ER MR e
— Index Angle Jaw stroke E&%ia E,\ilfn Max. pressure hax f(gligming Max. speed M?r:r;?t?;m Weight FETSTNG JEIN MainBifeindle
Deg mm mm mm kgf/cm? kN (kgf) min? (rp.m.) | kg * m? kg mm
1S-254 4x90° 20 65 160 45 19.5(1990) 1700 0.41 41 1S-315 70 U E
1S-275 4x90° 20 80 220 45 25.4(2590) 1500 0.61 52 IS-315 70 U E
1S-315 4x90° 20 100 230 45 25.0(2550) 1200 1.13 76 1S-315 704 £
4R~ DIMENSIONS
Model A B B1 B2 C(H6) D E F G H J K
I1S-254 254 190 5 23 220 171.4 60 13 475 18 155 48
1S-275 275 213 5 26 220 171.4 60 13 58 20 171 48
IS-315 315 232 5 22 220 171.4 60 13 71 18.5 187 50
Model L M N N1 P Q(H?) R S(H7) T U v w
I1S-254 13 M8 20 5 40 18 M10 20 106 57 46.5 5.5
1S-275 18 M10 20 6 80 18 M10 20 125 67 57 7
I1S-315 18 M10 20 6 75 24 M12 25 136 85 70 7.5

* DERE 8x45° WIFHMARE, HEARATI XS, *Index Angle 8x45° or Specific Angle, Please contact AUTOGRIP for more detailed information. Thanks.

23 AUTOGRIP



A4 3N

RN P E = T3 ER

INCLINED MASTER JAWS POWER CHUCK

= MAERME

s

OB B E IR E AR R RRIE, A A T 808 RRE EERE,
ARINEMUBEEFHHATRENRUMNR), & TAEKE EFIER, WA
ERREE,

The surface of the center through cover is grinding treated, it can be the
position base surface of the jig/workpiece.

The slideway of main jaws is inclined. It improves the clamping force and
reduces the upfloat situation of the workpiece.

Work with standard top jaws.

T (R ) -
SREERR THIME -

Airtight pressure detect function is optional.
External gripping only.

o
s
EJ)
7
x
G}

Serration Pitch
BEE R

15

Axial jaw stroke
#HoniTE

M
3~U ! S
/ N
T il 1
| i \i
n_
T T] __ | Z
Sk €]
H G
| e «
<o - — T
Q| Q| UZEV:L \H
7 L=
a
K L1 i \T 8
f | V=l
u:%g
3~L
E
B
REBFARIEDLBIER
Subject to technical changes
FT#R& SPECIFICATIONS
o N oo 742 TRFER peire = oy = — = .
1] N = =
By R s CucknoDia | BEERAAN  BANSS  ESOEH 1 ER  BRESE | EAGRED
Plunger Jaw stroke BR =0 Max. Clamping Moment ’
Vodel Seiie (Dia.) M, &/)\Min.| Max. D.B. pull o Max. speed T Weight S — Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) | kg * m? kg MPa (kgf/cm?)
3N-06 20 8.1 (ﬁﬂ]l'ﬁ] 0.9) 165 14 18 (1835) 61.5 (6270) 5000 0.05 111 RK-100(N) 2.6 (26)
3N-08 23 9.4 (ﬁﬂll’ﬁ] 1.0) 210 17 25 (2540) 85.8 (8750) 4500 0.14 245 RK-125(N) 2.2 (22)
3N-10 25 10.2 (Bm 1.1) 254 22 29 (2950) 108 (11000) 4000 0.32 345 RK-150(N) 1.8 (18)
4MUR~F DIMENSIONS
Model A B C(H6) D E G max. G min. H J K L
3N-06 165 72 140 104.8 5 54.5 345 36 34 M16x2 M10
3N-08 210 85 170 133.4 B 59 36 36 38 M20x2.5 M12
3N-10 254 89 220 171.4 5 63 38 36 45 M20x2.5 M16
Model L1 M M1 N P Q max. Q min. R max. R min. S T U
3N-06 16 41 0.9 73 20 15.25 7.75 38.3 34.25 31 12 M6
3N-08 20 42 1.0 95 25 22.25 11.75 46.3 41.6 35 14 M6
3N-10 24 47 11 110 30 33.75 11.25 52.1 47 40 16 M8

AUTOGRIP 24



47

OMEEFHEIZTE PO T R

FOUR-JAW TWO MOTION TYPE POWER CHUCK

o
s
)
7
S
1

o HIRELERIMME BBIEZ AR,
o RRERATMREMIBRATZARB T,
CRANK type with two pairs of 2 jaws self center independent of each other.

The 4T series is suitable for square bar and other nonuniform shaped
workpieces.

SEMEMRFIE Patent numbers :
&7 : PAT.NO.M359385 (Taiwan)
APE : PAT.NO.ZL200920009309.1(China)

H
Serration Pitch
G1 M BrERE 15
T T
|4 —
T e -
Hl i ‘V_\—ii
L o
G e T o
- \
SRRl
| @
s ¥ +
x/ ||
)
= S
K1 " =&
f _
1 I V=
%ﬁ—&l
L E
B
REBFRRIEDLBIER
Subject to technical changes
FHiIR& SPECIFICATIONS
By mogr e FIEEE  ammaon | BAKEH  BRSESE | BB EBENE | BRAEEES
(BEfX) Chucking Range
Plunger | Jawstroke = A =2\ Max. Clamping Moment of )
— stroke (Dia.) Max. Min. Max. D.B. pull force Max. speed inertia Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) KN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
4T-08 17 13.6 210 24 16.0(1630) 54.3(5540) 3000 0.15 23.2 RD-120(N) 1.7(17)
4T-10 20 16 254 50 21.6(2200) 79.4(8100) 2100 0.35 44.3 RD-125(N) 2.2(22)
4T-12 20 16 304 50 21.6(2200) 79.4(8100) 1500 0.66 57.6 RD-125(N) 2.2(22)
4T-15 25 19.6 381 60 27.2(2780) 105.3(10750) 1200 2.25 118.3 = RD-125(N) 2.7(27)
4MEIR~F DIMENSIONS
Model A B C(H6) D E G max. G min. G1 max. G1 min. H H1 J K
4T-08 210 91 170 133.4 5 32 15 2.5 -14.5 29 20 61 M14x2
4T-10 254 110 220 171.4 5 36.5 16.5 10 -10 36 23 90 M16x2
4T-12 304 110 220 171.4 5 36.5 16.5 10 -10 36 23 90 M16x2
4T-15 381 135 300 235 6 445 19.5 5 -20 45 28 110 M20x2.5
Model K1 L L1 M N P Q max. Q min. R max. R min. S T
4T-08 M34x1.5 4~M2 20 38 95 25 25.25 13.25 46.1 39.3 35 14
4T-10 M45x1.5 = 4~M16 25 43 110 30 32.25 12.75 59 51 40 16
4T-12 M45x1.5 | 4~M16 25 43 110 30 54.75 15.75 59 51 40 16
4T-15 M55x2 4~M20 30 51 130 30 66.5 12.5 78.9 69.1 50 21

25 AUTOGRIP




BAITLE) ] R GA

PULL DOWN POWER CHUCK

SMerEn

3D

o HRIEHIE THMIS MRS EshmEh, T4 L7 RS R,

o SRR EENAREETRIME, TR FLEHE, BRICEHEE AN
RE.

® Radial clamp and axial pull down at the same time, keep the workpiece attaching
close to the base surface of the chuck.
Almost no workpiece uplifting displacement.
The body and the cylinder pull-down mechanism are heat-treated and fine
boring, which guarantee the clamping precision and durableness.

B (ERC) -

-
R

W Airtight pressure detect function is optional.

F
< Ol W T
Q| 8| Q| § T
/
1~J
L 3D-04 3 bolts only
RSN 3D-05 3% iRHe
Subject to technical changes
K T#4% SPECIFICATIONS
5 S mi7i2 TR e = = = — =
1) {=] e 2y =
L BOR @I cmeemgoe | SREANN | BATSH | RE0EN | 8 | EMOEE | BARRED
Plunger | Jawstroke = ®A | & Max. Clamping Moment :
- stroke (Dia) Ma. Min. Max. D.B. pull T Max. speed of inertia Weight Matching cyl. Max. pressure
mm mm mm mm KN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg MPa (kgflcm?)
3D-04 7 5 110 13 6.0(612) 10.5(1070) 3500 0.007 4.5 RK-75 1.6(16.5)
3D-05 7 5 135 21 10.0(1020) 17.0(1730) 3500 0.018 7.9 RK-75 2.7(27.5)
3D-06 10 7.2 165 22 15.0(1530) 25.0(2550) 3500 0.051 15 RK-100 2.1(21.4)
3D-08 10 7.2 210 28 25.0(2550) 45.0(4590) 3000 0.15 26 RK-125 2.2(22.5)
3D-10 15 10.8 254 35 35.0(3569) 60.0(6118) 2500 0.37 46 RK-125 3.1(31.6)
3D-12 15 10.8 304 50 45.0(4590) 75.0(7650) 2000 0.79 70 RK-150 2.8(28.5)
3D-15 20 14.5 381 60 53.9(5500) 90.0(9180) 1500 2.25 132 RK-150 3.4(34.2)
4N RSF DIMENSIONS
Model A B C(H6) D E F G max. | G min. H J Kmax. | Kmin. L L1 M N P
3D-04 110 60 85 70.6 25 20 22 15 25 M10 30 23 3~M10 15 19.5 50 22
3D-05 135 70 110 82.6 30 25 24 17 28 M12 35 28 3~M10 16 245 56 23
3D-06 165 85 140 | 1048 35 36 37 27 32 M16 45 35 6~M10 16 31 70 27
3D-08 210 90 170 1334 45 36 38 28 38 M20 56 46 6~M12 15 41 84 31
3D-10 254 110 220 1714 55 46 47 32 50 M24 65 50 6~M16 24 46 100 38
3D-12 304 125 220 1714 55 50 495 | 345 53 M27 70 55 6~M16 22 51 120 42
3D-15 381 140 300 235 70 55 61 41 55 M30 86 66 6~M20 30 60 165 60
Model Qmax. | Q min. R S T T1 U V (h7) V1 w X Y(H7) Y1 z Z1
3D-04 37 345 M3 25 225 - 3~M6 8 2.5 35 2 8 6 - M10
3D-05 46 43.5 M3 30 275 - 3~M6 8 2.5 44 2 8 6 - M12
3D-06 57.7 54.3 M4 35 35 20 6~M6 10 25 52 7 10 6.5 - M14
3D-08 70.8 67.2 M5 40 45 25 6~M8 16 3 65 10 12 7.5 26 M12
3D-10 85 79.6 M6 50 55 30 6~M8 18 3 75 12 15 7.5 32 M14
3D-12 1019 965 M6 60 70 35 6~M10 20 3 90 12 17 7.5 36 M16
3D-15 135.6 | 128.3 M8 70 95 45 6~M12 24 4 120 13 20 6 40 M16

AUTOGRIP 26

o
s
EJ)
7
x
G}




2D e AL S

PULL DOWN POWER CHUCK

o DIFEEHE THMIS M REmEB AL, FTHR DI T REEEAER,

o EMIMEWERIERARREIF R A, TR LERE, RAKFEER
M AE,

® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.
Almost no workpiece uplifting displacement.
The body and the cylinder pull-down mechanism are heat-treated and fine
boring, which guarantee the clamping precision and durableness.

N RERA (k) -

M Airtight pressure detect function is optional.

o
s
)
7
S
1

= —f S| »p \
T [ )
— T |- o
F G 7 o @ i
| . \ A

&
’@ <
< o|lw T _ —h
[SIISIRSIEN = 1
1 Q o
L ! &
T & T8
LL | u Va o >
E—T— ] Err
/ ] R j
) - _
AL B vV h7
o | z1
> 177 T
<
REBIIEIEELOIER
Subject to technical changes
K #T3E4% SPECIFICATIONS
. =T 772 BiE o = g = || soy=g = '
my  goge | e EEE O aaginn | mAsh  BmEEE 1 EE ERESE | BAGPED
(BERX) Chucking Dia.
(il s stroke Bx Eﬁ,lj\ Max. D.B. pull v, Gl Max. speed M(_)ment i Weight . Max. pressure
Model stroke (Dia.) Max. Min. force inertia Matching cyl.

mm mm mm mm kN (kgf) KN (kgf) min? (r.p.m.) kg * m? kg MPa (kgflcm?)
2D-06 10 7.2 165 22 10.0(1020) 16.7(1700) 3500 0.045 12 RK-100 1.4(14.3)
2D-08 10 7.2 210 28 16.7(1700) 30.0(3060) 3500 0.13 23 RK-125 1.5(15)
2D-10 15 10.8 254 35 23.3(2379) 40.0(4079) 2500 0.34 43 RK-125 2.1(21.1)

4N R~ DIMENSIONS

Model A B C(H6) D E F G max. = G min. H J Kmax. = Kmin. L L1 M N P
2D-06 165 85 140 | 104.8 35 36 37 27 32 M16 45 35 M10 16 31 70 27
2D-08 210 90 170 | 1334 45 36 38 28 38 M20 56 46 M12 15 41 84 31
2D-10 254 110 220 1714 55 46 a7 32 50 M24 65 50 M16 24 46 100 38

Model Qmax. | Qmin. R S T T1 U V (h7) Vi w X Y (H7) Y1 z 71
2D-06 57.7 54.3 M4 35 35 20 4~M6 10 25 52 7 10 6.5 - M14
2D-08 70.8 67.2 M5 40 45 25 4~M8 16 3 65 10 12 7.5 26 M12
2D-10 85 79.6 M6 50 55 30 4~M8 18 3 75 12 15 7.5 32 M14

27 AUTOGRIP



3U

BAIEISHTUE) /1 KR

PULL LOCK POWER CHUCK

=MEh =

o HHEFERIA = M= RE,
o BREFNAERE.
o HEAEANFEEREVHINGS,

Pin-Arbor Draw Down type 3-jaw thru-hole power chuck.

High radial gripping force and high accuracy.

Suitable for heavy machining.

o
s
EJ)
7
x
G}

B W
E ‘ ‘
% 3~P
© ~ ]
\ P zZ
N
<| o SO g et s TS J a
Q| Q Q E|lQl— H 9 N ﬂ
X I @
- i
S A=
%ﬁ%\ 3~X
U:%d
o 0.5
L1 : L
Gttt tonita changes B1
FAHTHEAE SPECIFICATIONS
v ok MOE SRR smsxon ko emEEB | BB SMOEE | BAREEN
— Psl.tlf_zaeer Ja\EvD?:c)ake ;A%ajxc ?7’[{\ Max. D.B. pull | Max. Clamping force | Max. speed 2??::1?; Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) KN (kgf) mint (n.p.m.) | kg - m? kg MPa (kgflcm?)
3U-203 4 2 42 14 5.8(590) 16.7(1700) 10000 0.001 1.8 RK-75(N) 1.6(16)
3U-204 6 3 60 10 10.0(1020) 28.4(2900) 8000 0.005 3.9 RK-75(N) 2.7(27)
3U-205 6 3 84 15 13.9(1420) 39.7(4050) 8000 0.012 6.8 RK-100(N) 2.0(20)
3U-206 10 5 105 24 17.9(1830) 57.8(5900) 7000 0.055 14.7 RK-100(N) 2.6(26)
3U-208 12 6 132 25 25.0(2550) 80.0(8150) 6000 0.14 25.5 RK-125(N) 2.2(22)
3U-210 10 5) 163 34 31.0(3160) 100.0(10100) 4500 0.36 43.5 RK-125(N) 3.1(31)
3U-212 10 5 210 81 35.0(3570) 100.0(10100) 3600 0.68 63.0 RK-125(N) 3.1(31)
4MUR~T DIMENSIONS
Model A B Bl C(H®6) D E F Gmax. = G min. H J K L L1
3U-203 85 54.5 42 70 54 35 25 18 14 22 38 M20x1.5 3~M8 11
3U-204 110 72.5 55 85 70.6 4 30 16 10 24.5 42 M24x1.5 3~M10 12
3U-205 135 84.5 63 110 82.6 4 35 16 10 26 50 M28x1.5 3~M10 15
3U-206 168 118 80 140 104.8 5 45 20 10 31 60 M38x1.5 3~M10 16.5
3U-208 210 137 92 170 133.4 5 52 23 11 31 80 M48x2 3~M12 18
3U-210 254 152 102 220 171.4 5 75 25 15 37 105 M68x2 3~M16 23
3U-212 304 157 102 220 171.4 5 100 25 15 37 135 M92x2 3~M16 26
Model M N P Q max. Q min. R S T U(H6) Vv W max. W min. X
3U-203 12 26 M5 75 6.5 38 15 10 32 35 2 -2 M3
3U-204 17 40 M6 10.75 9.25 46 20 10 38 4 3 -3 M4
3U-205 20 41.5 M8 13.25 11.75 55 24 10 45 5 3 -3 M5
3U-206 30 50 M10 15.75 1325 72 30 17 58 6 5 -5 M5
3U-208 34 63 M12 16.25 13.25 82 35 17 68 6 5 -7 M6
3U-210 39 74 M14 20.75 18.25 107 40 17 93 6 5 -5 M8
3U-212 44 74 M14 44.25 41.75 130 40 17 114 6 5 -5 M10

AUTOGRIP 28



3U-K BAIEISHTUE) /1 KR = Mo

PULL LOCK POWER CHUCK

o EHIEERITE = MAEIEE,

o ERFHREIEE.

o RHBESFEAREEETHINGS

o FAIRAERERA, I ﬁﬁml‘juﬁﬁﬁuﬁ, BERERIHEENENR,

®  Pin-Arbor Draw Down type 3-jaw non-thru-hole power chuck.

®  High radial gripping force and high accuracy.
§ ® Suitable for heavy machining.
8 ® Can work with the airtight detection device to perform axial position confirm,
+ suitable for the precision of large length size process.
x
L]

B W S
E | ‘
I V{W
G =TT
; T T |5 >
<O o T ‘a
Q| Qg
H;Jﬁ
a A
@\ |
g%‘él
L1
B1
REIEEHBER

Subject to technical changes

3R+ SPECIFICATIONS

v mome (OF ERE  swexon  miowsn | BmEER 0 ER SRDEE BAREES
— Pgl;:gg:r Ja\EVD?:())ke ,%Z: ﬁﬂ\ Max. D.B. pull e fgrlsgﬂping Max. speed M?::S;Of Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) | kg m? kg MPa (kgf/cm?)
3U-205K 6 3 84 15 13.9(1420) 39.7(4050) 8000 0.018 6.8 | RL-100, RL-A100N 2.0(20)
3U-206K 10 5 105 | 24 17.9(1830) 57.8(5900) 7000 0.055 | 14.9 | RL-100, RL-A100N 2.5(25)
3U-208K 12 6 132 25 25.0(2550) 80.0(8150) 6000 0.14 25.8 | RL-125, RL-A125N 2.2(22)
3U-210K 10 5 163 34 31.0(3160) 100(10100) 4500 0.36 44.0 | RL-125, RL-A125N 3.1(31)
3U-212K 10 5 210 81 35.0(3570) 100(10100) 3600 0.68 63.8 | RL-125, RL-A125N 3.1(31)
$MUR~T DIMENSIONS
Model A B BL | C(HS6) D E F F1(H8) Gmax. G min. H H1 H2 J K K1 L
3U-205K | 135 845 63 110 H 826 @ 4 35 14 16 10 42 12 - 50 | M25x15 | 22 M10
3U-206K | 168 118 80 140 | 1048 5 45 14 20 10 48 12 30 60 | M28x15 24 | M10
3U-208K | 210 137 92 170 | 1334 5 52 16 23 11 51 15 30 80 M35x1.5 30 M12
3U-210K | 254 152 102 220 | 1714 5 75 16 25 15 51 15 30 105 | M38x1.5 34 | Mi16
3U-212K | 304 157 102 220 | 1714 | 5 100 16 25 15 51 15 30 135 | M45x1.5 40 M16
Model L1 M N P Qmax. | Qmin. R S] T T1 U(H6) \Y Wmax. | W min. X
3U-205K 15 20 41.5 M8 13.25 | 11.75 55 24 25 155 45 5 3 -3 M5
3U-206K 16.5 30 50 M10 | 15.75 | 13.25 72 30 30 26.5 58 6 5) -5 M5
3U-208K 18 34 63 M12 | 16.25 | 13.25 82 35 30 325 68 6 5 -7 M6
3U-210K 23 39 74 M14 20.75 = 18.25 107 40 30 36.5 93 6 5 -5 M8
3U-212K 26 44 74 M14 4425 | 41.75 130 40 30 36.5 114 6 5 -5 M10

29 AUTOGRIP



3E

PSREHIT\ BN /2R R

EXPANSIBLE PULL LOCK POWER CHUCK

=Mepgn

BRARPNERE,
Pl FIBs § TS M Ae i Bl gh ) 8 i, LA B 00 SRRG S ELAE
EREREN, BEEREREMT,
Suitable for internal gripping.

Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.
Almost no workpiece uplifting displacement.
With high precision and stability that chuck suitable for end process.

REBIRAN (R ) -
Airtight pressure detect function is optional.

3E-06~08~10

Soft jaw : typeA

Soft jaw : typeB
RELMBE

REEMAR
3~P
g
Gl g
N\
—
—
REBFARIEDLBIER
S%ubjjt to technical l:hanges
BHIERHE SPECIFICATIONS
2=30 Ve
e | mome | TOE S mERAN)  RAMEN  BEERH 8 EMENE  BAERES
Plunger Jaw stroke = = ; Max. Clamping Moment .
s diroke (Dia.) F&AMax. | &/JWMin. | Max. D.B. pull — Max. speed e Weight Matching cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg ¢ m? kg MPa (kgflcm?)
3E-05 6 3 83 29 13.0(1325) 42.0(4280) 7000 0.018 7.5 RK-100 1.8(18.5)
3E-06 10 5 110 44 18.0(1835) 58.0(5910) 6000 0.042 13.6 RK-100 2.5(25.6)
3E-08 10 5 150 50 25.0(2530) 80.0(8150) 5000 0.14 26.5 RK-125 2.2(22.5)
3E-10 10 5 190 60 35.0(3570) | 100.0(10200) 3600 0.31 39.5 RK-150 2.8(28.5)
4MYR~F DIMENSIONS
© F G G
Model A B B1 (H6) D = (H8) TR T, H J K L L1
3E-05 135 98 72 110 82.6 25 18 18 12 25 M16 M10 15
3E-06 165 112 80 140 104.8 B85 18 22 12 30 M16 M10 16
3E-08 210 135 90 170 1334 40 21 22 12 36 10 M20 M12 18
3E-10 254 152 102 220 171.4 50 25 25 15 48 10 M24 M16 23
Model M N P peA Bigeb C - R s T u v
Qmax. = Qmin. | Qmax. = Qmin. max. min. (p.c.d) (p.c.d)
3E-05 20 25 M6 68 50 83 67 50 29 25 M6x12 110 55 110
3E-06 23 31 M6 90 70 110 89 70 44 40 M6x12 130 76 134
3E-08 30 35 M8 110 90 150 108 90 50 49 M6x12 170 100 170
3E-10 85 40 M10 127 110 190 125 110 60 59 M8x16 210 120 210

Autocrip 30

o
s
EJ)
7
x
G}




- EEhRIBhI = T\ 5E = MiEE
’ 3wl3w C SW|NG:'IF_YPE 3-JAW POWER CHUCK

2N,
U

BiEFEM 2020
TAIWAN EXCELLENCE

= TUREN RS T (BEIROE 3w)

BEEH MR EREMERETIN T,
FRESEAREEETHING S,

PRI REE B, efrE TEEMEF,

BEMSESAII A S MM RREE L RRE, LIRHA ERERS®.
= MUREN A T (B OEEL 3W-C)

IHmOMEEE2mm, ROTEHE(L,

Swing and grasp the workpiece to three jaw. (3W is automatically positioned

to the center type.)

Suitable for such materials as the casting and forging to process.

Suitable for heavy machining.

Seal proof for dust and cutting fluid, it is more convenient when maintenance.

Swing parts are to heat treatment hardened and ground for steel, in order to

improve products service life.

® Swing and grasp the workpiece to three jaw.(3W-C is center compensation
type .)

® The workpieces compensation of eccentric is 2 mm, fixed position for the

center thimble.

o
%
)
7
S
1

OIHEECERE - RBTH IR EZRMMAR - (BEM)

RARMIFER - IMERFF Ol s ST -

Carbide gripper is optional.

* The type of the carbide gripper is selected according to the work-piece conditions.

According to different processing requirements, O.D. Gripping and I.D. Gripping can be interchanged.

58 MA{ Type of the Carbide gripper

Model:ALl Model:AL2 Model:R1

0.2 w508 142 71 M5x0.8 12

i

36 M5x0.8

[HELN

T
7]
165
[ R
Ny
71
165
5
i
212.7

15977 1597.7] 127
4MEF$F 0.D. Gripping PiE3EF 1.D. Gripping B/VEEEEE  Min. Gripping range
55T
. fEfgClearance
7 min. 3(mm)
o | 5B Tgﬁpﬁgj
d Grippin Direction
Direction
/\r 10°
w !
- - RIFRER/
min. 7(mm)

31 AuToGRIP



SWING TYPE 3-JAW POWER CHUCK

M
N
o _I]
T8
H G J/\\’ -
5 = o i
g9 g8 4 E=—TF——FH-. B
AR | — | S @L 7
K ximin. | | \3=Y1 3
G|
F—F—11
3~L
E
L1]
B
REBFARIEEHIER
Subject to technical changes
FT#EH% SPECIFICATIONS
wy  mome OOE USRS RENE SEEXAN  BANEN  REESH | EE  ODREMEH | WEE
Vodel Pgltl"'_g B Ja\e/D?g?ke H:illi\:j: E:ﬁ::if Max. D.B. pull Max.fglr%gwping Max. speed M?ﬁg?{i‘;c’f Weight Matching oy Compensation
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) | kg * m? kg mm
3W-08 14.4 9.8 16~150 76~203 | 25(2550)  85.0(8670) 3700 0.12 23 RK-100(N) -
3W-C08 14.4 9.8 16~150 76~203 | 25(2550)  85.0(8670) 3700 012 | 23 RK-100(N) 2
3W-10 175 125 50~205 85~235  35.3(3600) 105.9(10800) & 2500 0.37  48.6  RK-125(N) -
3W-C10 175 | 125 50~205 85~235 | 35.3(3600) 105.9(10800) = 2500 0.37 | 48.6 RK-125(N) 2
3W-12 175 | 125 63~240 127~305 | 35.3(3600) 105.9(10800) = 2400 0.73 65 RK-125(N) -
3W-C12 175 125 63~240 127~305  35.3(3600) 105.9(10800) & 2400 0.73 65 | RK-125(N) 2
3W-15 225 | 159 76~317 165~381 | 56(5600) 168.2(16800) = 2000 1.81 = 97 | RK-150(N) -
3W-C15 225 | 159 76~317 165~381 | 56(5600) 168.2(16800) = 2000 1.81 = 97 | RK-150(N) 3
4MEIR~t DIMENSIONS
Model A B C (H7) D E F G max. G min. H J K L L1 M M1 N 7 P1 P2
3W-08 210 89 | 170 1334 5 | 34 519|375 40 | 50 M18x25|M12 19 193 56,5 527 16 | 38 | 80
3W-CO8 | 210 89 170 1334 5 | 34 | 519 375 40 50 M18x25 M12 19 193 565 527 16 38 @ 80
3W-10 254 106 | 220 1714 5 | 42 675| 50 48 | 58 M24x3 | M16 24 29 | 60.5 656 17.8 | 44.4 100
3W-C10 | 254 106 220 171.4| 5 42 | 675 50 @ 48 58 M24x3 M16 24 29 60.5 65.6 17.8 44.4 | 100
3W-12 304 106 | 220 1714 5 | 42 675| 50 48 | 58 M24x3 | M16 24 29 | 60.5 656  17.8 | 444 | 100
3W-C12 | 304 106 220 1714 5 42 | 675 50 | 48 58 M24x3 M16 24 29 60.5 65.6 17.8 44.4 | 100
3W-15 381 120 | 300 235 5 | 55 625| 40 46 | 80 M27x3 | M20 30 324 72 743 19 | 635 140
3W-C15 | 381 120 300 235 | 5 | 55 | 625 40 @ 46 @ 80 M27x3 M20 30 324 72 743 19 635 140
Model P3 Q R R1 s T U V(7)) VI | WH?) | Wl XH7) | X1 Y Y1 z z1 z2
3W-08 M12 = 95 269 224 60 @57 2 794 3 | 1268 7 34 35 46 M6 | 32 32 | M10
3W-C08 M12 95 2.69 224 60 | 57 2 794 3 | 1268 7 34 35 46 M6 | 32 32 | M10
3W-10 M12 112 | 403 226 72 70 | 25 | 127 3 | 1903 | 7 | 45 5 60 M8 36 36 MI0
3W-C10 M12 | 112 4.03 226 72 | 70 25 127 3 1903 7 | 45 5 60 M8 36 36  MI10
3wW-12 M12 1325 4.03 226 925 70 | 25 127 | 3 | 1903 7 | 45 5 60 M8 @ 36 @ 36 | MI10
3W-C12 | M12 1325 4.03 226 925 70 25 127 3 | 1903 | 7 | 45 5 60 M8 @ 36 36 MI0
3W-15 M12 @ 172 514 283 121 80 2 127 3 | 1903 7 | 56 3 90 M8 @ 36 | 36 | MI10
3W-C15 M12 172 514 2.83 121 | 80 2 127 3 | 1903 7 56 3 90 M8 @ 36 @ 36 @ MI10

AUTOGRIP 32



3RF i B8 H|| FA 2R 58 = MR
RETRACTABLE-JAW 3-JAW SHAFT CHUCK

o  THMmUEEZELIMm, POTEH EAL, = TUREIFIF L4,

o MUEARAREIMHNIERTETIRMI, B KiEEH L ZEFHRRE,
o EBMHETMAEREITHIEMT, NEPEH, FHEMR DR,

o ERIEIFETEREI(3RF-D),

o ERBNEHME S A/N\A] HOEELE S IEHI(3RF-D),

The workpiece compensation of eccentric is 1mm, fixed position for the center,

swing and grasp the workpiece to three jaw.

® Second machining can be performed without reversing the workpiece, thus
significantly reducing setup time.

®  With compensating jaws clamping, the Rough and precision machining can be

carried out. With sealed design, the maintenance costs can be reduced.

Can be paired with double-rod rotary cylinder (3RF-D type).

The driver pin thrust can be controlled by the pressure of the rotary cylinder

(3RF-D type).

o
s
)
7
S
1

M
M1 S
=
H e [~ | HEEe
T L] =
e
_ = o
(1] /
sffle B8 =
o =
Q k ]j
j J
o 4

2~M10x18dp
3RF FEFIEREA APPLICATION NOTES
- M LINTRIFER
M1 R EMEE, THEROIRS R S
TR, A5EIB IHE SR B IRIR(F.
H 1.Clamping diameter machining
E W—H The compensating jaws are =
G = | Jﬂzﬂ retracted. The workpiece is /| e}
elauieiias H ‘ & TJ = clamped between chuck center Face driver
e | ® - #*\;, o and tailstock center. Additionally, e
8] = . it is driven by the face driver.
o lg——=— s
SRCERE - e 2.48mT
SIFSISIIAESI] / i s |~/
8| |® I 7@7 IR E M EEITH Lo
*70 30 |TR R1 2.Rough machining
K/
g} K2| | K3, Ll‘ J EEBSY With compensating jaws
r T { Driverpin ~ ¢lamping, the rough machining ] SHEES)
! m { can be carried out. Face driver
L/ HE 5 AT =n
~ d WEEMGER, THEROTRSREE e
Z-Mi01Bdp BRI, SRR EEB AT
3RF-D , BTA0 TR ML, 3t T BRI LB
SEARRZ TR NI Z R, A ERED. :B;]Fg;ﬁ; hini = ] |
Note: The dimensions marked [*] are the dimensions of the inside Draw Bar, -Finish machining Face driver
Please don't change it. Additionally, it is driven by the T
face driver. The entire workpiece
1REBHRMEIER IR Subject to technical changes can be machined with precise
concentricity.
TG SPECIFICATIONS
/=20 =
g mome OE KRR amesogn | mxmmn | emoEm | 8 EROEE RBEE
Plunger | Jaw stroke B =2\ Max. clamping Moment of : )
— s (Dia.) Max. Min. Max. D.B. pull o Max. speed i Weight Matching cyl. Compensation
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg * m? kg mm
3RF-08 435 9.4 70 18 39.2(4000) @ 39.2 (4000) 4000 0.15 30 RS-1250 1
3RF-08D 43.5 9.4 70 18 39.2(4000) @ 39.2 (4000) 4000 0.15 30 RDL-130S 1
4MELR<F DIMENSIONS
Model A B C (H6) D E F G max. G min. H J K K1 (H7) | K2 | K3 L L1
3RF-08 210 155 170 133.4 5 68 123 79.5 37 | 58 | M20x2.5 - - - 3~M12 18
3RF-08D 210 155 170 133.4 5 68 98 54.5 50 58 | M36x1.5 40.5 6 24 3~M12 18
Model M M1 N P Q R R1 max. | R1 min. S) T(H7) U \ V1 W X
3RF-08 62 58 78 2.35 62 - - - 40 12 28 16 3 7 M12
3RF-08D 62 58 78 2.35 62 2515) 7 0 40 12 28 16 3 7 M12

33 AUTOGRIP



3R

REBNR(E R = T\ 2kER

SWING COMPENSATING TYPE 3-JAW POWER CHUCK

= MAER

THHROMEE2mm, FOTEH EL, = TR LM,
RARPIKEHE, ERTIEIR, ERE TIFEMER,
BB SHYUSSMMUARERCRRE, URHAERERAS®.

The workpieces compensation of eccentric is 2 mm, fixed position for the

center thimble, swing and grasp the workpiece to three jaw.

maintenance.

improve products service life.

Special seal proof for dust and cutting fluid, it is more convenient when

Swing parts are to heat treatment hardened and ground for steel, in order to

o
s
EJ)
7
x
G}

M
G M1
L e
‘ Ly
HL__ H == =
L (04
H | ° /\f l/
[a) =} Se—
8| 8|8 1 3
-
Ko I S
s L1
A 1/ ﬁ - rR1lls
il 3R-08 fg3xigie
E 3R-10 Only 3 bolts
L B
REBFARIEDLBIER
Subject to technical changes
BHTH% SPECIFICATIONS
p— =
By gogm | MR KBER  umian | BAKEH  REEIRH | BB EREMED RHE
(B Chucking Dia.
Plunger Jaw #mke BA E,IJ\ Max. D.B. pull Max. clamping Max. speed Mémer?t of Weight Compensation
Model stroke (Dia.) Max. Min. force inertia Matching cyl.
mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg * m? kg mm
3R-08 20 8 65 18 19.6(2000) 53.0(5404) 2800 0.15 27 RK-100N 2
3R-10 25 10 90 22 29.4(3000) 67.7(6901) 2500 0.38 45 RK-125N 2
3R-12 25 10.2 110 22 39.4(4000) 88.4(9010) 2000 0.75 72 RK-150N 2
4MY R~} DIMENSIONS
Model A B C (H6) D E F G max. G min. H H1 J K L L1
3R-08 210 105 170 133.4 5 57 26 6 425 36 10.4 | M20x2.5 | 3~M12 20
3R-10 254 115 220 171.4 65 64 36.5 11.5 25 39 15 M20x2.5 | 3~M16 22.5
3R-12 304 130 220 171.4 5 70 25 0 33 45.5 15 M24x3 3~M16 22
Model M M1 P Qmax. = Qmin. R S T (H7) U Y V1 w wi X
3R-08 38 18 82 2 68 64 10 7.7 12 26 16 3 35 7 M12
3R-10 40 19 102 2.6 82 78 10 11.3 15 32 18 8 40 7 M14
3R-12 51 24 125 25 102.5 97.5 10 11.3 17 36 20 3 50 7 M16

AUTOGRIP 34



3J RSB 2R —

FINGER POWER CHUCK

BRI immE s, By Lk TR, S EE THm L,

REFFAEWEAE, I RFARRBIHEZ T,

Gripping at the end face and preventing deformation of workpiece.

Suitable for thin wall workpiece processing.

The gripping compensating mechanism can grasp the irregular surface
workpieces well.

R (Ei) -

W Airtight pressure detect function is optional.

Clamping stroke Rotating Stroke
8IS TTRE 120852

Rotating Angle
G M 6p. BHEAE
3-P 56
©o
P % for 05”,06”
[— 4
e §|
5| AN Jaw isg tion
12 30 ‘ 1 N EMCER) ]
¥ Ry
< —
s|g 6]7,1 —— 198
o LTA ‘
= L1
= -
S 4‘,* %,
3~L
B

10 5
b= 3
s P {8
= (Oh [
34
ESR N L= 2 |
REIEIEELBINER) for 05”,06” for 08”,10”,12”
Subject to technical changes - -
FHiFRE SPECIFICATIONS
= soamzm | DK = FIFEE SR = oy = | v =
] = PN = =
Dy EEER | g ERE SRR BHEANN BARSS  BECEN | ER  EROENE BARAE
Rotating | Claming Jaw's =R | &I Max. Clamping Moment of )
Model stroke stroke | compensation | Max. Min. Vv B, ful force v st inertia WL Matching cyl. ERS, (HESENS
mm mm mm mm mm kN (kgf) kN (kgf) min?t (rp.m.) | kg *m? kg MPa (kgflcm?)
RK-100 OR
3J-05 12 8 2 53 25 7.5(765) 6.0(612) 4000 0.02 11.0 RK-100(N) 1.0(10)
RK-100 OR
3J-06 12 8 2 79 55 9.0(918) 7.5(765) 4000 0.04 12.0 RK-100(N) 1.2(12)
RK-100 OR
3J-08 12 8 2 106 75 18.0(1835) | 16.5(1680) 3500 0.13 23.0 RK-100(N) 2.5(25)
RK-100 OR
3J-10 12 8 25 150 119 | 18.0(1835) | 16.5(1680) 3500 0.30 33.0 RK-100(N) 2.5(25)
RK-100 OR
3J-12 12 8 25 200 169 | 18.0(1835) @ 16.5(1680) 3000 0.56 44.0 RK-100(N) 2.5(25)
4MYR~F DIMENSIONS
Model A B © D F G max. G min. J J1 K
3J-05 135 86 110 82.6 40 75 55 25 9 M12x1.75
3J-06 165 86 140 104.8 45 75 55 28 12 M16x2
3J-08 210 90 170 133.4 56 80 60 38 16 M20x2.5
3J-10 254 95 220 171.4 56 75 55 38 16 M20x2.5
3J-12 304 95 220 171.4 56 75 55 38 16 M20x2.5
Model L L1 M max. M min. N P Q R S T U
3J-05 M10 15 56 36 20 M10 42.5 27 3~M6 50 -
3J-06 M10 15 56 36 20 M10 575 40 3~M8 64 -
3J-08 M12 18 71 51 25 M12 77.5 53.5 6~M8 104 20°
3J-10 M16 24 71 51 25 M12 99.5 75.5 6~M8 140 20°
3J-12 M16 24 71 51 25 M12 124.5 100.5 6~M8 190 20°

35 AuToGRIP



2J

REIEH E) 1K

FINGER POWER CHUCK

ZMhER

BRI imE S, Bk T2, B85 FE THIN T,
RIFHRERAE, AT A RRRE 2 T,

Gripping at the end face and preventing deformation of workpiece.

Suitable for thin wall workpiece processing.

The gripping compensating mechanism can grasp the irregular surface

workpieces well.

DA
@C H7
%]

N REEA (ER) -
M Airtight pressure detect function is optional.
Clamping stroke Rotating Stroke Rotating Angle
8T 12;08 712 —60 WEAE
G M 56
N 2~P
A I for 05”,06”
E! z[ &
PR
Jaw is option S
N EmesR) i )L ﬁ@ elz©
12 1 3 ﬂi T
T &

@20 H7

4

Ah

db
4

o
N

40

@25 H7
213
L
)
NS

EX =2 |

o
s
EJ)
7
x
G}

gﬁﬁﬁiafhﬂgﬁﬂhanges for 05”,06" for 08”,10",12"
R SPECIFICATIONS
=
TR EEGR JOHTR  ERE s BRRKAN  RAKEN  BEEEH 1 ER OEREWS  RAGEES
Rotating | Claming Jaw's ®A | = Max. Clamping Moment of )
Model stroke dtroke | compensation | Max. = Min. A DL oMl force Wi, el inertia et Matching cyl. JLERS [IESENE
mm mm mm mm mm kN (kgf) kN (kgf) min? (rp.m.) | kg * m? kg MPa (kgflcm?)
RK-100 OR
23-05 12 8 2 53 25 5.0(510) 4.0(408) 4000 0.015 9.0 RK-100(N) 0.7(7)
RK-100 OR
2J-06 12 8 2 79 55 6.0(612) 5.0(510) 4000 0.035 9.8 RK-100(N) 0.8(8)
RK-100 OR
23-08 12 8 2 106 | 75 12.0(1224) 11.0(1122) 3500 0.12 20.3 RK-100(N) 1.7(17)
RK-100 OR
2J-10 12 8 25 150 @ 119 @ 12.0(1224) 11.0(1122) 3500 0.28 30.7 RK-100(N) 1.7(17)
RK-100 OR
23-12 12 8 25 200 | 169 @ 12.0(1224) 11.0(1122) 3000 0.52 41.2 RK-100(N) 1.7(17)
4MIR~F DIMENSIONS
Model A B Cc D F G max. G min. J Ji K
2J-05 135 86 110 82.6 40 75 55 25 9 M12x1.75
2J-06 165 86 140 104.8 45 75 5} 28 12 M16x2
2J-08 210 90 170 1334 56 80 60 38 16 M20x2.5
2J-10 254 95 220 171.4 56 75 55! 38 16 M20x2.5
2J-12 304 95 220 171.4 56 75 55 38 16 M20x2.5
Model L L1 M max. M min. N P Q R S T u
23-05 M10 15 56 36 20 M10 42.5 27 4~M6 50 30°
2J-06 M10 15 56 36 20 M10 BT 5 40 4~M8 64 30°
2J-08 M12 18 71 51 25 M12 775 53.5 6~M8 104 50 °
2J-10 M16 24 71 51 25 M12 99.5 75.5 6~M8 140 50 °
2J-12 M16 24 71 51 25 M12 124.5 100.5 6~M8 190 50 °

AUTOGRIP 36



=Mepzm

AFLER=REIKEE (—)

LARGE THRU-HOLE AIR CHUCK

AP

o BREFLERIKE, NERELL BEEMMNT,

o EIIGAG, TERERS, BEELIREHNIRIBIRMNE, AT Y RERER
5%
Large through-hole 3-jaw power chuck with build in air cylinder.
Patented air supply system, it is easy to install and maintain. No abrasion issue of
traditional sealed ring. Maintenance cost and time can be saved.

g = HFERFR Patent numbers :

&) 78 : 20.2011.101.818.4 /20.2012.102.498.5(Germany)

Vi A7k : 3169457 / 3178706 (Japan) / EX% : EP 2517822 B1 (EU)
x AR : ZL 2011 2 0141324.9 /ZL 2012 2 0274549.6 (China)

5 &3 | M440159 / M415011 (Taiwan) / %M : US8770222

B2 (U.S.A.)/ Z&K#H] : 0000278076(ltaly)

60.5

2~RC1/8" ‘ 2~TH3/8"

by

X e
%
./
/
Position for fix screw
ZRE BB HUE
4~26.5

H .
{ ) ; i
L4 Serration PIIC}‘J L
O HEEBE 1.5%60 \
L
425 M Air supply device \\\
p= K HEHE / 6
525 | | )
.G %\ T
. —H -
B o -
Ny T — —ﬁrrL_; o
& n | =
a I < -
5 ) 0 c 8
o
§] —
_H
L
L1 B
REIRBICREIER)
Subject to technical ‘changes AP-A
FHiIR& SPECIFICATIONS
= | = = FHFEE = = e — SRHFER
] ® a s = =
Hlge B TITRRER) Chucking Dia, BAEREH RAKIEH Be s I B2 (EFREE ekgficm?)
— Thru-hole Dia. Ja\EVD?:())ke ﬁa{f ﬁlﬂ\ Max. pressure Max.f(;:zzr:pmg Max. speed M?::S;Of Weight Air Consumption
mm mm mm mm MPa (kgflcm?) kN (kgf) min* (r.p.m.) kg * m? kg lit (at 6kgflcm?)
AP-52 A6 52 5.9 170 15 0.6(6.1) 40.5(4128) 3900 0.2 26 | 30 3.1
AP-66 A6 66 7.6 215 24 0.6(6.1) 50(5097) 3000 0.4 38 45 5.1
AP-86 A8 86 8.9 268 43 0.6(6.1) 80(8156) 2800 0.7 58 72 8.7
AP-115 | A8 115 10.6 330 55 0.6(6.1) 90(9174) 2000 1.7 92 112 12
4N RSF DIMENSIONS
Model A B C D D1 E El F H J K L
AP-52 | A6 235 121 140 170 215 106.38 6.5 19 52 215 58.5 170 2 6~M10
AP-66 | A6 265 134 153 170 245 106.38 6.5 19 66 215 65 215 2 6~M10
AP-86 | A8 315 142 169 220 295 139.72 6.5 27 86 215 67 268 2 6~M10
AP-115 A8 370 154 181 220 350 139.72 6.5 27 115 215 69 330 2 6~M10
Model L1 M N P Q max. Q min. R max. R min. S T U \Y
AP-52 | A6 15 18 37 73 20 212 9.2 38 35.1 31 12 145.5 6~M12
AP-66 | A6 16 18 38 95 25 23.7 8.7 50.2 46.4 35 14 159.5 6~M12
AP-86 | A8 16 24 43 110 30 322 12.7 62.2 57.8 40 16 184.5 6~M16
AP-115 | A8 16 24 51 130 30 44.7 14.7 e 71.7 50 21 212 6~M16

* 4T % AP-A BLZ 1% (The dimensions and the specifications of AP-A type are in red data.)

37 AUTOGRIP




a4 Ar

R RENIKEE ()

LARGE THRU-HOLE AIR CHUCK

=Mepza

/
NS

BAEFLERERE, NERELL B5EMMNT,
REANEF "B IIEH "I, SER R RN B ER, BRI R 2. (REARS

A7E1ER 2018 fE5e)
TAIWAN EXCELLENCE o EHIIRAR, RERRRS, BEMRIREHIRBIENE, AIEHA RENREBR .,
e  Large through-hole 3-jaw power chuck with build in air cylinder.
e With build-in "pressure detection" device in chuck which can check the pressure is lowered
rapidly within the chuck, guarantee to the security of operating.(only for O.D. gripping)
e Patented air supply system, it is easy to install and maintain. No abrasion issue of traditional
sealed ring. Maintenance cost and time can be saved.
= HFERZFIE Patent numbers :
®[E : 20.2011.101.818.4 /20.2012.102.498.5(Germany) /
H7s : 3169457 / 3178706 (Japan) / EXE3 : EP 2517822 B1 (EU) / K : ZL 2011 2
0141324.9 / ZL 2012 2 0274549.6 (China) / &7& : M440159 / M415011 (Taiwan) /
%[ : US8770222 B2 (U.S.A.) / &AF : 0000278076(ltaly)
Position for fix screw
FERERIBHNE
2~RC1/8" 4~265
2~TH5/8"
pressure detection
(0.d clamping only)
ENE(RBAR M)
M  Serration Pitch
[~ HEagE 3.0x60°
Ko
&
U.I;‘ = /'
N A Air supply device
Y [E [ = RN
] I —ar Z u
O
Mi
T
~ R
g E g
O
S E
Q| »
ﬂT\E Q| ®
L1 E1 ‘
B L1 H
REIE R L ‘
Subiject to technical changes AP-A B
FATREME SPECIFICATIONS
e S AR Y7328 TR = = — = TROHFER
Rigk WL (B Chucking Dia. RAERES RATESES BEEEH I B8 (GEFIEEH) bkaficm?)
- Thru-hole Dia. Ja?/D?z'.(;ke ljllliajx( &/)\Win..  Max. pressure Max.f(g:izpmg Max. speed M?rzgi?;m Weight Air Consumption
mm mm mm mm MPa (kgf/cm?) kN (kgf) min? (rp.m.) | kg * m? kg lit(at 6kgf/cm?)
AP-145 | Al1 145 14 420 62 0.6(6.1) 110(11213) 1500 3.8 156 | 182 17.8
AP-185 A15 185 14 460 100 0.6(6.1) 160(16310) 1700 6.0 188 | 223 22
AP-230 A15 230 17 535 170 0.6(6.1) 150(15290) 1300 11.1 | 265 310 34
AP-275 | A20 275 17 580 200 0.6(6.1) 160(16310) 1100 155 | 301 @ 346 39
AP-320 | A20 320 17 658 200 0.6(6.1) 180(18348) 1000 272 | 415 505 45
AP-375 | A20 375 24 738 260 0.6(6.1) 210(21406) 900 442 | 530 545 55
4N R~ DIMENSIONS
Model A B C D D1 E El F G H J K L L1
AP-145 | A11 400 198 231 300 @ 365 |196.87| 8 33 145 34 120 | 420 35 9~M12 | 20 31
AP-185 | A15 460 198 | 238 | 300 | 405 [285.78 8 40 185 44 120 | 460 35 9~-M12 | 20 35
AP-230 | A15 515 226 | 266 | 380 | 483 |285.78 8 40 230 49 145 | 535 3.5 6~M16 | 24 35
AP-275 | A20| 560 | 232 | 272 | 380 | 528 |412.78 8 40 275 52 152 | 580 3.5 6~M16 = 24 35
AP-320 | A20 615 256 | 306 | 520 | 580 |412.78 8 50 320 55 | 1165 658 35 9~M16 | 25 33
AP-375 |A20| 690 | 272 | 322 | 520 | 650 |412.78| 8 50 375 55 127 | 738 3.5 9~M16 = 28 33
Model L2 M N P Qmax. | Qmin. = Rmax. = R min. S T U Y W X Y
AP-145 | A1l | 6~M20 = 63.7 165 = 43 | 535 @ 235 98 91 62 25.5 57° 242 0° 38 20
AP-185 | A15 | 6~M24 | 63.7 165 | 43 | 535 | 235 118 111 62 25.5 58 ° 272 7° 38 20
AP-230 | A15  6~M24 = 71.7 180 | 60 @ 485 @ 185 145 | 136.5 64 25.5 30° 300 7° 33 15
AP-275 | A20 | 6~M24 | 71.7 180 @ 60 485 | 185 | 167.5 @ 159 64 25.5 30° 322 7° 30 12
AP-320 | A20 6~M24 815 210 60 @ 605 245 190 = 1815 74 30 52° 350 7° 27 9
AP-375 | A20 6~M24 | 815 210 | 60 | 665 = 245 2235 2115 74 30 52° 387 7° 27 9

* 4T EEIEE AP-A BLZ T 3% (The dimensions and the specifications of AP-A type are in red data.)

AUTOGRIP 38

o
s
EJ)
7
x
G}




SMepzm

AFLEREREKE ( ZERITIE)

LARGE THRU-HOLE AIR CHUCK (DOUBLE SPEED JAW STROKE)

i ArPs

o BREFEREKE, NEREIL BEEMIMNT,

o REANEE"BIEH"EE, BEIRAIKENERE B, RARIRERE,

o FHIIRAM REWNER S, BEELIREHIRIEHRNE, &4
REERMEIB R,

o REANEE"IRFHER"HE, AEB R R TN RER B ITIEPIF TH, EMEEN
SRR THRIMFTR st 2 8 (RBRARIMERE)

o  WMETITIE, A IFFT R E R,

® Large through-hole 3-jaw power chuck with build in air cylinder.
With build-in"pressure detection"device which can check the rapidly decreasing pressure
within the chuck, guarantee to the security when operating.

® Patented air supply system, it is easy to install and maintain. No abrasion issue of
traditional sealed ring. Maintenance cost and time can be saved.

®  The build-in "clamping detection" device can avoid jaws clamping the workpiece during the rapid
stroke stage. This mechanism can also prevent causing the damage of the internal parts or
flying out of workpiece.(only for O.D. gripping)

®  Extended jaw stroke design can shorten the processing time when gripping.
AR RRITEBRRBIRHEHN ZKFS -
Notice:No clamping in rapid stroke period.

o
s
)
7
S
1

Position for fix screw
X G ZEEERAIIE
‘ 4~6.5
|
D
S TR \ SRR
T Lege Serration Pitch Q g -
gl M S LS o071
- / 2, P /
T Y | t K- ¥ 4 '%?:{'7'\ !
— 1 .;:;7\$\" A
L /RE N Air supply device
ﬁ al ..‘("?S‘ i
B —‘ - S 2 <
1 o)
o @@ AN
~ @
<t I [T
Q o Q| |
Q E [a) ’ ®
Q
@ O @@ g
S I .
* &
c T ©
‘—[—’—LJ;
L L1 —
Rapid stroke
BIRITE
B (_ll_agpjggéroke
5T
T AT
RIETE iei:d
_ |
|
—
REBFRIEIENAIHEF] Subject to technical changes
BHIERHE SPECIFICATIONS
= S MmiT#2 KFFEHE = e = TROHFEE
] =
B B (B) Chucking Dia. BAKSN BECHH : 28 (SEFE2 77 6kgflcm?)
. Jaw stroke = = . . Moment of ; ) .
— Thru-hole Dia. (Dia.) A Max. | &/J\WMin. Max. Clamping force Max. speed e Weight Air Consumption
mm mm mm mm kN (kgf) min?(r.p.m.) kg ¢ m? kg lit(at 6kgf/cm?)
APS-185 185 26 14 460 127 110(11216) 1300 6.45 198 22
4R~ DIMENSIONS
Model A B © D £ F G H J K L L1 M
APS-185 460 221 300 425 8 185 45 124 50 3.5 9~M12 17 63.7
Model N P Q max. Q min. R max. R min. S T U Vv w X Y
APS-185 165 43 37 17 145 125 62 255 58 272 7° 38 30

39 AuTOGRIP




CL EESSE e

COLLET CHUCK

A T 58 M 1 AR B B

BECNCELR, ERH, SUEMAEH I,

BRE, SERKE0IMAARE,

SEPAKERET, B LEIHIAGEN T EEFLEE.

PUSH type collet used mainly on turning, CNC, special purpose machines , ect.
High clamping accuracy, high speed and high rigidity.

Sealed against swarf, chips and coolant.

EECE MR IART S DIN 6343 FREE -
The collet used must accord with DIN 6343.

EHRERFS Patent numbers :
B 7% : PAT.NO.M380842(Taiwan)
APBE : PAT.NO.ZL201020113762.X(China)

L1
E
Lock Screw
L $4[E4208
— &3 . f
AN
A

DA
[%]®
@D
K
aJ

|

|

|
ﬂ

|

]
E
o |
DAL

H| (I
sl TN |
= :
Fi i #3218 SPECIFICATIONS
m | BRI o | BREAAN Rsn | REEME 1 &E | geex | amemm | SR
Model Pslturgizr lefd Hi;?::m Szj?re Max. D.B. pull MaX-fglré;r:ping v giEst x(i):;t?; Weight | Matching steel Matching Cyl. Max. pressure
mm mm mm mm kN (kgf) kN (kgf) mint (r.p.m.) = kg-m? kg celes MPa (kgflcm?)

CL-26 45 | 3~26 | 4~22  4~18 17.6(1800) 37.9(3870) 8000 0.040 4.3 161E TK-A533 2.4(24)
CL-30 45 | 3~30 | 4~26  4~20 19.6(2000) = 42.1(4300) 8000 0.038 4.2 163E TK-A533 2.7(27)
CL-36 6 3~36 | 6~32 6~26 22.5(2300) | 48.5(4950) 6000 0.062 7.0 171E TK-C643 2.3(23)
CL-42 6 3-42 | 6~36  6~29 24.5(2500) | 52.9(5400) 6000 0.060 6.9 173E TK-C643 2.5(25)
CL-52 6 5~52 | 8~45 | 7~36  27.4(2800) | 59.0(6020) 6000 0.101 143 177E TK-A853 2.0(20)
CL-6017 6 5~60 | 8~52 | 7~42 29.4(3000) | 63.7(6500) 5000 0.098 | 14.1 185E TS-866 1.8(18)
CL-6022 6 5~60 | 8~52 | 7~42  29.4(3000) | 63.7(6500) 5000 0.126 | 16.3 185E TS-866 1.8(18)
CL-80 6 | 20~80 18~69 | 15~56 = 34.3(3500) | 71.5(7300) 4000 0.108 17.8 193E TK-A1287  1.6(16)
9NEIR~F DIMENSIONS

Model A Al B C(H6) D E El | Fmax. | Fmin. | G max. | G min H J K max. L L1 M
CL-26 120 | 8 | 100 | 110 826 4 |23 26 3 7 25 | 15 12 M40x15 3~M10x25 16 | 4
CL-30 120 | 8 | 100 @ 110 826 4 23 30 3 7 25 15 | 12 | M40x15 3~M10x25 @ 16 @ 4
CL-36 155 | 100 | 120 | 140 1048 5 23 | 36 3 7 1 175 | 20  MS55x2 | 3~M10x25 18 | 4
CL-42 155 | 100 | 120 | 140 1048 5 23 42 3 7 1 175 | 20  MS55x2 | 3~M10x25 18 @ 4
CL-52 185 = 130 1455 170 1334 5 27 52 5 9 3 24 | 30 @ Me0x2 | 6~M12x30 20 | 5
CL-6017 | 185 130 1455 170 1334 5 |27 60 5 9 3 24 | 45 | M75x2 | 6~M12x30 20 @5
CL-6022 | 234 130 | 142 220 1714 5 |32 60 5 13 7 24 | 45 | M85x2 | 6~M16x30 20 | 5
CL-80 234 | 156 | 163 | 220 1714 5 32 80 20 155 95 | 22 | 45  M100x2 6~M16x30 @20 @5

AUTOGRIP 40



- EESSE e
’ CL-A COLLET CHUCK

A58 M R AR,

EECNCELK, B, E MR,

BEE, BERERE IS,

SEPHKEEET, B LETIRIAEN EEEFLRE,

PUSH type collet used mainly on turning, CNC, special purpose machines , ect.
High clamping accuracy, high speed and high rigidity.

Sealed against swarf, chips and coolant.

& EIERT S DIN 6343 FREE -
M The collet used must accord with DIN 6343.
B ERERFSE Patent numbers :

£ : PAT.NO.M380842(Taiwan)
ABE : PAT.NO.ZL201020113762.X(China)

L1 E
‘ L Lock Screw
:/ #H E 9218
—
7 7304{\ ‘ —
. ] e
S8R == 43
G| H]|
i Il K
4 fJ

IREBRBIB LT B
Subject o technical changes
$1ii#31% SPECIFICATIONS

B3 B e KRR | SN mammn | amEME | BB @EER | BREME | Salh

mm mm mm mm KN (kgf) KN (kgfy  min®(rpm) kgm? | kg collet MPa (kgficm?)

CL-26 A4 45 | 3-26 | 4-22 | 4~18 17.6(1800) 37.9(3870) 8000  0.040 | 4.2 161E TK-A533 | 2.4(24)
CL-30 A4 45  3-30 | 4-26  4-20 19.6(2000) 42.1(4300) 8000  0.038 | 4.1 163E TK-A533 | 2.7(27)
CL-36 A5 6 | 3-36 | 6-32  6-26 22.5(2300) 48.5(4950) 6000  0.058 | 6.3 171E TK-C643 | 2.3(23)
CL42 A5 6 | 3-42 | 6-36  6~29 24.5(2500) 52.9(5400) 6000  0.057 | 6.1 173E TK-C643 | 2.5(25)
CL42 A6 6 | 3-42 | 6-36 | 6-29 24.5(2500) 52.9(5400) 6000  0.061 | 7.5 173E TK-C643 | 2.5(25)
CL52 A6 | 6  5-52  8-45  7-36 | 27.4(2800)  59.0(6020) =~ 6000  0.093 13.8 177E TK-A853 |  2.0(20)
CL60 A6 | 6  5-60 @ 8~52 | 7~42 | 29.4(3000) | 63.7(6500) =~ 5000 | 0.091 13.5 185E TS-866 1.8(18)
CL-60 A8 6  5-60  8-52 | 7-42 | 29.4(3000) 63.7(6500) =~ 5000  0.104 145 185E TS-866 1.8(18)
CL-80 A8 | 6  20-80 18-69  15-56 | 34.3(3500) | 71.5(7300) = 4000  0.120 19.8 193E | TK-A1287 @ 1.6(16)
SR T DIMENSIONS

Model A Al B D D1 E F max. Fmin. | Gmax. | G min. H J K max. L L1 M
CL-26 A4 110 85 | 108 826 6351 25 26 3 9.5 5 15 12 | M40x1.5 | 3-M10x30 15 @ 4
CL-30 A4 110 85 | 108 826 6351 25 30 3 95 5 15 12 | M40x1.5 | 3-M10x30 15 @ 4
CL-36 A5 135 100 | 130 1048 8256 27 36 3 14 8 | 175 |20 MS5x2 | 4-M10x30 @14 @ 4
CL-42 A5 135 100 | 130 1048 8256 27 42 3 14 8 | 175 | 20 MS5x2 | 4-M10x30 14 @ 4
CL-42 A6 165 100 | 130 1334 106.38 32 42 3 15 9 175 20 M60x2 | 4-Mi12x35 16 @ 4
CL52 A6 170 130 & 154 1334 10638 27 52 5 105 45 24 45 M60x2 | 4-M12x35 20 | 5
CL-60 A6 170 130 | 154 1334 106.38 27 60 5 105 | 45 | 24 | 45 M75x2  4-M12x35 20 5
CL-60 A8 210 130 | 147.5 1714 13972 35 60 5 35 | 25 | 24 | 45 M85x2 | 4-M16x40 22 5
CL-80 A8 210 156 | 175 1714 139.72 35 80 20 | 75 15 | 22 45 MI100x2 @ 6-M16x40 22 | 5

4] AUTOGRIP



STEEL COLLET

oD1
oD

|

)

—

L \Z15°

DIN 6343 Collet standard

ERFREE
TREBIRBIEHIER
Subject to technical changes
SN R <) DIMENSIONS
BAREHES e TR
SBME R Max. Chucking Capacity (mm) BEREIIR
e d D D1 L
Collet ik NEM A :
Matching Collet Chuck
Round Hexagom Square
161E 3~26 4~22 4~18 32 45 34 75 CL-26, CL-26A4
163E 3~30 4~26 4~20 35 48 38 80 CL-30, CL-30A4
171E 3~36 6~32 6~26 42 55 42 94 CL-36, CL-36A5
173E 3~42 6~36 6~29 48 60 50 94 CL-42, CL-42A5, CL-42A6
177E 5~52 8~45 7~36 58 70 60 94 CL-52, CL-52A6
185E 5~60 8~52 7~42 66 84 73 110 CL-6017, CL-6022, CL-60A6, CL-60A8
193E 20~80 18~69 15~56 90 107 92 130 CL-80, CL-80A8
AI#ED(S,H) ADIN
L mm
Test Bar D(S,H) Class 1 Class 2
0.5~1.0 3 0.015 0.015
1.0~1.6 6 0.015 0.020
1.6~3.0 10 0.015 0.020
L
3.0~6.0 16 0.015 0.020
6.0~10.0 25 0.015 0.020 :l:{\—
10.0~18.0 40 0.020 0.030 A/“\_J
18.0~24.0 50 0.020 0.030 ; ;
24.0~30.0 60 0.020 0.030
I
30.0~50.0 80 0.030 0.040 %)
50.0~60.0 100 0.030 0.040 o

i —RAER KEES DIN Z4R
Note: Collets chuck are conformed to DIN 6343 Class2.

AUTOGRIP 49



- BT E R TR ANED
’ CBI CB-A DRAWJL;:ACK COLLET CHUCK

BECNCERK - BER% - stEMEHEN - FEMSLOESMIA -

BIRE - BEEMRGHREEMBENE - EBAK -

SiEE  SEERSHIMLES -

EHEHKERET - BILEUIEIAKEA TEEAE -

Ideal for CNC lathes, specialized machines, and turning equipment for bar

stock or shaft machining.

® Draw-back clamping with radial clamping and axial fine-tuning torque,
featuring through-hole.

® Offers high precision, speed, and rigidity.

® Features a comprehensive waterproof design to prevent cutting fluid from

entering the spindle through-hole.

J EREEIZEARERHBET IS -

K max BREABEIERHBT 7HEARE  ARERTKETH -
J is the hole diameter of blank draw nut.

K is the maximum thread specification and it could be customize.

CB- &R A _
CB type Clamping method onmnf -
7,@1} _
B
Radial clamping
P P -
s g ;E“ s/ 8 g E 5 ] 8 s g S
L
G L
: 7
95%355}, I{L‘H‘ﬁ{%fﬁﬂé#ﬁﬁ?ﬂ?fﬁ%c E1 (N
During clamping, the workpiece
shifts slightly backward along with M
the collet.
B
RAREEURRR B
Subject to technical changes CB—A CB
$i i #31& SPECIFICATIONS
w3 B Max%ﬁﬁf’gﬁg? iy | BEERAAN | BAKE)  REESH EE | EREK | AREST  SARRE)
Model Psltl:ZE:r ijd H;:(Tg?m SZ:’:IE'E M Bl Max.fglril;‘lplng Max. speed | Weight | Matching steel Matching Cyl. %6 (TP
mm mm mm mm kN (kgf) kN (kgf) min* (r.p.m.) kg Coller MPa (kgflcm?)
CB-42 4.5 4~42 7~36 7~30 | 34.3(3500) 78.4(8000) 7000 6.5 RG-42 TK-B846 2.8(28)
CB-42 A5 4.5 4~42 7~36 7~30 | 34.3(3500) 78.4(8000) 7000 6.2 RG-42 TK-B846 2.8(28)
CB-42 A6 4.5 4~42 7~36 7~30 | 34.3(3500) 78.4(8000) 7000 7.4 RG-42 TK-B846 2.8(28)
CB-52 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 6 RG-52 TK-A853 3.2(32)
CB-5217 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 9.6 RG-52 TK-A853 3.2(32)
CB-52 A5 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 6.5 RG-52 TK-A853 3.2(32)
CB-52 A6 4.5 4~52 7~36 7~45 | 39.2(4000) 92.1(9400) 7000 7.8 RG-52 TK-A853 3.2(32)
CB-65 4.5 4~65 8~56 8~46 | 44.1(4500) 103(10500) 5500 15 RG-65 TS-866 3.0(30)
CB-65 A6 4.5 4~65 8~56 8~46 | 44.1(4500) 103(10500) 5500 13.6 RG-65 TS-866 3.0(30)
CB-65 A8 4.5 4~65 8~56 8~46 | 44.1(4500) 103(10500) 5500 17.6 RG-65 TS-866 3.0(30)
CB-80 4.5 5~80 8~68 8~56 | 50.0(5100) 115(11730) 5500 19 RG-80 TK-A1287 2.3(23)
CB-80 ‘ A8 4.5 5~80 8~68 8~56 | 50.0(5100) 115(11730) 5500 19 RG-80 TK-A1287 2.3(23)
SMEUR <) DIMENSIONS
Model A Al A2 B C(H6) D D1 E El F Gmax.  Gmin.| H J K max. L L1 M N
CB-42 150 | 125 102 81.5 | 140 104.8 - 5] 31 | 43 | 105 6 175 30  M55x2 3~M10x25 11 | 60 @ 4~M8
CB-42 A5 | 140 125 102 915 - 104.8 8256 | - 415 43 255 | 21 175 30 M55x2 | 4~M10x25 12 70 | 4~M8
CB-42 A6 165 | 125 102 915 - 133.4 106.38 - | 45 | 43 29 | 245 175 30  M55x2 | 4~M12x35 18 | 73.5 4~M8
CB-52 150 | 125 102 83.5 | 140 104.8 - 5 315 53 11 6.5 175 30 M60x2  4~M10x25 16 62.5 4~M8
CB-5217 180 125 102 87 | 170 1334 - 5| 35 | 53 | 145 10 17.5) 30 | M60x2 | 4~M12x30 | 18 | 66 | 4~M8
CB-52 A5 | 140 125 102 | 935 - 104.8 8256 - | 415]| 53 26 | 215 175 30 M60x2  4~M10x30 16 |72.5 4~M8
CB-52 A6 165 | 125 | 102 @ 99 - 133.4 1106.38| - 47 | 53 | 315 | 27 175| 30 M60x2 | 6~M12x35 |18 78 | 4~M8
CB-65 185 | 145 120 100 § 170 1334 - 6 50 | 66 | 135 9 215 32 M75x2 6~M12x40 20  73.5 4~M8
CB-65 A6 165 145 120 111 - 1334 106.38 - | 61 | 66 | 305 26 215 32 M75x2  4~M12x40 20 84.5| 4~M8
CB-65 A8 | 207 § 145 120 | 107 - 1714 139.72 - | 57 | 66 | 26,5 22 215 32 M75x2 4~M16x40 24 80.5| 4~M8
CB-80 235 | 175 | 150 112 | 220 171.4 - 5| 37 /825 135 8 25 | 45  M85x2 | 6~M16x30 | 22 | 87 | 6~M10
CB-80 ‘A8 210 | 175 150 | 125 - 1714 139.72 - | 50 |825 265 21 25 | 45  M85x2 | 6~M16x50 | 24 100 | 6~M10

43 AUTOGRIP



BHEMU

BAIE N TR B 2285 R

END STOP COLLET CHUCK

BREMRS  REEREEE  BEnisEuouENE - JiBgEEl
THANRE - FREBELEHISEMEZE -
ERFENNEBENRZEFETHRESHELHFER -
ERIREER O D REEFER - EREBINEE T LIFRE -

The pull-back positioning clamping, combined with the workpiece stop block
mechanism, features radial clamping and axial fine-tuning torque, enabling
precise positioning of the workpiece feeding length for enhanced length
accuracy control.

The blocking block and dust cover can be swapped for versatile use and chip
protection.

J ERBEEREARERET SR -

K max EREFBIEEREZF 7 & ARE - alikE
J is the hole diameter of blank draw nut.

K'is the maximum thread specification and it could be customize.

AJ CBE/CBE-A

5% =

RFBKET R -

CBE-f&3ese /5=

Block
CBE-type Clamping method |\:|12 Block set

Block
MEeg M12 Block set
MI12iE kR E S

CLse
M12iE kR R E AL

makE rr30l
Radial clamping \
Y/ swonimdepnenen |
-1 H J" o - % —
5|8 8 £ s HIIOHE=— 88| g 88k 3
TRARIISAE, B, THR 8% 3 —t KR
(75, RE B LSRR,
/ o
;r;ﬁ‘tat;::c’kwea\r,:’idu?ingclamping, M L1 E1 | AR  REMRE
e o the surfare. et seuf I Sadantet, I\ | S,
REBRIBELRIER 2
Subject to technical changes CBE-A CBE
1113318 SPECIFICATIONS
ik EETE | o i) | BREAAN | RAKEN | REESN  EE | @AEK | ARERE | RARBED
- Flanger | o H/e\fg?m S| Max DB pul | MACCAMPING o speed | weight Matching steel  yatching cyl, M Pressure
mm mm mm mm kN (kgf) kN (kgf) min? (r.p.m.) kg MPa (kgflcm?)
CBE-42 45 | 4~42 7-36 | 7-30 34.3(3500) & 78.4(8000) 7000 6 RG-42 TK-B846 2.8(28)
CBE-4212 45 | 4~42 7-36 | 7~30  34.3(3500) | 78.4(8000) = 7000 6 RG-42 TK-B846 2.8(28)
CBE-42 |A5 45  4-42 | 7-36 7-30 | 34.3(3500) 78.4(8000) 7000 6.3 RG-42 TK-B846 2.8(28)
CBE-42 |A6 45  4~42 | 7~36 7~30 | 34.3(3500) 78.4(8000) & 7000 7.4 RG-42 TK-B846 2.8(28)
CBE-52 45 | 4~52 7-36 | 7-30  39.2(4000) & 92.1(9400) 7000 6.9 RG-52 TK-A853 3.2(32)
CBE-5212 45 | 4~52 7-36 | 7-30  39.2(4000) | 92.1(9400) = 7000 6.7 RG-52 TK-A853 3.2(32)
CBE-5217 45 | 4~52 7-36 | 7-30  39.2(4000) & 92.1(9400) 7000 8.9 RG-52 TK-A853 3.2(32)
CBE-52 |A5 45  4~52 | 7-36 7-30 | 39.2(4000) 92.1(9400) = 7000 78 RG-52 TK-A853 3.2(32)
CBE-52 |A6 45  4~52 | 7-36 7-30 | 39.2(4000)  92.1(9400) 7000 8.3 RG-52 TK-A853 3.2(32)
CBE-65 45 | 4~65 8-56 @ 8-46  44.1(4500) | 103(10500) = 6000 8.6 RG-65 TS-866 3.0(30)
CBE-6514 45 | 4~65 8-56 | 8~46  44.1(4500) & 103(10500) 6000 9.3 RG-65 TS-866 3.0(30)
CBE-65 |A5 45  4~65 8-56  8~46  44.1(4500) @ 103(10500) | 6000  10.8  RG-65 TS-866 3.0(30)
CBE-65 (A6 45  4~65 | 8~56 8~46 | 44.1(4500) 103(10500) 6000 95 RG-65 TS-866 3.0(30)
CBE-65 |A8 45  4~65 8-~56 8~46 | 44.1(4500) 103(10500) = 6000 95 RG-65 TS-866 3.0(30)
SNEYR S DIMENSIONS
Model A Al A2 B C (H6) D D1 E E1l F G max. G min. H J K max. L L1 M
CBE-42 150 132 100 @ 95 140 1048 - 5 20 48 55 1 | 17 45 MS55x2 | 4~M10x25 19.5| 58
CBE-4212 132 132 100 95 120 100 - 5 - | 48 55 1 | 17 45 MS55x2 | 4~M10x25 19.5 58
CBE-42 A5 132 | 132 100 105 @ - |1048 8256 - - | 48 205 16 17 45 M55x2 4~M10x30 16 | 68
CBE-42 A6 160 | 132 100 105 @ - | 1334 10638 - 35| 48 205 16 17 45 M55x2  4-M12x35 18 | 68
CBE-52 150 140 107 @ 99 140 1048 - 5 - 52 55 1 | 17 56 M60x2 | 4~M10x20 145 60
CBE-5212 140 140 107 @ 99 120 100 - 5 - 52 55 1 | 17 56 M60x2 K 4~M10x20 14.5 60
CBE-5217 180 140 107 | 109 170 1334 - 6 - | 52 145 10 17 56 M60x2 | 4~M12x30 18 | 70
CBE-52 A5 140 | 140 107 109 @ - | 1048 8256 - - | 52 205 16 17 56 M6Ox2  4~M10x30 16 | 70
CBE-52 A6 160 | 140 107 109 @ - |133.4 10637 - - | 52 205 16 17 56 M6Ox2 4~M12x35 18 | 70
CBE-65 180 157 122 | 114 170 1334 - | 6 | 24 56 | 15 | 105 | 17.5 68  M75x2 | 4~M12x30 | 18 @ 72
CBE-6514 157 157 122 @ 116 140 1048 - 6 - 56 17 125 175 68  M75x2 | 4~M10x30 18 | 74
CBE-65 A5 157 | 157 122 | 114 - | 1048 8256 - - 56 | 21 | 165 175 68 M75x2  4~M10x25 | 16 | 72
CBE-65 A6 157 | 157 122 112 @ - |1334 10638 - - | 56 19 | 145 175 68 M75x2 4~M12x35 18.5| 70
CBE-65 A8 202 | 157 122 116 @ - |171.4 13972 - 38 56 23 185 175 68 M75x2 4~M16x35 24 | 74

AUTOGRIP 44



- A PIEEENIZBEHIRAIE ATREfR
’ CBDI CBD=-A (i (enormcoLier cruck

o IR BEEREEE  BREFEEASBM - oEEEUTIHA
BEE  FREFELEHIENEE - ‘

o HECAUTOGRIPZEBE N - A8 EL—MEME G THEIRHENEBER -
ol THRERDE - ) -

o HERRAMEZIEMERER BARMENBINEILURE  E5E
FEheHF - olp /DI RIRIB NIRS -

®  The push-forward clamping, combined with a stop block mechanism, features
radial clamping with zero radial displacement, enabling precise positioning of
the workpiece feeding length for improved length accuracy control.

® AUTOGRIP rubber tube clamping eliminates forward pushing, minimizing
surface damage.

® Interchangeable workpiece stopper and dust cover enable through-hole
applications and chip protection, suitable for sub-spindle clamping, reducing
tension and compression.

JERBEIEEARERBFRAAK -
K max EREFBIBE ) BRET ZHEARE - AIKERBKRIH -

J is the hole diameter of blank draw nut.
K is the maximum thread specification and it could be customize.

CBD-E%&HkHFHFHN _ j
CBD-type Clamping method T p—
]‘7'30"3% G
HEEHR N
BLOCK / ‘ VAT g
/ Radial clamping —
/ . E Nl
<ol 3| & g £ <| o] o] & g g g
S| 8| 8 E s 8 8| 8 & E| ® ] — 8 8
‘ L1 |
RERF, THAEEFIBE, B! /
When clamping, the workpiece does
not shift forward. L El
M
B B
REREERRT CBD-A CBD

Subject to technical changes

1T #3148 SPECIFICATIONS

ny EETR | o S gy | BRRAAN | RAKEN)  REESH | EE | EAEK | EREET | SAEHE?
mm mm mm mm kN (kgf) kN (kgf) min™ (r.p.m.) kg MPa (kgf/cm?)
CBD-52 4.5 4~52 7~36 7~45 | 39.2(4000) | 92.1(9400) 7000 7.3 RG-52 TK-A853 3.0(30)
CBD-5212 4.5 4~52 7~36 7~45 39.2(4000) 92.1(9400) 7000 7.1 RG-52 TK-A853 3.0(30)
CBD-5217 4.5 4~52 7~36 7~45 | 39.2(4000) | 92.1(9400) 7000 10.9 RG-52 TK-A853 3.0(30)
CBD-52 A5 4.5 4~52 7~36 7~45 = 39.2(4000) = 92.1(9400) 7000 7.8 RG-52 TK-A853 3.0(30)
CBD-52 A6 4.5 4~52 7~36 7~45 | 39.2(4000) | 92.1(9400) 7000 9.1 RG-52 TK-A853 3.0(30)
CBD-65 4.5 4~65 8~56 8~46 44.1(4500) | 103(10500) 6000 8.6 RG-65 TS-866 2.7(27)
CBD-6514 4.5 4~65 8~56 8~46 = 44.1(4500) @ 103(10500) 6000 9.3 RG-65 TS-866 2.7(27)
CBD-65 A5 4.5 4~65 8~56 8~46 = 44.1(4500) @ 103(10500) 6000 10.8 RG-65 TS-866 2.7(27)
CBD-65 A6 4.5 4~65 8~56 8~46 44.1(4500) | 103(10500) 6000 9.5 RG-65 TS-866 2.7(27)
CBD-65 A8 4.5 4~65 8~56 8~46 = 44.1(4500) @ 103(10500) 6000 915 RG-65 TS-866 2.7(27)
SMUR ST DIMENSIONS
Model A Al A2 B C (H6) D D1 E El F |G max. G min. H J K max. L L1 M
CBD-52 150 | 140 @ 116 99 140 | 104.8 - 5 - 52 7 2.5 17 | 56  M60x2 | 4~M10x20 14.5 57
CBD-5212 140 | 140 @ 116 99 120 100 - b) - 52 7 2.5 17 56  M60x2 | 4~M10x20 14.5 57
CBD-5217 180 | 140 | 116 &= 109 @ 170 | 1334 - 6 - 52 16 115 17 56| M60x2 | 4~M12x30 | 18 | 67
CBD-52 (A5 | 140 140 @116 | 109 - 104.8 | 8256 @ - - 52 22 175 | 17 56 M60x2 | 4~M10x30 16 @ 67
CBD-52 (A6 | 160 140 116 | 109 - 133.4 106.38 | - - 52 22 | 175 | 17 |56 M60x2 | 4~M12x35 18 @67
CBD-65 180 |« 157 | 132 112 @ 170 1334 - 6 24 54 155 11 | 175 68 M75x2 | 4-M12x30 | 18 | 70
CBD-6514 157 | 157 | 132 | 114 140 | 104.8 - 6 - 54 | 175 | 13 | 175 68 M75x2 | 4~M10x30 18 | 72
CBD-65 |A5 | 157 | 157 | 132 | 112 - 104.8 8256 | - - 54 | 215 17 | 175 68 M75x2 | 4~M10x25 16 | 70
CBD-65 (A6 157 | 157 132 | 110 - 133.4 106.38 | - - 54 195 15 175 68 M75x2 | 4~-M12x35 |18.5| 68
CBD-65 A8 | 202 | 157 132 | 114 - 171.4 | 139.72 - 38 54 | 235 19 | 175 68 M75x2 | 4~M16x35 24 | 72

45 AUTOGRIP



’ SCB U E B AIF AR ER UEX

STATIONARY DRAW COLLET CHUCK

BE R BRI IR O

EfREREEER,

FEERIMEEC I TR,

RRAS, #E EEEERPETMNI.

FEECRGRBIR B A, HUE RS B HRE,

RAANSECE BR B0 h B AR M A AR,

Build-in cylinder, ideal for drilling machines, milling machines and machining

centers

®  Work with AUTOGRIP's rubber collet(RG series), quick change and saving
runtime.

® Two modes for the media supply: side-supply mode or baseplate-supply

mode.

dQ

DA
@D
OF
ac
N

DAL

E % ”

2-OE N B i —

m\ Unclamp Clamp
Frtheh/ -
| |

"

~M

‘ B N &
2~M Eshsasmd, / |G \ H \ Unclamp Clamp
Baseplate T R o
Pressure Port B 2~RC1/4" RliE4a AL
Side Pressure Port
R ISR R
Subject to technical changes
$1ii#1% SPECIFICATIONS
PR BASIFHES o - - - -
- M REE) o G e BATHS 8 R BAREFES
= E AR =
Jaw stroke(Dia.) N Max. clamping force Weight Max. pressure
Round Hexagom Square Matching steel collet
Model mm mm mm mm kN (kgf) kg MPa (kgflcm?)
SCB-52 +0.5 4~52 7~45 7~36 80(8150) 8.6 RG-52 4.0(40)
SCB-65 +0.5 4~65 8~56 8~46 105(10700) 10.2 RG-65 4.2(42)
SN R T DIMENSIONS
Model A (g6) Al B c D D1 E F G H
SCB-52 175 110 84.5 25 152 95 7 53 245 17
SCB-65 192 130 94 30 169 114 9 66 26.5 20
Model J K L L1 M N P Q R S
SCB-52 10 515 4~M10 12 4.2 P7 3~M6x12 160 42 69.5
SCB-65 10 61.5 4~M10 12.5 4.2 P7 3~M6x12 175 50 7

AUTOGRIP 46



RG 1% B & 2 18 B

RUBBER GRIP COLLET

IR AT BRI TR ST RY R JE 3R,

FlEE e B8 IIFRFYE, BB B RE T,

BFREBHBEIH.

BEE—HEIHRY,

BB — IR IR EE E BT E £0.5mm,

ERIRE TS

RhEERA B 5% 5t o

Rubber grip collet for push type or draw type collet chucks.

Full griping area: high rigidity, more gripping force.

Gripping smoothly: prevent to damage the workpiece.

® More accurate than standard spring collets. Accuracy:
With customized rubber grip collet.

®  Grip Range: £0.5mm.

®  Quick change and easy.

®  Dust-proof and swarf-proof design.

k=) L | [a)] he] _ [a)]
Q Q Q Q
goog
: =1
15 15
L L
RIS IS T
Subject to technical changes RG_RT RG_R
Fi i #31& SPECIFICATIONS
o BRARFSEES o o g 5
B Max. Chucking Capacity d o . B RSTIR
Model Lz lraun Matching Collect Chuck
mm
RG-42R 4~42 54 79.3 42 CB-42, CBE-42
RG-42RT 11~42 54 79.3 42 CB-42, CBE-42
RG-52R 4~52 66 79.3 46 CB-52, CBD-52, CBE-52, SCB-52
RG-52RT 11~52 66 79.3 46 CB-52, CBD-52, CBE-52, SCB-52
RG-65R 4~65 80 99.5 53 CB-65, CBD-65, CBE-65, SCB-65
RG-65RT 11~65 80 99.5 53 CB-65, CBD-65, CBE-65, SCB-65
H#E D(S,H) L ADIN
L Test Bar D(S,H) mm Class1 Class2
3.0~6.0 16 0.015 0.020
6.0~10.0 25 0.015 0.020
10.0~18.0 40 0.020 0.030
- - = 18.0~24.0 50 0.020 0.030
e 24.0~30.0 60 0.020 0.030
30.0~50.0 80 0.030 0.040
- 50.0~60.0 100 0.030 0.040

1 —MABKIBES DIN 2k

i 2 KRB ERE DIN —RA%%E

Notel : Collets chuck are conformed to DIN 6343 Class2.

Note2 : AUTOGRIP's rubber grip collets are conformed to DIN 6343 Class1.

47 AUTOGRIP



MFRER

REIEEE YL

EXPANDING COLLET CHUCK

A crp

BAXARB UG RREBSCNCER - EAK - sStEMIEHIE -
BRTIHNERE  SEEIFIEE -

—IREBHRRET - WIFIBE

JUBRALERET - BAEAL

RBENE I E B RIBZRITE -

SEE  SEERSHIMES -

EERE M R (ECP type)fEfd -

AERERTER0.6mMm - KiFIEE0.015 -

The pull-back expanding collet chuck is suitable for CNC lathes, special-purpose
machines, or other turning machinery.

Designed for I.D. clamping of workpieces, ensur-

ing stable clamping at high speeds.

Integrated dual-cone design, stable clamping.

Countersunk hole design, suitable for blind holes.

All sliding surfaces are hardened and precision-ground.

High precision, high speed, and rigid structure

Compatible with elastic collets (ECP type).

Internal clamping diameter travel is 0.6mm.

Clamping accuracy is 0.015mm.

|
Ho
|
H
/L&
L

C E
B
REBBEER R
Subject to technical changes
K17 #R1& SPECIFICATIONS
I = AT i o — " — -
Rg BB o oodking copacty FHFEAND BEEHH & ERER | EREHE  BARRES
Plunger stroke [El#%Round Max. D.B. pull Max. speed Weight Matching steel Max. pressure
Model 1 I Matching Cyl. 2
mm mm kN (kgf) min” (r.p.m.) kg collet MPa (kgffcm’)
CEP-40 2 40~51 17.7(1800) 5000 1.0 ECP RK-100 2.5(25.7)
HMUR <) DIMENSIONS
Model A(h6) B C D E F G H J L L1
CEP-40 75 110.5 20 26.3 45 M10x1.5 30.5 58 3~M8 3~M8x25 14

AUTOGRIP 48



ECP AT
EXPANDING GRIP COLLET

o EBRASREIILHE -
® Designed for Expanding Collet Chuck.

o
Q
L
REBREIERAER
Subject to technical changes
= yrs
wieET oS BENE IR
) Max. Chucking Capacity (mm)
RISk D L
. Ei% Matching Collet Chuck
Grip Collet Model R 9

ECP540 40~40.6 40 45 CEP-40
ECP541 41~41.6 41 45 CEP-40
ECP542 42~42.6 42 45 CEP-40
ECP543 43~43.6 43 45 CEP-40
ECP544 44~44.6 44 45 CEP-40
ECP545 45~45.6 45 45 CEP-40
ECP546 46~46.6 46 45 CEP-40
ECP547 47~47.6 47 45 CEP-40
ECP548 48~48.6 48 45 CEP-40
ECP549 49~49.6 49 45 CEP-40
ECP550 50~50.6 50 45 CEP-40
ECP551 Eil=FLE 51 45 CEP-40

EC554 54~54.9 54 50 CEP-40

ECB555 55~65.9 55 50 CEP-40

0.015 TIR

RR /

Ring gage

49 AUTOGRIP



== 17 BT KRR

STATIONARY CHUCK WITH THRU-HOLE

o VUENPEENNRE  BEERK - HARILIIEI R OKER
BIME=MNMELH -
VH2-22002Y 50 o 7 B GR AR A& K~ R B 2H- 28U ARG -
VH2-32002Y 50 o 7 BRGR AR A& B~ R BA3H-2BY ARG -

® Stationary Chuck with two or three jaws for drilling, milling and other

VH

machines.

® Specification and size of matching chuck for model VH2-2200 is the same
as model 2H-2.

® Specification and size of matching chuck for model VH2-3200 is the same
as model 3H-2.

L Hriggh
i Serration 1.5
i
L=
5]
hva
1 B
B pa
VH2-3204,VH2-3205 VH2-2204,VH2-2205
{£32 924 0nly 3 bolts | #4282420nly 4 bolts |
REFBIEREIER] K
Subject to technical changes
FHT#RHE SPECIFICATIONS
itk JEZEEFEES. Piston area TITRER) RAERES s
- $H{8lExtend fifilRetract Jaw stroke(Dia.) Max. pressure Weight
cm? cm? mm MPa(kgf/cm?) kg
VH2-2204 52.4 46.7 5.5 2.0 (20) 9.5
VH2-3204 52.4 46.7 OI5) 3.0 (30) 9.5
VH2-2205 63.7 57.9 5.5 2.0 (20) 131
VH2-3205 63.7 57.9 5.5 3.0 (30) 12.6
VH2-2206 971 88.5 6.0 1.8 (17.9) 21.5
VH2-3206 971 88.5 6.0 2.7 (26.8) 21.5
VH2-2208 128.9 113.6 7.6 2.1(20.7) 329
VH2-3208 128.9 113.6 7.6 2.9 (28.6) 33.4
VH2-2210 189.2 174.3 8.9 1.9(19.2) 55
VH2-3210 189.2 174.3 8.9 2.9(28.7) 59
4MERSF DIMENSIONS
Model A B c D(H7) E F @ H J K L M N P Q
VH2-2204 113 155 137 50 5 27 23 34 59 122.5 12 9 26 62 RC1/4
VH2-3204 113 155 137 50 5 27 23 34 59 122.5 12 9 26 62 RC1/4
VH2-2205 138 168 150 60 5 32 23 34 60 125 12 9 26 62 RC1/4
VH2-3205 138 168 150 60 5 32 23 34 60 125 12 9 26 62 RC1/4
VH2-2206 170 194 176 80 5 45 25 36 81 143 14 11 26 62 RC1/4
VH2-3206 170 194 176 80 5 45 25 36 81 143 14 11 26 62 RC1/4
VH2-2208 210 217 195 80 5 55 29 44 91 160 14 135 30 75 RC3/8
VH2-3208 210 217 195 80 5 55 29 44 91 160 14 13.5 30 75 RC3/8
VH2-2210 260 266 246 100 6 76 32 47 102 192 17 135 30 75 RC3/8
VH2-3210 260 266 246 100 6 76 32 47 102 192 17 13.5 30 75 RC3/8

AUTOGRIP 50



VP REIIE KA G
STATIONARY CHUCK
o VUEBXPEHNNKE FESER - SHRIIVEIFOEER - BME=MN
miEf -
VP-2008 = FBC ¥ 7 R ARAS R~ A 2PEIT(ARE -
VP-300Z = FBC ¥ 7 RBRARAS K~ A B3PEIZLARE -
Stationary Chuck with two or three jaws for drilling, milling and other
machines.
® Specification and size of matching chuck for model VP-200 is the same as
model 2P.
® Specification and size of matching chuck for model VP-300 is the same as
model 3P.
= B
{ |
= lISSS |
B | g -
;t g 88 I # — <
AN
L} E L T ‘Q;
T
I
FIGH VP-304 Only 3 bolts 15°
1 J VP-305 fE3% 142
K
REBIRIEHEINER
Subject to technical changes
R T#E4% SPECIFICATIONS
S JEEEETRES. Piston area TIT(ER) RAERESN 58
o $8{8lExtend fifilRetract Jaw stroke(Dia.) Max. pressure Weight
cm? cm? mm MPa(kgf/cm?) kg
VP-204 28.0 24.9 6.4 2.1(21) 71
VP-304 28.0 249 6.4 3.2(32) 7.4
VP-205 28.0 24.9 6.4 2.2(22) 10.2
VP-305 28.0 24.9 6.4 3.3(33) 10.6
VP-206 63.1 53.5 8.5 2.3(23) 18.3
VP-306 63.1 53.5 8.5 3.4(34) 19.8
VP-208 103.4 90.8 8.8 1.9(19) 31.6
VP-308 103.4 90.8 8.8 2.8(28) 33.6
VP-210 153.1 133.5 8.8 1.5(15) 52.8
VP-310 153.1 133.5 8.8 2.2(22) 54.5
4MUR~T DIMENSIONS
Model A B c D(H8) E F G H J K L M
VP-204 110 146 130 30 45 12 18 2 52 92 9 RC1/4
VP-304 110 146 130 30 45 12 18 2 52 92 9 RC1/4
VP-205 135 146 130 30 45 12 18 2 55 95 9 RC1/4
VP-305 135 146 130 30 45 12 18 2 55 95 9 RC1/4
VP-206 165 178 160 40 5 12 14.5 12.5 74 125 11 RC1/4
VP-306 165 178 160 40 5 12 14.5 1215 74 125 11 RC1/4
VP-208 210 205 186 40 5 14 15 16 85 140 11 RC1/4
VP-308 210 205 186 40 5] 14 15 16 85 140 11 RC1/4
VP-210 254 248 225 50 6 17 20 18 89 176 13 RC3/8
VP-310 254 248 225 50 6 17 20 18 89 176 13 RC3/8

5] AUTOGRIP



LONG JAW STROKE STATIONARY CHUCK

A sm LB R TIE e

o BN - RITITE -
o NEHEL - EFRKBMABNIRE - 0ERRBEAT -
o LEARS  HIEEHIOETMI -
o SHAKS(LERE - WOl FEREAEL TSR -
o TORERZBH - EITHEMEER -
o EHEHA EPHBE -
e WEDGE-HOOK type power chuck, and long jaw stroke.
® Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.
Easy to install. Installing the tubes and then operating.
Thin and compact design. Use standard soft jaws or standard hard jaws.
Air-tight pressure detect function is optional.
EEEmERA.
Equipped with airtight pressure detector function.
F
il J@" i
l ﬁ:j:: T =1
EEdHS o =
,:} 7
i o GE|
<o g 4
9| 9 §
- -
=L LT
D 13.5
27|
7,,J 2~RC1/4" air supply port _
40 for open/close 45 Lock valve(Option)
B FRAERL 70 (RERAGREDFV-01)
RC1/8 BEFEAE
RC1/8 Negative pressure
(BRI R dustproof connection hole
Subject to technical changes
B R SPECIFICATIONS
T2 TRFER RAKEFS RAERES TREFER
BIER BT 8 8 RIRERES S
(1) BA | &0 RE SHEE REE SHEE TERIEE16.0 kgflom?
Jaw stroke Chucking Dia. Max. clamping force Max. pressure
Di Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/lcm?) | MPa(kgf/cm?) kgflcm? lit (at 6.0 kgf/cm?) kg
SM-306 13.1 168 14 18.0(1830) = 32.2(3280) 0.7(7) 1.2(12) 2 15 18.7
SM-308 16 210 18 26.2(2670) = 45.0(4590) 0.7(7) 1.2(12) 2 2.7 32.5
SM-310 19.6 254 20 37.0(3772)  63.0(6422) 0.7(7) 1.2(12) 2 4.6 53.6
4N R~F DIMENSIONS
Model A(h7) Al B © D F G H J max. J min.
SM-306 206 168 110 188 15 40 73 20 16.75 4.75
SM-308 248 210 127 230 15 41 95 25 23.75 8.75
SM-310 300 254 145 280 16 46 110 30 36.75 14.25
Model K max. K min. L M N P Q R 5] T
SM-306 39 32.45 31 12 M10x1.5 11 139.5 104.5 55 18
SM-308 45 37 35 14 M10x1.5 11 160.5 1255 68 25
SM-310 50 40.2 40 16 M12x1.75 13 182.5 147.5 85 30

AUTOGRIP 52



SP BT AKEE T/ EM) R R

STATIONARY CHUCK
o UENPERBEMUENPERE  B_NK=TMERTER -
o AEMEL - EERAKEMARBNERER - JERFRERAN -
o AR BEBEMEMNT -
o ZEARS  HIRKEAIYUESTMI -
o HERE(LRERET - WolfERREETSFERM -
o TDJHEVERBEERMASETML -
[}

Stationary Non-Thru-Hole Chuck and Stationary Thru-Hole Chuck. Two types
of jaws (two-jaw, three-jaw).

®  Build-in hydraulic cylinder; it can also work with lock valve and be driven by
air pressure.
®  With small thru-hole and suits for long bar workpiece processing.
® Easy to install. Installing the tubes and then operating.
®  Thin and compact design. Use standard soft jaws or standard hard jaws.
® Can work together with multi-plate.
-
~F E
= e
-~ e S
W =
= i ) - .
2 BE RERE
3w’ — ]
= ‘ | =
D_|D1| |
‘ g pocs st (M.
5 |27] W R 7 45 | |\ memamrv-op
llOJJ 40 | 70 Lock valve(Option)
B B
_SP-304. SP-306~SP-312
—F
F —
e |
=T SR T
RS T o
Al =18
ERET [O) % 5
SEE : 38 { 3
Is e 1
SIS
7i7 'Z~RC3/8’} alirsupplypgr‘to I;):g]ﬂm %~RC3/8’} Tirsupplyport fi "8 RERE(RRFV-03)
for open/close B (3 | for open/close 6 (R BLFV-0.
0 3‘5 = m ‘ 12: ‘ :igkﬁﬁ(ﬂﬁ%ga(g/pggb |35 BARRIERIL 105 Lock valve(Option
-85 RCL/4 BB = RC1/4 By i,
B ReRforabet protaction Rofor ol protection
sP-316 SP-320/sP-324
REITEEB AR
Subject to technical changes
B HER4& SPECIFICATIONS
T2 TEFER RAREFS RAEREN TRHFE -
gk s _ - = X = ) BEEREN - 58
(B15) Bk | &) RE ‘ SHE FE | HE fEFBIEEF36.0 kgflcm?
Jaw stroke Chucking Dia. Max. clamping force Max. pressure .
. . § : N - Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) | MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SP-304 5.1 110 10 7.5(765) 22.0(2243) 0.7(7) 1.2(12) 2 0.5 7
SP-206 55 168 30 34.1(3477) | 46.1(4752) 0.7(7) 1.2(12) 2 14 16
SP-306 55 168 30 35.5(3620) | 60.0(5252) 0.7(7) 1.2(12) 2 14 16.5
SP-208 6.8 210 42 | 43.2(4405) = 74.0(7545) 0.7(7) 1.2(12) 2 25 27.7
SP-308 6.8 210 42 51.5(5251) | 88.3(9004) 0.7(7) 1.2(12) 2 25 28.7

53 AUTOGRIP




SP

I EI(3RER

M =M s hER

STATIONARY CHUCK
£ i gf %\Eém i Eﬁk\mﬁ S ﬁzﬂﬁ\ﬁﬁgfm@ RiFERED ﬁméﬁf? L
Model Ja‘;VD?;f.‘;ke l\/?ar:(l‘.mking 3::1 Pneux::;:dampingl-:j;i:ulic Pneum’\:\::. press:;raulic Min. presstre Alr cansumpfion Weight
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) | MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SP-210 7 254 52 60.5(6169) 94.5(9636) 0.7(7) 1.2(12) 2 4.2 41.8
SP-310 7 254 52 68.2(6955) = 118.7(12104) 0.7(7) 1.2(12) 2 4.2 42
SP-312 9.3 304 60 75.8(7729) 148 (15091) 0.7(7) 1.2(12) 2 6.4 73.1
SP-316 14.5 400 30 |120.7(12305)| 120.7(12305) 0.7(7) 0.7(7) 2 10.6 147.8
SP-320 16 500 45 | 155.6(15865) 155.6(15865) 0.7(7) 0.7(7) 2 15 232.7
SP-324 16 600 140 215.9(22015)  215.9(22015) 0.7(7) 0.7(7) 2 22 338.7
SMURST DIMENSIONS

Model A(h7) Al B c D D1 E I G H J max. J min.
SP-304 148 110 84 130 15 13.5 - 25 52 14 3.75 0.75
SP-206 206 168 94 188 15 13.5 25 40 73 20 10.75 4.75
SP-306 206 168 94 188 15 13.5 25 40 73 20 10.75 4.75
SP-208 248 210 108 230 15 13.5 32 41 95 25 12.25 8.75
SP-308 248 210 108 230 15 13.5 32 41 95 25 12.25 8.75
SP-210 300 254 112 280 16 13.5 54 46 110 30 23.25 12.75
SP-310 300 254 112 280 16 13.5 54 46 110 30 23.25 12.75
SP-312 350 304 130 330 18 13.5 65 54 130 30 30.75 12.75
SP-316 460 400 153 432 20 20 - 66 165 43 67.75 18.25
SP-320 540 500 170 500 22 20 = 74 180 60 87.5 24.5
SP-324 640 600 175 600 24 20 - 74 180 60 87.5 245

Model K max. K min. L M N P Q R S T T1 U V
SP-304 31.5 28.95 23 10 M8x1.25 9 110.5 75.5 - - - - -
SP-206 47 44.25 31 12 M10x1.5 11 139.5 104.5 b5 18 = = 6~M8x1.25
SP-306 47 44.25 31 12 M10x1.5 11 139.5 104.5 55 18 - - 6~M8x1.25
SP-208 57 53.6 35 14 M10x1.5 1 160.5 125.5 68 25 = = 6~M8x1.25
SP-308 57 53.6 35 14 M10x1.5 11 160.5 125.5 68 25 - - 6~M8x1.25
SP-210 64.5 61 40 16 M12x1.75 13 182.5 147.5 85 30 - - 6~M10x1.5
SP-310 64.5 61 40 16 M12x1.75 13 182.5 147.5 85 30 - - 6~M10x1.5
SP-312 775 72.85 50 21 M12x1.75 13 207.5 172.5 100 85 = = 6~M10x1.5
SP-316 70 62.75 60 25.5 M16x2.0 17.5 271 236 115 45 80 110 12~M10x1.5
SP-320 82.5 74.5 65 25 M20x2.5 22 301 266 165 = = 130 3~M16x2.0
SP-324 129.5 121.5 65 25 M20x2.5 22 351 316 200 - - 180 3~M16x2.0

AUTOGRIP 54

v
=
%
S
BB




=Mepg

i ETVR KR

STATIONARY PULL DOWN CHUCK

SD

WEMEGL - EEMREMAE NRE - cEkREBREALT -

o[RS TH IS s R g - T A B2 SRR S B -
SHME(CEENARAETRIUKE TEBMABE BERSKEBE
BAE - BEEVHISE -

o DJEAVERIEERATETML -
®  Build-in hydraulic cylinder; it can also work with lock valve and be driven by air
pressure.
® Radial clamp and axial pull down at the same time, keep the workpiece attaching
close to the base surface of the chuck.
®  Almost no workpiece uplifting displacement.
® The body with heat treatment and the organization of cylinder pull-down and fine
boring, which guarantee to the high clamping precision and durableness, it’ s
suitable for heavy duty machining.
® Can work together with multi-plate.
BB R E A,
Equipped with airtight pressure detector function.
N L S 6~W
= = \<M—‘ v 4-@K
B N — Vo
7% s 1 ‘LA
5 = = o @ B
G| ] o
5 N
e . 5 5
S8 = fa) = <
] sl | 8§l s T % b o
3~G ) ®
> — =)
] :
— 2~RC1/4" air supply port
77_“*“ for open/close
Flfl 135 BRI
RC1/8" air supply port
21 for gripping-confirmation ‘ 45 Lock valve(Option)
40 EERERAA 70 RERIGEEFV-01)
B
REFUEERIEF
Subject to technical changes
B HFR1E SPECIFICATIONS
. T TRER RAKEFS RAERES - _ TRHFER -
il 2 N \ 23 33
o E® | Bk | B aE | AE . AT Y =
Jaw stroke Chucking Dia. Max. clamping force Max. pressure . . i .
" . ) Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) | MPa(kgf/cm?) kgf/cm? lit (at 6.0 kgf/cm?) kg
SD-304 5 110 18 5.0 (510) 10.9 (1112) 0.6 (6) 1.3 (13) 2 0.26 8.1
SD-306 7.2 165 35 11.5 (1173) = 25.0 (2550) 0.6 (6) 1.3 (13) 2 0.58 20.6
SD-308 7.2 210 28 | 21.7(2213) | 47.0 (4793) 0.6 (6) 1.3 (13) 2 1.02 34.1
SD-310 10.8 254 40 36.0(3680) = 60.0(6118) 0.6 (6) 1.0 (10) 2 2.05 55
4MEUR~F DIMENSIONS
Model A(h7) AL B c D(H7/h7) E F G H J J1 K L max. L min.
SD-304 148 110 93.5 130 35 2 15 M3 22.5 10 M5x0.8 9 30 23
SD-306 206 165 116 188 52 7 18 M4 35 20 M6x1 11 45 35
SD-308 248 210 122 230 65 10 18 M5 45 25 M8x1.2 11 56 46
SD-310 300 254 151 280 75 12 20 M6 55 30 M8x1.2 13 65 50
Model M N P Q max. Q min. R S T V] \ w
SD-304 19.5 52 19 37 34.5 27 25 75.5 110.5 3~M10 M8x1.25
SD-306 31 70 27 57.8 54.2 42 35 104.5 139.5 3~M14 M10x1.5
SD-308 41 84 31 70.8 67.2 53 40 125.5 160.5 6~M12 M10x1.5
SD-310 46 100 38 85 79.6 62 50 147.5 182.5 6~M14 M12x1.75

55 AUTOGRIP



SU VA BN R e -

STATIONARY PULL LOCK CHUCK

NEHELL - EFERREMABNRE - o ERRERAEN -
UEN KRB ERF LAMEORGEMEED - S THEADFTRBES
M - WK - SHRSIE P OHER -

o SHIMBEEENAERABTBAKE LABMABE  ERSKHBEE
BAE - BEEVHSS -

o DJHETERBFEERASETMI -

® Build-in hydraulic cylinder; it can also work with lock valve and be driven by air
pressure.

® Radial clamp and axial pull down at the same time, keep the workpiece
attaching close to the base surface of the chuck.

® Almost no workpiece uplifting displacement.

®  Suitable for drilling, milling and other machines.

® The body with heat treatment and the organization of cylinder pull-down and
fine boring, which guarantee to the high clamping precision and durableness, it's
suitable for heavy duty machining.

® Can work together with multi-plate.

FEERERA.

Equipped with airtight pressure detector function.

w

B L
 — M‘ 3~V o
[ A
B £
G min. T zZ T it
— W S xR
o a4 & .
‘ —| 8
AL = J
135
3~J
T > e
L 2~RC1/4" air supply port EAClose | HOpen
! ! for open/close
A GIEIEEED mop
RC1/8" air supply port
40 for gripping-confirmation 45 X SU-303
= REG IR Lock valve(Option) DU-5US
REBIUEEHIER Bl 05 EERERMA 70 {RERRI(ERCFV-01)
Subject to technical changes -
SU-304,306,308,310
B H#i#RE SPECIFICATIONS —
. M KIFEE BASKIN BAEREN _ SRNEE _
y s
. E®H | B | & aB | o | owm | OO e ok | TR
Jaw stroke Chucking Dia. Max. clamping force Max. pressure ) . . .
; . § . - : Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgf/cm?) | MPa(kgf/cm?) kgflcm? lit (at 6.0 kgf/cm?) kg
SU-303 2 42 4 5.2(530) 12.8(1305) 0.6(6) 1.3(13) 2 0.16 5.7
SU-304 3 60 5 6.7 (683) 16.0 (1632) 0.6 (6) 1.3 (13) 2 0.26 7.4
SU-306 5 105 31 18.5(1886) @ 40.0 (4079) 0.6 (6) 1.3 (13) 2 0.58 18
SU-308 5 132 32 37.0 (3773) | 80.0 (8158) 0.6 (6) 1.3 (13) 2 1.02 31.5
SU-310 5 163 44 46.2(4710) | 100.0(10100) 0.6(6) 1.3(13) 2 2.1 53
4N R~T DIMENSIONS
Model A(h7) Al B B1 © D(H6) E F G H(H6) J K L max. L min.
SU-303 122 85 80.5 68 104 28 22 12 3.5 66 M3 3~9 5 1
SU-304 148 110 101.5 83.5 130 32 24 15 4.5 84 M5 4~9 7 1
SU-306 206 168 136.5 104 188 35 25 18 6 129 M5 4~11 15 5
SU-308 248 210 152 115 230 55 45 18 7 156 M6 4~11 17 7
SuU-310 300 254 181 131 280 65 53 20 7 187 M8 4~13 9 -1
Model M N P Q max. Q min. R S T U \ w X (p.c.d) Y
SU-303 12 30 7 3.5 2.5 36 15 63 98 M5 4~M8x1.25 46 3~M5x10
SU-304 17 40 9.5 2.75 1.25 42 20 75.5 110.5 M6 6~M8x1.25 62 6~M5x10
SU-306 30 50 17 15.75 13.25 49 30 104.5 139.5 M10 6~M10x1.5 72 6~M6x12
SU-308 34 63 20.5 16.25 13.75 71 35 1255 160.5 M12 6~M10x1.5 95 6~M6x12
SU-310 39 74 23 20.75 18.25 85 40 147.5 182.5 M14 | 6~M12x1.75 115 6~M6x12

AUTOGRIP 56



=Mepgn

I BTN IREHIKER

STATIONARY EXPANSIBLE PULL BACK CHUCK

SE

o NEHEL  EFRKEBMSBNRE - oTERKREBREAH -
o ERMAKEIE -
o SRELZEM BEREHREMNTL -
o OJHEVERIFEERASETML -
®  Build-in hydraulic cylinder; it can also work with lock valve and be driven
by air pressure.
®  For internal gripping.
®  With high precision and stability.
®  Suitable for the precision large length size process.
®  Suitable for end process.
® Can work together with multi-plate.
B @EmA GER ).
M Airtight pressure detect function is optional.
J
— — 6-R
_ El E F 42K
T 6~M6X123%
=
= ¥ :
¥ slg| o A g o 7 ¢ = Lol ¥
B 1 T ® 2
b R 3¢ 7 &
?5 135 N -
G| \1 b i =
0 (OO
b o7 ‘ Closef 3 Open
vl (1l
20 ‘ MR
‘——>9 ‘ Lock valve(Option)
B1 14 REM(ERFV-01)
RC1/8" air supply port
fol onfirmation
B KREREA

Soft jaw : type A
EEETAR

Soft jaw : type B(Option)
EAEATIB BU(EERR)

REFEIEREIHER)

Subject to technical changes

3R SPECIFICATIONS

. G FEFEE RAKEFS RAERES - TREHE -
il o N N i
2 @®  ex | & i S nE wm PR e e okgtome | T
Jaw stroke Chucking Dia. Max. clamping force Max. pressure i . X )
) . - . - . Min. pressure Air consumption Weight
Model (Dia.) Max. Min. Pneumatic Hydraulic Pneumatic Hydraulic
mm mm mm kN(kgf) kN(kgf) MPa(kgflcm?) | MPa(kgflcm?) kgf/cm? lit (at 6.0 kgflcm?) kg
SE-305 3 83 29 14.3 (1459) 41.0 (4181) 0.7 (7) 1.3 (13) 2 0.46 14.6
SE-306 5 110 44 20.0 (2040) 57.0 (5812) 0.7 (7) 1.3 (13) 2 0.58 20
SE-308 5 150 50 32.0 (3263) 78.0 (7954) 0.7 (7) 1.3 (13) 2 1.02 33
4MYR~F DIMENSIONS
Model A(h7) Al B Bl © D El Fmax. = F min. G type A type B
H max. H min. H max. H min.
SE-305 173 135 126 100 155 15 20 5 3 -3 25 68 50 83 67
SE-306 206 168 140 108 188 18 23 7 B -5 40 90 70 110 89
SE-308 248 210 164 119 230 18 30 9 5 -5 49 110 90 150 108
H1
Model : J K L M N P Q R
max. min.
SE-305 50 29 25 9 88 123 27.5 275 3~M6 M8x1.25
SE-306 70 44 31 11 104.5 139.5 38 29 3~M6 M10x1.5
SE-308 90 50 35 11 125.5 160.5 50 35 3~M8 M10x1.5

57 AUTOGRIP



37 B ZREARER

STATIONARY CHUCK BASE PLATE

A mpr4

OJARBERSMI PO E - ESMISELIA -
EELRUARAARER -

o842 - 3~ 6 LHEHEE -

Use for milling machine or machining center to achieve
simultaneous processing of multiple workpieces.
Stationary cylinder lock valve (optional) can be mounted.
® Plate for 2,3,6 stationary chucks is optional.

1 g
S —
,{
<zlslslsl T8
1
EE— B
) D Y
K
N 58
16~aL J K
K
N E N
D
B

Lock valve(Option)
FREEFIGERCFV-01)

0 O s

4

&o.ﬁm%+Jﬁm%

REBRIEIERAVER

Subject to technical changes

SMEYR < DIMENSIONS

‘ Model A B C1 Cc2 C3 C4 D E = G

‘ MP4-06206 460 580 400 320 250 200 544 210 220 120

‘ Model H J K L M N P Q R 5 T U
MP4-06206 20 45 18 17 20 140 *B 33 18 20 20 206

*B ¥JBRFTEAC ACBREALSR 2~ B -
The dimension *B: Please refer to the dimension B of the chuck model assembled.

’ VH-201 FENTIIRRA

HAND OPERATED AIR VALVE
ot s chnges
RABHES BRIERE FEO®
Max. pressure MPa(kgf/cm?) Operating angle Port size
1.0 (10) 90 ° Rc1/4

AUTOGRIP 58



Bl % = A 38 ER

’ RAP 08 R R BR = T\ 3k 8 BEBREL

PNEUMATIC ROTARY CHUCK

o NERIIZFREERE, ML=ME/N), BEETEISS, LA EAKREEM
FARERET,

o EANDERLETHEML.
o KEIRFFEHMER T, MITHIIBRZENREN,
o RRENEMISEUNETIRE, L EEEE.
® Rotary chuck with built-in pneumatic cylinder, compact design, suitable for light
machining, compatible to standard soft jaw/hard jaw.
Can be installed on a rotary table for indexing machining.
Sealed against dust and cutting chips.
Matching surfaces of all parts hardened, ground and lubricated directly.
AR HREERRIRE AL 2 B EE, S0 ERNIEEE
WA TR,
Note: To overcome friction force between distubritor ring and chuck body, the
rotating torque of rotary table must be highr than the requirement shown in
the table.
Serration Pitch S
HrEERE1.5
M
I faEimi
- J
P I
! s =) d pzd
Al
g:) e o
al o i
g Lg e & - % —
— W
ii Qe
L 6-L
Kl U |V 2~RC1/4” ai ly port
3 for closelozltlarnsupp v F i 2~RC1/4”
BRIl Open Close
Bl
R EAONER) B
Subject to technical changes
B H3RHE SPECIFICATIONS
T8 TEFER RARES . TREFER
1) o, = = = 5 =
a5 (EE) Chucking Dia.  SE(ERE6.0 koficm?) RARRES | REAR i (EFIES6.0 kgflem?) =
Jaw stroke BX =/ Max. clamping force Max Rotation Air consumption .
Model (Dia.) Max. | Min. Pneumatic( at 6.0kgf/cm?) Max. pressure | Max. speed oqqance torque (at 6.0 kgficm?) Weight
mm mm mm kN (kgf) (kgflcm?) (r.p-m.) Nm lit (kgflcm?) kg
RAP-306 55 170 25 21.0(2141.4) 7 72 40 3.1 16.2
RAP-308 6.8 215 37 34.2(3487.4) 7 60 60 3.1 30.6
RAP-310 7 254 53 48.0(4894.7) 7 53 85 4.2 42.4
SMURST DIMENSIONS
Model A B B1 C (H6) D E F G H J K
RAP-306 215 98 90 110 155 181 170 25 7 52 8
RAP-308 260 113 104 110 200 226 215 32 8 52 9
RAP-310 300 117 52 140 235 261 254 54 8 52 10
Model L L1 M N P Q max. Q min. R max. R min. S T U \Y W
RAP-306 6~M8 11 36 73 20 10.75 6.25 47 44.25 31 12 19.5 14 3~M8
RAP-308 6~M8 16 37 95 25 13.25 8.75 57 53.6 85 14 19.5 14 3~M8
RAP-310 6~M8 14 42 110 30 23.25 12.75 64.5 61 40 16 19.5 14 3~M8

59 autocRrIP




it

FE) 5K/ 0 =T\ ER

SELF-CENTERING 3-JAW MANUAL CHUCK

=M ER

HRRKENRFFERN IS EREREMIHE, o E8mfeER=mM.
PO EERS, BB ENKBENE, UMEEARREBENERAS R

BE.

Thin and lightweight design and increase the z-axis machining range.
With the center hole cover and dustproof design for the accuracy and
service life of the chuck.
For 5-axis indexing plates and milling machines.

ZERETZIE -

3MF series are not designed for the vertical or horizontal lathes,

REIERIEATERZERANHINER - BRIFAIRHEE 5058 E AMHT

unless there is a rigid plate and providing adequate support rigidity and strength.

DA

@C H6
OF

REBRBELAER

Subject to technical changes

1T #3148 SPECIFICATIONS

P1

itk TTREER) F&FF HE Chucking Dia. RABHE BAKHE T BeLEY B8
Vodel Jaw stroke (Dia.) B A Max. &/)\ Min. Max. allowable torque Max. clamping force Max. speed Weight
mm mm mm N - m (kgf - m) kN (kgf) min* (rp.m.) kg
3MF-16 60 350 95 175 (17.8) 59 (6000) 1450 66.9
3MF-20 80 450 135 170 (17.3) 71.2 (7300) 1150 121
4MUR~T DIMENSIONS

Model A B C (H6) D E F G H J(H7) L L1 M
3MF-16 400 80 140 375 10 135 [114 27 19.03 @ 4~M12 @ 6~M12 23 60
3MF-20 500 85 170 465 12 160 019 38.1 19.03 | 4~M16 @ 6~M16 23 80

Model N P1 P2 P3 Q max. Q min. R max. R min. s T (h8) U v
3MF-16 148.5 27.16 54 112.5 184.5 164 103 62 40 12.7 15° 28
3MF-20 192.5 29.5 76.2 135 254 214 139.7 99.7 50 12.7 15° 40

AuTocrip 60




’VR B O E R
POWER CENTERING VISE

FHEXEREN RN DB P HHER R 1o

HMEYSE R BB R BAPR SN T O, R Fe G INPERE = /o

PWEHEREL, Al AR B SUHBE R B 1R,

TA EBRRRRENE, REH S MEEAA,

Constantly high clamping forces are ensured while machining.

Compact design, suitable for milling machines or machining centers.

®  With built-in cylinder, it could be either pneumatically or hydraulically

operated.
®  Plug & play, easy to install.

\%A
Ul
P Q
| 2~MAJKEBEhTL
| ! | = = 2~M4 Bottom lubrication oil hole
axiok (&) \ Boh— ﬁ + al M5 [EERESHTL A
{( f : f }}7 VY, /X % J M5 Bottom oil inlet A
LS ? s “
z| A —@ 7—+—7+@— - @l o - - B+ - ®)— 5| >
—goles g E23ERS - . @w\
i ‘ i Yy & ,/éL MAEEERIR S FL M4 Bottom air vent
r < (VR-1012:M5; VR-1214:M5)
K‘@T | W@W Z - RO EEERT, B
4~L ‘ s ‘ T M5 Bottom oil inlet B
‘ | 2~@8(H7) BEEF
A 2~@8(H7) Master hole
Bl
G
D
R ‘ M H7 M1 E 2~M6:FEE L
| “—" 2~M6 Oil hole
""717 } [ } ) ﬁt / } AE=; 1 M5 EFL
j ‘ (D I %
| i
o | i .
| & o =
| §
J 2~RC1/8” 4437l
{REBIIEIELUAIM#F Subject to technical changes 2"’RC1/8” Pressure port
R ili#i1& SPECIFICATIONS
g /=20 s = v BRAKE BAEREN =
25 MiT(EE) BAKISEE Max. clamping force Max. pressure =
’ ’ ) KRB SHE RE JH[E .
Model day st iGl{DE) v Ehueiitng (e Pneumatic Hydraulic Pneumatic Hydraulic el
mm mm kN (kgf) kN (kgf) MPa(kgf/cmz) MPa(kgf/cmz) kg
VR-808 8 100 2.0(200) 20.0(2040) 0.9(9) 7(70) 3.55
VR-1012 12 120 4.4(448) 30.7(3130) 0.9(9) 4(40) 7
VR-1214 14 160 8.6(876) 60.6(6180) 0.9(9) 4(40) 12
4MUR~F DIMENSIONS
Model A B B1 © D E(h6) F Gmax | Gmin H H1 H2 J J1i K
VR-808 120 80 52 63.5 36 16 2 125 117 335 24 26.5 36 40 M5x0.8
VR-1012 150 100 64 76 45 20 2 158 146 39 30 32 46 48 M6x1
VR-1214 188 125 82 82.5 60 24 2.5 196 182 41.5 44 34.5 57 51 M8x1.25
Model L M(H7) M1 M2 N P Q R S S1 T T1 U U1l Vv V1
VR-808 M6 6 215 2.5 27 9 6.5 49 95 65 70 65 24 10 36 18
VR-1012 M8 8 27 2.5 32 12 8 63 120 80 90 80 30 12 46 20
VR-1214 M8 8 30 3 43 12 10 80 158 100 128 100 44 16 57 25

61 AuTtoGRIP



ERMEVEE

RJJEEIR (—)
SINGLE-SLIDE FACING HEAD
o EAMBREMUENEANEH AR  EXRRERTE  ERREHETENHE
FEERS -
RBEEIIABEERIBBME
EMEE:£0.03mm -
® Feed mechanism is Wedge Plunger, with steady feed speed. Simple adjustment for
feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly. With
rigidity and durability.

AFA

BIMEMAMIFERY -

®  Stopper accurancy: +0.03mm.
m BTIRALR SR BRG] A A -
n BRERE IR OB ECE RS ERRIKIEEREMERERTIMNL -
= Suitable for using with RS type cylinder.
= For precision processes, Wedge Plunger type facing heads are
suitable for using with electro servo and ball screw mechanism.
BRI EE
WEDGE PLUNGER
FA-408 Max.26 7
Min.12 4 0
.~ | | ©
== ©
‘?ﬂﬁi’% i
[, I 1 0 [t5)
30 o . 14~M6x10 uln;r;
| ] s S
= s=
= ’J\: < N_l— 4=- Ql =
SHEHEE= Stk
Q © | | -
Q ﬂ— -
M12x1.75 | T AT
] % i %j j —
REEERAOER L%
Subject to technical changes 58.5 4~M10x60
T4 1% SPECIFICATIONS €9
Btk BOTiE B2 ReaEH BRFERAAN 2 EREE BAFERERT
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight . . Max. pressure
Model 5 Matching cylinder
mm mm min*(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-408 14 8 1600 2.8 (280) 4.2 RS-6520N 1.0(10)
BREZEE
WEDGE PLUNGER
FA-610 FA-812 L oR Q1
— S G %]
ng i 5\
K == N NN
D
'_
S8 'QI&IZI_V(Q @ ! b
| iy
G
| MM
el -
" D
(REBIEEBEORT
Subject to technical changes B Q
F1li#1& SPECIFICATIONS
Btk BOTE BETiE RieaEH BREERAAN B8 HEREE L RAEREN
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight . ) Max. pressure
Model . Matching cylinder
mm mm min*(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-610 18 10 1200 2.8 (280) 14.5 RS-6520N 1.0(10)
FA-812 21 12 800 4.4 (450) 28.5 RS-6530N 1.6(16)
4MNEIR < DIMENSIONS
Model A B C (H7) D E F (H7) G max. G min. H J K
FA-610 156 110 140 107 5 20 66 48 +5 20 M12x1.75
FA-812 198 130 170 127 5 25 84 63 +6 25 M16x2.0
Model L M N P Q Q1 R (H8) S T U
FA-610 4-M10x90 12 2-M10x45 104.8 45 28 8 4-M10x16 40 40
FA-812 4-M12x105 12 2-M12x60 133.4 54 32 10 4-M10x16 50 50

AUTOGRIP 62



Y A1

R JJ¥EBEE ()

SINGLE-SLIDE FACING HEAD

o ERMBRUGEREGHEHAIXNAZ, ERRE
REEE
REEIIEBEL NS

B5o

EAIFEE:10.03mm, &

®  Feed mechanism is transmitted by Rack and Pinion with steady feed speed.
Simple adjustment for feed speed and stroke.
® Matching surfaces of all parts hardened, grounding and lubricated directly.

With rigidity and durability.

EIRTE,

EHEE, B AL IEE Rifo
FREECE B2,

®  Stopper accurancy: £0.03mm , work with stoper screw.

BT R0 e R A BC R A -
Suitable for using with RS type cylinder.

ERE

EHRTIEN

| EE IR B R 8 E) RACK AND PINION
FA-615 FA-830 FA-1570

#18 Keyway

6B x4 %

K
8|8 *%_ = °I">
[SEIRSHEN
H G
L/ E
B
IREBRIB IS AR
Subject to technical changes
Fi i #31% SPECIFICATIONS
Rtk BLLITIE B EETTE EeEEH BHEAAT B8 EREEL EAEAES
Plunger stroke Slider stroke Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min?(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FA-615 15 15 1200 3.3 (340) 11.9 RS-6520N 1.2(12)
FA-830 30 30 800 5.0 (510) 23.9 RS-6530N 1.8(18)
FA-1570 70 70 500 18.2 (1855) 167 RS-1080N 2.6(26)
4R ~T DIMENSIONS
Model A B C (H7) D E F (H7) G max. G min. H J K
FA-615 150 107 110 102 5 25 43 28 35 20 M12x1.75
FA-830 198 126 140 121 6 30 55 25 45 25 M16x2
FA-1570 400 200 300 192 6 60 110 40 75 50 M30x3.5
Model L M N P Q R S T U \ W
FA-615 3-M10x40 12 8-M8x16 82.6 50 32 32 68 - +7.5 56
FA-830 6-M10x55 15 12-M10x20 120 60 36 40 80 120 +15 66
FA-1570 6-M20x90 15 8-M16x20 235 120 80 130 260 - +17.5 -

63 AUTOGRIP



DOUBLE-SLIDE FACING HEAD

’ FD g0 /)i B R B

o HAKBRUMMEN SR, ELRERE, EMRERTENHAZIER
BHo
REEYCBECRIEEME, BItEHALIEE R,
ENAERE © £0.03mm, BREE (11812,

Feed mechanism is transmitted by Crank with steady feed speed. Simple
adjustment for feed speed and stroke.

® Matching surfaces of all parts hardened, grounding and lubricated directly. With
rigidity and durability.

®  Stopper accurancy: +0.03mm , work with stoper screw.

EAFTIR AL S B Gl FAACE RS -
Suitable for using with RS type cylinder.

| BhiR{EE) CRANK TYPE
FD-632 FD-840 FD-1060

P
H ax2~T Q
T
RS
ML
K } éj
;ﬁ | | .
<l O|wWw - | _ - ©
s 88 1 ] 9 £
| =
J |G|
= ;*i%ﬁ | 1t
) 6~L
5
B N
REBIRBISHIER
Subject to technical changes
F1li#1& SPECIFICATIONS
itk BT BETEER EeEEY BHEAAT B8 BEREEL EAERES
Plunger stroke Slider stroke(Dia.) Max. speed Max. D.B. PULL Weight Max. pressure
Model Matching cylinder
mm mm min*(r.p.m.) kN(kgf) kg MPa(kgf/cm?)
FD-632 20 32 3200 16.9 (1720) 13.6 RS-1030N 2.4(24)
FD-840 25 40 2500 20.6 (2100) 30.0 RS-1030N 3.0(30)
FD-1060 35 60 1800 20.6 (2100) 41.5 RS-1040N 3.0(30)
SMUR T DIMENSIONS
Model A B C(H7) D E F G max. G Min. H J K
FD-632 168 93 140 104.8 32 76 31 11 2 36 M16x2.0
FD-840 215 109 170 133.4 38 96.5 325 7.5 2 36 M20x2.5
FD-1060 254 123 220 171.4 38 110.5 325 -25 4 36 M20x2.5
Model L M N P Q R S T U v W(H8) Y
FD-632 6~M10x75 188 70 40 25 10 32 M8x15 10 32 6 4
FD-840 6~M12x85 238 92 60 42 12 45 M10x15 12 45 10 6
FD-1060 6~M16x125 286 90 65 46 15 50 M10x15 12 50 10 6

AUTOGRIP 64



CP Eli_ﬁmg —MELHE

SYNCHRONOUS CLAMP

o HIREZMEP KA, TITiER.
o RBENEIKREUAIEEE, I BEER.
o SRFHEE, EMRFE,
® CRANK type 2-jaw synchronous clamp with long jaw stroke.
®  Matching surfaces of all parts hardened, ground and lubricated directly.
® High rigidity and high clamping accuracy.
| W1 |
»:i \%im/\—‘
| i B | B
4 hi ‘ @ @ 3 P ;-
] ! —— N
=606 =
4 BN N o ¢
DS O OO
== ==
8~L U 2~@8(H7)
Vv Master hole £#4,
U1 B1
G N Adjusting hole
‘ R M NaEzeud, E,
. Q. P P, 2x3~K |
fiii‘—T—T—! ‘ ii/u_ ’_F;[_‘
T I S =
T i B RCIﬁG”Lubﬂnalegusl;m\@tﬁ%J ™ g T J &%@L
4,/ g D ) \,g S 4 | &
2 - & 8 )
|E_| ‘ ‘ - ‘LJ‘ .
17 ‘ | LY N
% A
‘9 E=
e r 2~RC1/4” » A=
S e o Prestrepon 101,
K i#31& SPECIFICATIONS
ik SHEMHETE Eff. Piston area MTEER) BRAIFEES BAKRES RAEREN ES
— #13 Extend HIff] Retract Jaw stroke(Dia.) Clamping capacity Max. clamping force Max. pressure Weight
oce cm? cm? mm mm kN (kgf) MPa(kgf/cm?) kg
CP-20 28.27 25.13 20 150 14.4(1465) 3.5(35) 9.5
CP-30A 28.27 25.13 30 180 14.4(1465) 3.5(35) 1"
CP-30 28.27 25.13 30 210 14.4(1465) 3.5(35) 12
CP-40 28.27 25.13 40 200 14.4(1465) 3.5(35) 12
CP-50 38.48 33.57 50 215 17.7(1812) 3.5(35) 18.5
CP-70 50.26 45.35 70 235 23.9(2434) 3.5(35) 30
SMUR ST DIMENSIONS
Model A B B1 € D | E(h6) F | Gmax. Gmin H H1 J a J2 K L M
CP-20 215 88 96 53 40 18 4 249 229 75 13 94 76 83.5 M10x1.5 M10 12
CP-30A 250 88 96 53 40 18 4 295 265 75 13 94 76 96 M10x1.5 M10 14
CP-30 280 88 96 53 40 22 4 327 297 75 13 94 76 96 M12x1.75 = M10 14
CP-40 270 88 96 53 40 22 4 331 291 75 13 94 76 110 M12x1.75 = M10 14
CP-50 300 | 110 | 115 65 50 28 5 369 319 90 15 105 105 120 M12x1.75 = M10 16
CP-70 346 | 120 | 126 89 55 32 5 430 360 114 15 115 115 146 M14x2 M12 16
Model N P Q R s T u U1 U2 % w W1 w2 X Y z
CP-20 M6x1 18 20 66 24 22 102 190 60 156 32 110 65 150 22 4
CP-30A M6x1 20 24 96 24 22 102 190 60 156 20 120 65 156 22 6
CP-30 M6x1 20 24 98 24 22 102 190 60 156 23 110 65 156 22 6
CP-40 M6x1 20 24 98 24 22 102 190 60 156 25 110 65 150 22 10.5
CP-50 M8x1.25 21 28 102 30 32 105 230 85 195 29 140 80 180 30 10
CP-70 M8x1.25 23 28 112 30 52 120 275 95 240 42 155 90 210 34 23.5

65 AuTOGRIP



4 cw

FHRI\ED kB

WEDGE-DRIVEN SYNCHRONOUS CLAMP

RHRE

HE

R UELRE - UTER  EMNLEED  FESKE -

R EILE(CRERNE - WEEEB

SRFEE - BIEMRE -

This wedge-driven synchronous clamp features a long jaw stroke, ensuring
continuous high clamping force throughout the machining process.

The sliding surfaces are hardened and precision ground, with direct
lubrication to enhance performance.

High clamping accuracy and excellent dust protection.

@ ¢ O @ ¢ ©
CICRC: (ORI
| AL
e Ho—¢- O F3 g3 e
666k 56 60]
OAR
© ¢ © © « ©
8-L 2~@8(H7)
Master hole E#7|,
Ul
N Adjusting hole D
NRZEIRAAA
R M RERESRARIL E
Q. _P__P_ 23K E
N = 2
= — Fi7
e it 2
-4 % &/ /Y ¥ P, = 2
A I 3
A AR >
== 1 \**/V/A/* AL\r\\\l\**\ \—%% T
R U L S L e I +
(i i I, 1) 2
5 S
11
u!\\ ﬂ!\
2~RC1/4”
Pressure port #H4L
REBIRBIELHET)
Subject to technical changes
Hli#1& SPECIFICATIONS
il JEZEETE Eff. Piston area MTITRRER) BARFFEES BAREEN BAERES B8
##{8] Extend #Ifll Retract Jaw stroke(Dia.) Clamping capacity Max. clamping force Max. pressure Weight
Model
cm? cm? mm mm kN (kgf) MPa(kgf/cm?) kg
CW-30 31.10 24.10 30 150 34.3(3500) 7.0(70) 32
SMEIR~F DIMENSIONS
Model B © D E(h6) F Gmax Gmin H H1 J J2 K L M
CW-30 260 145 86 50 22 4 304 274 102 10 100 100 | M12x1.75 M10 10
Model P Q R S U U1 U2 U3 Vv W w2
CW-30 M6x1 28 20 86 25 80 200 120 73 140 30 30

AUTOGRIP 66



SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

’ TK e RE B oz s BB BR T (— ) BiEEREE

1B - RAERDEHEL - = RESMERER2/3 -

25 | e B S AR e JBR 0 R R -

ZEF O REREREZ -

Super short form, light weight large Through-Hole, just as 2/3 of typical model
length.

Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

CIFf IR TE L S+ A 1A - (BRB M)

Linear sensor can be attached.(optional)

B EREmRFIE Patent numbers :
&7 : PATNO.M491534(Taiwan)
KPFE : PAT.NO.ZL201420584274.5(China)

w1 3~Mounting Hole 6~X2 25 & P ﬁ 6~L1
. o5 N
8 3 5488 488 8
2x2~Q3
D by
42
RCL’ / ; <
Drain Port J##7L,
LQ’_%.‘ Alle D K
Sublet o eccacharges

ze {57318 SPECIFICATIONS
i gk SEEFEES. piston area i BEEHY BEERED | 2 wERE
;%* vodel 48 (Extend) HiIfAl(Retract) Piston stroke Max. speed Max. pressure Moment of inertia = Weight Total oil leakage
i cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
il TK-A528 73.0 69.7 12 8000 4.5 (45) 0.012 6.2 3.0

TK-A533 73.0 69.7 12 8000 4.5 (45) 0.012 6.0 3.0

TK-C643 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0

TK-A646 105.0 93.9 15 7000 4.5 (45) 0.018 7.3 3.0

TK-B646 105.0 93.9 15 7000 4.5 (45) 0.018 8.6 3.0

TK-C646 99.1 88.0 15 7000 4.5 (45) 0.018 7.5 3.0

TK-B846 135.3 125.0 20 6300 4.5 (45) 0.032 12.4 3.9

TK-A853 135.3 125.0 20 6300 4.5 (45) 0.032 11.8 3.9

TK-B853 135.3 125.0 20 6300 4.5(45) 0.032 1.7 3.9

TK-A1068 170.1 155.3 25 5500 4.5 (45) 0.065 19.2 4.2

TK-A1075 170.1 155.3 25 5500 4.5(45) 0.065 18.8 4.2

TK-A1078 170.1 155.3 25 5500 4.5 (45) 0.065 17.4 4.2

* EKBROTEBRAEEFSBEZMEEMR - *Coolant Collector and Confirmation Device Please See Accessories pages.

67 AuTOGRIP



’ TK HExG A oh 2R A BB ER G (— ) BEEEREL

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

MBS R <F DIMENSIONS

A E Gl G2
Model RIE B © D F H J K L L1 L2 M1 M2 M3
- h7 max. min. max. min.
I.D.
TK-A528 105 | 141 |/ 125 125 110 | 45 | 12 0 38 | 26 49 | 775 123 6~M8x20 M8x55 14 | M38x1.5 25 13

TK-A533 105141 | 125 125 | 110 | 45 | 12 O | 38 | 26 | 49 775 123 6~M10x20 M8x55 14 | M38x1.5 | 25 13

TK-C643 128 156 140 140 120 65 | 15 | O | 44 29 56 85 125 12~M10x20 M8x60 12 M50x2 25 13

TK-AG46 128 162 147 147 130 65 | 15 | O | 44 29 56 85 125 12~M10x20 M8x60 12 M55x2 25 13

TK-B646 128 162 130 147 100 65 | 15 | O | 44 29 66 95 135 12~M10x20 M8x70 12 M55x2 30 15

TK-C646 125 156 140 140 120 65 | 15 | O | 44 29 56 85 125 12~M10x20 M8x60 12 M55x2 25 13

TK-B846 145 185 170 165 130 70 | 20 | O | 48 28 66 95 135 12~M10x20 M8x70 12 M55x2 30 15

TK-AB53 | 145|185 170 165 140 70 20 O | 48 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15

TK-B853 145 185 170 165 130 70 | 20 | O | 48 28 66 95 135 12~M10x20 M8x70 12 M60x2 30 15

TK-A1068 170 212 190 190 160 95 | 25 0 | 50 25 | 74 108 158 12~M10x20 M10x80 | 16 M75x2 85 15

TK-A1075 | 170|212 190 190 160 95 25 O | 50 25 74 108 158 12~M10x20 M10x80 | 16 M85x2 35 15

TK-A1078 | 170|212 190 190 160 95 25 O | 50 25 74 108 158 12~M10x20 M10x80 & 16 M87x2 85 15

01 | 02 R s
Model N1 N2 | N3 P Q Q2 Q3 T u Vo WL w2 | X1 X2 Y1 Y2 z
H8 | H8 g7 | H7

TK-A528 < M39x15| 25| 8 35 28 79 85 30 RC14 37 | 62 |70 98 6 62 110 49  M6x6 | 83 | M5x6 | 5

TK-A533 ' M39x15| 25| 8 35 33 79 85 30 RC14 37 | 62 |70 98 6 62 | 110 | 49 M6x6 @ 83 M5x6 | 5

TK-C643 ' M52x1.5/29 | 9 45 43 87 85 36 RC38 50 76 85 116 95| 74 120 | 64 M6x10| 98 | M5x6 | 5

TK-AG646 < M52x1.5/ 29 | 9 50 46 87 85 36 RC38 50 76 85 116 95| 74 120 | 64 M6x10| 98 | M5x6 | 5

TK-B646 < M52x15/29 | 9 50 46 97 85 36 RC38 50 76 85 116 95| 74 120 | 64 M6x10| 98 | M5x6 | 5

TK-C646 < M52x1.5/ 29 | 9 50 46 87 85 36 RC38 50 76 85 116 95| 74 120 | 64 M6x10| 98 | M5x6 | 5

TK-BB46 < M58x1.5/ 30 | 8 50 46 97 85 36 RC38 56 8 | 96 128 115/ 79 130 | 73 M6x12| 110 | M6x6 | 5

TK-AB53 < M58x1.5/ 30 8 55 53 97 85 36 RC38 56 8 96 128 115 79 130 | 73 M6x12| 110 | M6x6 | 5

TK-B853 M58x1.5/ 30 8 55 53 97 85 36 RC38 56 85 96 128 115 79 | 130 | 73 M6x12 110 M6x6 5

TK-A1068 M84x2 |34 9 | 70 68 110 12 40 RC1/2 81 108 121 164 10 98 160 98 M6x12 155 M6x8 | 5

TK-A1075 | M84x2 |34 | 9 80 75 110 12 | 40 RC1/2 81 108 121 164 10 | 98 160 | 98 M6x12| 155 | M6x8 | 5

TK-A1078  M84x2 |34 | 9 82 78 110 12 40 RC1/2 81 108 121 164 10 | 98 @ 160 | 98 M6x12| 155  M6x8 | 5

AUTOGRIP 68



HBE R P ZeEEm L () R
TK

SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

1B - AARIEEHET - = RERWREMN2/3 -

PRI LS B SRS R R R B -

ZREUHEREEZ -

Super short form, light weight large Through-Hole, just as 2/3
of typical model length.

Built-in safety check valves and pressure relief valves.

® Can screw it from the rear end of the cylinder when mounting.

aIf AR EAI A RS - (EREm)

Linear sensor can be attached.(optional)

B EFEMRFI Patent numbers:
&7 . PAT.NO.M491534(Taiwan)
ARPFE : PAT.INO.ZL201420584274.5(China)

. Q1 P
W1 3~Mounting Hole 6~X2 25 i i 6~L1
N1 »n‘
= i
_ ; LA
=
= — L
o Og =l 9 x NN&MLét:g w o O om
o ) 8 8 Q| O 50 % Q Q & ©
2x2~Q3 F
Pressure Port
Emal 4/
4~Y2 | L
S z\|
\
RC1" @ o H Gl
Drain Port {#JHFL | . 5
REBIRBISHIER 233 Al |B \_I?r K
Subject to technical changes LIl
F1li#1& SPECIFICATIONS
RISR EZ HETEES. piston area 712 BaOEY EaEREBN | B8 BERE
— #2{8 (Extend) HIf(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia Weight Total oil leakage
ode cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TK-A1287 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1291 234.0 217.5 30 3800 4.0 (40) 0.092 24.8 4.5
TK-A1511 336.4 315.2 30 3000 3.5(35) 0.38 57.9 7.0
TK-A1512 336.4 315.2 30 3000 3.5(35) 0.38 53.8 7.0
TK-A1512-35 336.4 315.2 35 3000 3.5(35) 0.38 53.8 7.0
TK-2114 373.2 336.1 35 2500 3.0 (30) 0.54 58.2 8.0
SR T DIMENSIONS
A E Gl G2
Model A B c D F ) : H J K L L1 L2 M1 M2 | M3 N1
ID. h7 max.  min.  max.| min.
TK-A1287 200 | 245 215|225 180 110 30 O 59 | 29 | 86 | 126 184 12~M12x24 M10x90 145 M95x2 | 35|15 M99x2
TK-A1291 200 245 215225180110 30 O |59 | 29 86 | 126 | 184 | 12~M12x24| M10x90 |14.5 M100x2 35 15| M99x2
TK-A1511 250 1 300 | 275|275 230 140 30 O 58| 28 | 102 | 156 @ 226 12~M16x36 M12x110 21 | M120x2 45| 15 M129x2
TK-A1512 250 300 275|275 230 140 30 O 58 | 28 | 102 | 156 226 12~M16x36 M12x110 21 A M130x2 45 15 M129x2
TK-A1512-35 250 | 300 | 275 | 275 230 140 35 O 63 28 102 161 231 12~M16x36| M12x115 21 M130x2 | 45 15 M129x2
TK-2114 265 320 | 295 295 240 165 35 O | 60 25 115 |173.5/247.5/12~M16x32  M12x120 | 17.5 M155x2 | 45 | 20  M149x2
Model N2 | N3 on op P Ql Q2 Q3 B S T U \ w1 w2 X1 X2 Y1 Y2 z

H8 H8 g7 H7

TK-A1287 38 90 | 87 | 1275 15 |45 RC1/2 96 | 120 | 138 | 180 110 | 185 108 | M6x10 | 165 M6x10

TK-A1291 38 95 | 91 | 1275 15 |45 RC1/2 96 | 120 @ 138 & 180 110 = 185 108 M6x10 165  M6x10

134 | 210 138  M6x10 210 | M6x9

TK-A1512 38 125 | 120 | 153.75 | 17 ' 50 | RC1/2 126 | 150 | 170 | 227 134 210 | 138  M6x10 210 = M6x9

TK-A1512-35 38 125 120 158.75 17 50 RC1/2 | 126 | 150 @ 170 @ 227 134 | 210 138  M6x10 210 & M6x9

9
9
TK-A1511 38 9 115 | 110 153.75 17 | 50 RC1/2 | 126 | 150 | 170 | 227
9
9
9

N NN NN~
o oo o o o

TK-2114 38 145 140 170 17 |50 RC1/2 146 | 170 190 250 145 210 160 M6x10 | 230 | M6x10

* EKERTIEBAEEF LS EM - *Coolant Collector and Confirmation Device Please See Accessories pages.

69 AuTOGRIP



BT R D Ze M AT (= ) wemaRnD
SHORT TYPE ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

b K

EHARLLEET - AR IREH BT -

PRI L B SR s R B R B -

New design, short form, light weight large through-hole.
Built-in safety check valves and pressure relief valves.

I NAREENI A RS - (BEHEm)

Linear sensor can be attached.(optional)

B EFEmFH Patent numbers:
&7 . PAT.NO.M491534(Taiwan)

== .

KPE : PAT.INO.ZL201420584274.5(China)

Wwi1 2.5

6x2 2> P 6L
mvasill | =
9 |N2 |
g 7[ S|l @ = Liw|olm
o Sla|s|sl8 < SIS
S S 50| || R M3 M
2x2~Q3
Pressure Port #3584, U
M1
4
4~Y2 z
L Vv H G1
RC1”
Drain Port %547l X G2 ‘ J
(TK-2820:M40x1.5) @33 (TK-2820:339) u__ﬂ_.__LL% "k
A“ﬂDr
RBIRIE SR
Subject to technical changes
R 1ii#R1& SPECIFICATIONS
il SEEE S Eff. piston area 112 BaOEY BaEREN I B2 wRRE
il (Extend) Hi1fil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight = Total oil leakage zc
Model N
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min. H
B
TK-2416 418.4 375.4 35 2000 3.0 (30) 1.12 78.0 9.0 |
TK-2416L 418.4 375.4 51 2000 3.0 (30) 1.31 79.2 9.0 i«iﬁ?
il
TK-2820 526.2 472.6 51 1600 3.0 (30) 2.4 134.0 10.0
4MUR~F DIMENSIONS
A E Gl G2
Model o B © F N N H J K L M1 M2 | M3 N1 N2
AFLI.D. h7 max. = min.  max. = min.
TK-2416 290 | 340 300 260 190 35 0 60 25 | 129 | 185.5 275 M16x32 |« M180x3 | 45 | 20 @ M174x2 38
TK-2416L 290 | 340 300 260 190 51 0 76 25 145 201.5 291 M16x32 = M180x3 @ 45 20 M174x2 52
TK-2820 340 | 395 | 360 320 235 | 51 0 76 25 | 152 | 2125 316 M20x40 @ M220x3 @ 45 | 20 M218x2 52
o1 02 R 5]
Model P Q1 Q2 Q3 T U V w1 w2 X1 X2 Y1 Y2 z
H8 H8 g7 H7
TK-2416 170 | 166 | 186.5 20 50 RC1/2 | 171 | 202 | 220 @ 292 | 7 167 | 250 | 188 M6x11 260 M6x12 5
TK-2416L 170 @ 166 | 2025 20 50 RC1/2 171 202 | 220 292 7 167 | 250 188 M6x11 260 M6x12 6
TK-2820 210 | 205 216 21 50 RC1/2 | 215 | 262 | 285 360 @7 | 202.5 300 | 240 M6x12 320 M6x12 6

* EKERTIEMAEEFLMBMN A EME - *Coolant Collector and Confirmation Device Please See Accessories pages.

Autocrip 70



Y AL

AA ke 7R 2L oh 22 10 88 AR ]

SHORT TYPE ROTARY HYDRAULIC CYLINDER WITH BIG-BORE THRU-HOLE AND SAFETY DEVICE

KB

ARG - BAA LR E RG] -
BAAEHNEBACRFENIYZEBASENSERIEX -
R LR B SRS R B R B -

ZEFKHEREEZ

Bigger bore through-hole design.Super short form, light weighted.
Built-in safety check valves and pressure relief valves.
Front/Rear end mounting.

O] 08 040 8¢ @60 MNABFIKEREHE -

oI MNARMEEM RS - (EER)

Diameter of coolant collector’ s drain port is optional.
Default : @33 ; optional : @40, F60.

Linear sensor can be attached.(optional)

HHEBFIE Patent numbers :
&% : PATNO.M491534(Taiwan) / KFE : PAT.NO.ZL201420584274.5(China)

(=R

W1
2~ AR AU AR AL
Mounting Hole 6-X2
- 1
Y1
—b-
—n T N
= = A |55 E
IS - Szl y
\ ] SNEISIES
2x2-03 N ~ ,
#m AL s
Pressure Port ~
* 4/
C 1] o
B
:Jrainport / 8
‘933
I I
RSB U HRER A
Subject to technical changes AB ﬁr
il #i1& SPECIFICATIONS
ik SHZEHETE Eff. piston area 112 ReLEE ReERESN | 58 wERE
o 818 (Extend) i8] (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight Total oil leakage
odel
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TS-539 72.4 67.1 15 8000 4.5(45) 0.012 6.9 3.0
TS-866 168.0 155.5 25 5600 4.5(45) 0.056 16.3 4.0
TS-1081 189.2 174.3 25 4800 4.5(45) 0.085 21.2 4.3
TS-1210 231.7 222.0 30 3500 3.5(35) 0.193 35.6 6.0
MR~ DIMENSIONS
A E Gl G2
Model EES B B1 © D F X . H J K L L1 L2 M1 M2 | M3
1D h7 max. min., max. = min.
TS-539 107 1143 | 141 125 125 110 52 15 0 425 275 57 91 124 6~M10x20 M8x60 @ 12 | M45x1.5 25 12
TS-866 165 211 | 207 | 190 190 168 85 | 25 0 | 55 30 725 107 149 12~M10x20 M10x80 17.5 M75x2 @ 35 15
TS-1081 180 226 | 222 | 205 205 168 100 25 'O 58 33 | 74 115 | 166 12~M10x20 | M10x80 16 M90x2 | 35 | 15
TS-1210 210 263 260 240 240 200 125 30 O 64 34 935 136.5/193.5 12~M10x20 M12x100 20 & M115x2 35 15
Model N1 N2 | N3 ol o2 P 1 2 3 R s T U vV | Wil | w2 X1 X2 Y1 Y2 z
ode H8)  (He) o @B g ¢
TS-539 M44x15 | 26 ' 8 42 | 39 |85 85 30 RC1/4| 42 69 | 72 103 | 10 62.5 100 54 | M6x10 = 90 | M5x12 5
TS-866 M74x1.5 | 37 | 8 72 66.5/105 12 45 | RC1/2 | 72 100 111 154 | 12 95 140 88 | M6x12 140 | M6x10 5
TS-1081 M89X2.0 38 9 85 81 109 15 45 RC1/2 | 86 113 123 175| 16 103 160 | 103 | M6x12 | 160 | M6X10 5
TS-1210 M118x2.0 47 9 110 106 131 16 46 RC1/2| 115 @ 145 151 210 | 16 103 160 133 M6x12 | 195 | M6x11 5

* KB RTIEEREEFRSHEMNMHEE - *Coolant Collector and Confirmation Device. Please See Accessories pages.

71 AUTOGRIP




TH Ch 22 70 2 JBR ] B ERE
ROTATING HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE
o HEEE 6F . ANEROWHEL -
POREIS LR ENSH M - TS LN RS AR - RN RR

B MeERERERNREFLEY -

®  Super high speed, light weight large Through-Hole.

® Built-in check valve which prevents the internal pressure from sudden
declining so that the workpiece will not fly out and cause a serious accident.

CIF IR M TE A S 4148 - (BRB M)

Linear sensor can be attached.(optional)

P |
|
| h
= uw ool o
& vz Twok 8 8 88| 8
2-03 ) 1
Pressure Port M1
FepiceEiR ‘
L
) v T >
(TH-428:RC3/4”) | ] 3 G2 | | H |Gl
Y= i ==
EHRAL | J
233 | (TH-428:226.5) I K
Dr
A'B
pas]
. I
RBHUE ISR MR S
Subject to technical changes 7E
- B
Fi i #31& SPECIFICATIONS ‘:@:
Pl
izl JEZEETE Eff. piston area 712 ReEEY EaEREN | B2 BBRE o
#{8 (Extend) HIfil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight Total oil leakage il
Model
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TH-428 53.2 50.5 10 8000 4.0(40) 0.008 5.8 3.0
TH-A536 69.8 67.5 15 8000 4.0(40) 0.05 8.3 3.0
9hNEIR~F DIMENSIONS
A
Model A B € D = F e e 2 52 H J K L M1 M2 M3
. (h7) max. min. max. min.
TH-428 90 130 | 120 = 100 80 | 40 10 0 35 25 | 45 1275 155 6-M8x15 M33x1.5 25 12
TH-A536 105 | 150 | 135 | 115 100 | 48 15 0 40 25 | 40 118 166 & 6-M10x20 M42x1.5 25 15
01 02 R
Mi | N1 N2 P 1 2 T \% w1 w2 X1 X2
ode He) | (He) o] e B gy | S v
TH-428 M34x1.5 | 26 30 28 1015 11 24 RC1/4 32 45 65 86 4 72 105 76 M4x7
TH-A536 M44x1.5 | 28 38 36 (1115 10 24 RC1/4 42 55 73 98 4 80 110 83 M5x10

*EXKBRITEBRIEEZSESMHER - *Coolant Collector and Confirmation Device Please See Accessories pages.

AUTOGRIP 72



’ TR LG 2 oh 22 30 B8 H BR ] BESEEEL

SMALL TYPE ROTARY HYDRAULIC CYLINDER WITH THRU-HOLE AND SAFETY DEVICE

SR ERER - BEKI -
RSN F I REBERE  EEREERE
REERAEAR M - AHEKX - HEHIE -

BHZEDARHEZEMA - TRRAEEE -

ORI T BABAT 8 -

This is a compact, short form, light weight through-hole rotary cylinder.
With patented build-in safety check valves and pressure relief valves.
Large feed port and drain port, large input and keep drain smoothly.

Can be screwed from the front end or rear end of cylinder when mounting.
For use with vertical or horizontal spindles.

aIf INARME EAL R AR - (EREm)

Linear sensor can be attached.(optional)

o

B EFERFSE Patent numbers:
£ : PATNO.M491534(Taiwan) / AFE : PAT.NO.ZL201420584274.5(China)

Q1 P , L2 6~L1
6~V2 H = 1]
B
L
ol o8| p| N&JMJ @F O| m
o =l s o Q| Q
| si8s s &
2x2~Q3 g = f
Pressure Port
@, f:h i
ur |\ ul 4~W2 L =
| a~Ve,
e | LEL P
Drain Port
o J z1
G2 K Gl
I
IREBIRIBISLAIHER
Subject to technical changes Al \_Qr
AR 1& SPECIFICATIONS
RI5R JEZEETE Eff. piston area 72 ReEEY EaEREN | 2 BHRE
— {8 (Extend) HiIfA (Retract) Piston stroke Max. speed Max. pressure Moment of inertia | Weight Total oil leakage
ode cm? cm? mm min“(r.p.m.) MPa(kgf/cm?) kg-m? kg lit. / min.
TR-539 72.4 67.1 15 8000 4.0(40) 0.010 6.8 3.0
TR-646 105.0 93.9 15 7000 4.0(40) 0.015 9.5 3.0
TR-853 135.3 125 20 6300 4.0(40) 0.032 1.5 3.9
TR-1075 170 155 25 4500 4.0(40) 0.065 18 4.2
TR-1291 234 217.5 30 3500 4.0(40) 0.092 29.5 4.5
SMEUR ST DIMENSIONS
A E Gl G2
Model RE B C | D F : : H J K L L1 L2 M1 M2 | M3
ID. h7 max. | min. | max. = min.
TR-539 107 | 143 125125 110 52 15 O 34 19 4 97 | 133 | 6-M10x20 M8x60 12 | M45x1.5 | 25 12
TR-646 128 165 147 147 130 65 15 O 34 19 35 97 135  12-M10x20 M8x60 11.5 | M55x2 25 13
TR-853 145 185 165 170|130 70 20 O | 47 27 45 1185 160 | 12~M10X20 M8x75 12 M60x2 30 15
TR-1075 170 | 212 190 190 160 95 25 O 52 | 27 | 45 1295 181  12~M10x20 = M10x85 16 M85x2 35 15
TR-1291 200 | 248 | 225215 180 110 30 O 59 29 5 146 240.5 12~M12x24 | M10x95 16 | M100x2 | 35 15
01 02 R
Model N1 N2 N3 P Q1 Q2 Q3 S T Ul u2 V1 V2 w1 W2 VA Z1
H8 | H8 g7

TR-539 M44x1.5
TR-646 M52x1.5
TR-853 M58x1.5

25 | 42 39 (925 65| 26 RC1/4 42 40 103 525 55 53 | M5x8 90 M5x9 RC1/2
25 | 50 46 95 5) 32 RC3/8 50 50 116 59 62 615 M5x9 98 | M5x9 RC 1/2
30 | 55 53 114 8 34 |[RC3/8 56 | 50 128 65 67 70 |M5x10 110 M6x11 RC 1/2
TR-1075 M84x2 33 | 80 | 75 [1235 12 40 RC1/2 81 50 164 83 86 95 |M5x10 155 M6x11 RC 3/4
TR-1291 M99x2 38 | 95 91 | 139 14 45 |RC1/2 96 | 50 180 91.5| 93  110.5 M6x12| 165 M6x12 RC3/4

*EKBRITEBRIEEFZSEEMEER - *Coolant Collector and Confirmation Device Please See Accessories pages.
73 AUTOGRIP

© | © |0 |
[S2 B2 NI &2 BRI, B




’ RK P30 L 78 o 8 2 8 H BR (L SRR

ROTATING HYDRAULIC CYLINDER WITH SAFETY DEVICE

R & - KSAEEMEL -

R RSB SRS R B R ERR -
LRI O HERERE 2 -

For short form, light weight and high speed rotary cylinder.
Built-in safety check valves and pressure relief valves.

Can screw it from the rear end of the cylinder when mounting.

BMAREBLEB L AEE D RELESE -
The drain port should be independently connected to oil tank to avoid back
pressure.

L2
=

T ——
u— [R— —
6~L1 ~
. _ A: LD, RfE N1 ]
3 m Bist 7 ||
L 2 I NI
) stu|w [8)
Ao g CHr 8 8 8|5 88
; g I =
il ‘ N_\K
- S| ~ RC1/4" =7
. Drain Port 3, | | r/| | p —
2~RC3/8" (RK-200:RC1/2")
70 (RK-75:60) Pressure Port #H4L SRS
H G
2-RCLZ
Pressure Port  455HFL Q P J
JoR
A B S5
= S
\}@/ Q
RC3/8" ﬁ:
Drain Port 3#5@,~ Dr R
RERAEBEA RK-250
Subject to technical changes —
AR 1& SPECIFICATIONS
Eizh JEZEETE Eff. piston area 7%2 = aEY EeEAEN I S
- R RI(Extend) HiI{3l(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
ode cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RK-75 44.2 37.1 15 6000 4.0 (40) 0.01 2.9
RK-100 78.5 71.5 20 6000 4.0 (40) 0.03 4.4
RK-125 122.7 113.1 25 6000 4.0 (40) 0.05 6.9
RK-150 176.7 160.8 30 5500 4.0 (40) 0.09 9.5
RK-200 3141 290.4 35 5500 4.0 (40) 0.28 154
RK-250 469.1 436.0 60 2000 5.0(50) 0.40 452
HMEUR <) DIMENSIONS
= G G M
Model A B © D1 D2 () F . H J K L L1 L2 (H8) N N1 P Q R S
RK-75 75 115 107 90 | 90 65 30 45 | 30 57 | 148 M20x2.5 @ 6-M8x16 M8x60 | 12 21 35 5 415 10 |27.5 26
RK-100 100 20 | 132 /115 /100 80 | 30 | 45 25 72 163 M20x2.5 | 6-M10x20 M8x75 | 12 | 21 | 35 | 5 [39.5 10 28.5 32
RK-125 125 25 160 140 130 110 | 35 | 50 | 25 82 172 M24x3.0 | 6-M12x20 | M8x85 | 12 | 25 45 5 38,5 10 28.5 32
RK-150 150 | 30 | 190 | 170 /130 110 | 45 | 55 25 95 184 M30x3.5 | 12-M12x24 M10x100 16 | 32 45 5 | 37 10 285 32
RK-200 200 | 35 | 245 /220 145 120 55 | 70 35 115 201 M36x4.0 @ 12-M16x30 M10x125 21 1 38 60 5 | 38 6 285 28
RK-250 245 60 307 275 220 160 65 85 | 25 165 255 M42x3.0 @ 12-M20x35 M16x175 28 45 65 | 12 33 | 18 | 6 -

AUTOGRIP 74



RK-N oh & 3 B i ER T B
ROTATING HYDRAULIC CYLINDER

o EE B  WEIEEMEL -
o LHERUMBEKEEL -
®  For short form, light weight and high speed rotary cylinder.
® Can screw it from the rear end of the cylinder when mounting.
RSB EBELREE  DUBRREESE -
The drain port should be independently connected to oil tank to avoid back
pressure.
=
I =
2 6~L1 T
N g I )
1 ~
A B |Dr N
3
Ql
T SEE
Qal
<t
RC1/4" o
Drain Port S85H7L
2~RC3/8"(RK-200N:RC1/2") 5
(RK-75N:60) Pressure Port  455HFL =
‘ 77.5(RK-250N:90) H G
J
REFIEEBIER
Subject to technical changes
11l 3315 SPECIFICATIONS
il SEEMEME Eff. piston area 1752 o DEg e EREN I 52
{8 (Extend) HiIf8l(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RK-75N 44.2 371 15 6000 4.0(40) 0.01 2.8
RK-100N 78.5 71.5 20 6000 4.0(40) 0.03 4.3
RK-125N 122.7 113.1 25 6000 4.0(40) 0.05 6.8
RK-150N 176.7 160.8 30 5500 4.0(40) 0.09 9.4
RK-200N 314.1 290.4 35 5500 4.0(40) 0.28 15.3
RK-250N 469.1 436.0 60 2000 5.0(50) 0.40 45.2
9hNEIR T DIMENSIONS
E G G M
Model A B | C D1 D2 ) F lmax| min.| P J K L L1 L2 (H8) N NI P Q| R
RK-75N 75 15 107 90 90 | 65 | 30 45 30 57 134.5 M20x2.5 6~M8x16 M8x60 | 12 |21 35| 5 28 10 275
RK-100N 100 20 132 115 100 80 | 30 45 | 25 | 72 1495 M20x2.5 @ 6~M10x20 | M8x75 ' 12 21 35 5 26 10 285
RK-125N | 125 25 160 140 130 110 35|50 25 | 82 |159.5 M24x3.0 6~M12x20 | M8x85 | 12 25 45 5 26 10 28.5
RK-150N 150 30 190 /170 130 110 45 55 25| 95 1725 M30x3.5 12~M12x24 M10x100 16 32 45 5 26 10 28.5
RK-200N | 200 35 245 220 145 120 55| 70 35 |115|/192.5 M36x4.0 12~M16x30 M10x125 21 38 60 5 30 6 285
RK-250N 2451 60 307 275 220 160 65 85 | 25 165 255 M42x3.0 @ 6~M20x2.5 M16x175 28 45 65 12 37 18 6

75 AUTOGRIP



ot
Bt
[
il
e

RH Ch 8 30 55 B ]

ROTATING HYDRAULIC CYLINDER

DEEERIEERARRESSREMMN  E8K -
DERSRRRE - FEANNEARERDREE LA - MASM SR
mEE RS -

® The rotary valve and cylinder body, all made of special light alloy, light-
weight.

®  Through unique design, the rotary valve enables the inside bearing to get
sufficient lubricating and cooling and endure high-speed rotary for longer
service life.

B EMAREBLERELDHEE  DUIBSELEE -
@ The drain port should be independently connected to oil tank to avoid back
pressure.

- N
Ti2

A BQ Dr m
gL JH

o)
il
il
N
B

g
P!
rx

RC1/4”
Drain Port JEJH7, ‘ Q IR 10
| < 13(RH-200:14) E’;gssure Port #307L
6
60 102 H G
J
ot o tonica changes
i #31% SPECIFICATIONS
L JEZEHETE Eff. piston area 712 S ISPOLEE e EHEN | B8
818 (Extend) HI{8(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Mode! cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RH-65 31.0 27.9 15 6000 3.5(35) 0.01 29
RH-80 47.7 42.8 15 6000 3.5(35) 0.01 34
RH-100 75.4 70.5 20 5500 3.5(35) 0.04 4.9
RH-125 119.6 112.5 25 5500 3.5(35) 0.08 6.8
RH-200 310.0 286.3 35 4000 4.0(40) 0.38 20.4
SMUR <) DIMENSIONS
Model A B Cc D (hE7) F mca;x. m(isn. H JJ K L ('_';/g) N P Q R S|
RH-65 65 15 98 80 60 22 45 30 73 175 | M12x1.75x30 | 6~M8x16 14 4 RC3/8 30 15 45
RH-80 80 15 112 90 65 25 | 45 30 74 176 | M16x2.0x30 6~M8x16 17 4 RC3/8 30 15 45
RH-100 100 | 20 1135 100 80 ' 25 45 | 25 885 190.5 M16x2.0x30 = 6~M10x20 17 4 RC3/8 30 15 45
RH-125 125 25 160|130 110 30 50 25 955 197.5 M20x2.5x35 @ 6~M12x20 21 4 RC3/8 30 15 45
RH-200 200 | 35 245 145120 55 70 35 | 130 232 M36x4 12~M16x30 | 38 5 RC1/2 31 16 43

AUTOGRIP 76



il
et
[
tB
i

Ch & 30§31 28 [BR ]
ROTATING AR CYLINDER

RA

Liﬁﬁﬁ RREMRERABAESSREMA  E8K -
DEBARRRE  EEERERIEREREN)  RANRESKE
Rk .

® The rotary valve and cylinder body, all made of special light alloy, are light-
weight.

®  Through unique design, the rotary valve can considerably reduce the waste
in compressing air and efficiently increase its utillization.
AR BEAMEBRIHTE -
When used, a little oil mist should be contained.

L
A: |.D.AE
|/
=
/ ?\?\ Al i
— AT S w] w g o] @
S . o p— Q) Q] Q] Q| Q
o}
® j L K
i ISt ~
13!13 / Als 36.5
! N
77777777 Silencer 2~RC1/4”
r HERR Pressure Port
\ Badl
60 | 95 H G
i J
RBIREIELRET
Subject to technical changes
Fli#1& SPECIFICATIONS
itk JEZEEIE Eff. piston area 72 ReaEEY EaEREN 1 B8 ERBRE
#18) (Extend) HIfAl(Retract) Piston stroke Max. speed Max. pressure | Moment of inertia | Weight | Air Leakage( 6kgf/cm?)
Model
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) kg-m? kg cclsec
RA-100 77.0 74.4 15 6000 0.8(8) 0.03 3.9 400
RA-130 131.2 124.7 15 5000 0.8(8) 0.05 5.2 400
RA-170 2254 219.0 20 5000 0.8(8) 0.18 8.5 400
RA-220 378.6 369.3 25 4000 0.8(8) 0.36 14.5 400
RA-270 571.0 562.9 30 3000 0.8(8) 0.75 18.4 400
HMEUR <) DIMENSIONS
E G G
Model A B c D () F — it H J K L M (H8) N
RA-100 100 130 - 80 60 22 50 35 65 160 M12x1.75 6-M8x16 13 25
RA-130 130 160 120 90 65 25 45 30 70 165 M16x2.0 6-M8x16 17 30
RA-170 170 200 140 100 80 25 45 25 85 180 M16x2.0 6-M10x18 17 30
RA-220 220 255 170 130 110 30 50 25 91 186 M20x2.5 6-M12x20 21 35
RA-270 270 305 190 130 110 35 55 25 105 200 M24x3.0 6-M12x20 25 40

77 AUTOGRIP




ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL AND SATETY DEVICE

’ RS P30 L 7817 72 122 | BU 30 85 BR ] B

o RE . FiF - {TiZIEHIE DM BT -

o REIVAERR  TREBRES - UERABLIERFE -

o NEFILHBEEERERERM -

o ZERFOUHEREE -

®  For short form, high speed and stroke control.

® With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

[ J

Built-in safety check valves and pressure relief valves.
® Can screw it from the rear end of the cylinder when mounting.

R RER U EBELRERE  DReELESE -
TREBAEEBEERNAR U ENUARES - (FT=m)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

Stroke Detection Type can be customized to Linear Positioning System.

] T 1 Tmia
ES Yol
%“’l

A

S '},Xq'

\_j‘\s\ L)
37
&\ c 6~L1 L2
N Dr | AB S
\ A: I.D.W@jSiii
\y j( B:StL 72 ;*
- Yy g
L prmE s RS ESRS R SRS
i LI
RC1/4” | Nt
Drain Port 33l I &5
27(RS-200:29.5) ' ‘10 5 I L
2~RC3/8"(RS-200:RC1/2") H2 H G
Pressure Port #5#7L 3
RS-200 RS-75,100,125,150
RBIRIEIELRORER
Subject to technical changes
1T #31E SPECIFICATIONS
Rige JEZEMETE Eff. piston area T2 BeEEY ReEREN | =
Vodel 818 (Extend) HiI{8) (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight e
ode §
cm? cm? mm min™(r.p.m.) MPa(kgf/cm?) kg:m? kg E
B
RS-75 43.0 37.1 15 6000 4.0 (40) 0.01 3.4 |
RS-100 77.4 71.5 20 6000 4.0 (40) 0.04 4.9 ﬁ
RS-125 121.6 113.1 25 6000 4.0 (40) 0.05 7.4
RS-150 175.6 160.8 30 5500 4.0 (40) 0.10 10.7
RS-200 313.0 290.4 35 5500 4.0 (40) 0.29 15.9
MR~ DIMENSIONS
E G G M
Model A B © D1 D2 "7) F . H H1 H2 J K L L1 L2 (H8) N
RS-75 75 | 15 {107 90 90 | 65 | 30 | 45 30 57 | 42 145 202 M20x2.5 6~M8x16 M8x60 12 21 35
RS-100 100 20 132 115 100 80 30 45 25 72 42 145 217 M20x2.5 6~M10x20 M8x75 12 21 35
RS-125 125 25 160 140 130 110 35 | 50 | 25 | 82 | 41 144 | 226 M24x3.0 6~M12x20 M8x85 12 25 45
RS-150 150 30 190 170 130 110 45 b55 25 95 39 142 237 M30x3.5 12~M12x24 = M10x100 16 32 45
RS-200 200 35 245 220 145|120 55 70 | 35 | 115 34 1425 257.5 M36x4.0 12~M16x30 | M10x125 21 38 60

* 3 #ERHRE - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AUTOGRIP 78



ROTATING HYDRAULIC CYLINDER WITH STROKE CONTROL

’ RS-N {72 2 i B 30 98 BR L B

R & - [TREEHIVDE R -

RIETVA R - TR2RESS - OIfERUME EEES -
ZREUHEREEZ -

For short form, high speed and stroke control.

With proximity sensor , the movement of the position is easy to adjust and
confirm when operating.

® Can screw it from the rear end of the cylinder when mounting.

EMAREB L ERELHEE  DBeELEE -
TRBAEBOE BRI E A R FE - (F1HHm)

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

==
A:1D. FE
B:St. 1712
- @L 88
Drain Port 5#3#7, ==
10 SN
2-RC3/8"(RS-200N:RC1/2") | 1314%S-200N:134.5) H G
RS-200N Pressure Port 4437, ;
Sbiect 1o el changes
i1 SPECIFICATIONS
L JEZEMIE Eff. piston area 712 S ESPOLE R EHEN | B8
B I(Extend) il (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Mode! cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RS-6520N 32.0 28.3 20 6000 4.0(40) 0.01 3.2
RS-6530N 32.0 28.3 30 6000 4.0(40) 0.01 3.3
RS-75N 43.0 371 15 6000 4.0(40) 0.01 3.3
RS-7530N 43.0 37.1 30 6000 4.0(40) 0.013 3.7
RS-100N 77.4 71.5 20 6000 4.0(40) 0.04 4.8
RS-125N 121.6 113.1 25 6000 4.0(40) 0.05 73
RS-150N 175.6 160.8 30 5500 4.0(40) 0.16 10.6
RS-200N 313.0 290.4 35 5500 4.0(40) 0.29 15.9
ShE R~ DIMENSIONS
Model A B C D1 D2 (rlé) F mSX. m(izn. H J K L L1 L2 (IYB) N
RS-6520N 65 20 97 80 80 60 25 45 25 62 193 M16x2.0 6~M8x16 M6x70 145 17 30
RS-6530N | 65 30 97 80 80 60 25 45 15 62 203 M16x2.0 6~M8x16 M6x80 145 17 30
RS-75N 75 15 | 107 90 90 65 30 45 30 57 188 M20x2.5 6~M8x16 M8x60 12 1 21 35
RS-7530N 75 30 107 @ 90 90 65 30 45 15 72 203 M20x2.5 6~M8x16 M8x75 12 | 21 | 35
RS-100N 100 | 20 | 132 115 100 | 80 30 45 25 72 203 M20x2.5 6~M10x20 M8x75 12 21 | 35
RS-125N 125 25 160 140 130 110 35 50 25 82 213 M24x3.0 6~M12x20 M8x85 12 | 25 | 45
RS-150N 150 | 30 190 170 130 110 @ 45 55 25 95 226 M30x3.5 12~M12x24 M10x100 16 32 45
RS-200N 200 | 35 245 220 145 120 @ 55 70 35 | 115 | 249.5 | M36x4.0 12~M16x30 M10x125 21 | 38 | 60

* 3 #FIRA - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

79 AUTOGRIP



’ RL B3 | 1 [ 0 7K B 3 83 5Eh R T e

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SATETY DEVICE

SR - EKEEEHEL - ol AREBRAATIHIK -
PRI LS B SRS R R R B -

® To allow coolant to be feed from the rear end of the distributor through the
rotating union

®  Built-in safety check valves and pressure relief valves.

EMAREB L EFELHEE  DBeELEE -

KBRS RANR - BB -

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

6~L1 *’L_z‘«
o E ==
RC1/4" @ b _
Coolant Port KL — g\ lSItD ?E 8
e St 7 *Hf
mhE ‘ — N| =
T e alal Q
() © | I SIS
® Tl |
miTod il
RC1/8" f
Coolant Drain Port 387Kf.
- 20 H1
T
RC1/4” 5 L
13,13 Drain Port 7, 10 =
60 Ci. H2 H G
1 I~ J
(
A
_ 2~RC3/8"(RL-200:RC1/2")
C-Dr AH Bi Dr Pressure Port #8587,
PV Limit value 14400 MPa-r/m -
PV [RHIE
RBWASEANET)
Subject to technical changes
K Ali#1& SPECIFICATIONS
RigR JEZEMFE Eff. piston area 712 B OEE R EREA KIS EREN | B8
Vodel {8 (Extend) HiI{8(Retract) Piston stroke Max. speed Max. pressure Co&l::'t F():roer:;i(;;ion Moment of inertia Weight
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgflcm?) kg-m? kg
RL-75 42.6 371 15 6000 4.0(40) 3.5(35) 0.01 3.1
RL-100 77.0 71.5 20 6000 4.0(40) 3.5(35) 0.04 4.6
RL-125 121.2 113.1 25 6000 4.0(40) 3.5(35) 0.06 71
RL-150 175.2 160.8 30 5500 4.0(40) 3.5(35) 0.10 9.7
RL-200 312.5 290.4 35 5500 4.0(40) 3.5(35) 0.30 15.6
4MUR~F DIMENSIONS
Model A B © D1 D2 (5) F |[Gmax. Gmin. H H1 H2 J K L L1 L2 (I_’:Ag) N
RL-75 75 15 | 107 | 90 20 65 | 30 45 30 57 | 42 | 137 | 194 | M20x2.5 | 6~M8x16 M8x60 12 21 35
RL-100 100 | 20 132 | 115 100 | 80 @ 30 45 25 72 | 42 | 137 209 | M20x2.5 | 6~M10x20 M8x75 12 21 35
RL-125 125 | 25 160 | 140 130 110 35 50 25 82 | 41 | 136 218 | M24x3.0 | 6~M12x20 M8x85 12 | 25 | 45
RL-150 150 30 190 170 | 130 110 | 45 55 25 95 39 134 230 M30x3.5 | 12~M12x24 M10x100 | 16 32 45
RL-200 200 | 35 | 245 220 145 | 120 @ 55 70 35 | 115 36 | 132 | 248 M36x4.0 12~M16x30 M10x125 | 21 | 38 60

Autocrip 80



’ RL-N yE 7K B 300 68 5 ER L iR

ROTATING HYDRAULIC CYLINDER WITH COOLANT CONNECTION

2R - TKIVEEHER - o EREIREATIHIK -
ZRFOREIREE 2 -

® To allow coolant to be feed from the rear end of the distributor through the
rotating union.

® Can screw it from the rear end of the cylinder when mounting.

EMAREB L EFELHEE  DBeELEE -

KBRS RANR - BB -

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

L2
6-L1 »ﬁ«

- RC1/4" } - ‘
Coolant Port 7£7K4L A LD. R ] g T
B:St. 178 |2
s I - e
NI ) (] I st w N| =
N "%"Q T HL&ngDDg
© | — Q| Q
[sp] i L i | j\l N K
R ilihsas i w N
RC1/8" ] ‘ .
Coolant Drain Port J87K%L —
< 20 28 S
T
RC1/4” 5 N
M Drain Port #H7, 1/245 10 H G
60 .
C| J
( 2~RC3/8"(RL-200N:RC1/2")
A Pressure Port #3578 7L
C-Dr I \\
PV Limit value 14400 MPa./m A B | Dr
PV [RIE
RIS SRR
Subject to technical changes
F2 i #2148 SPECIFICATIONS
RigR JEZEMFE Eff. piston area 712 B OEE R EREA KBRS EREN | B8
Vodel 1B l(Extend) HiIffl(Retract) Piston stroke Max. speed Max. pressure CO&'::T;;Z’;E?SO" Moment of inertia Weight
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgficm?) kg:m? kg
RL-75N 42.6 371 15 6000 4.0 (40) 3.5(35) 0.01 3.0
RL-100N 77.0 71.5 20 6000 4.0 (40) 3.5(35) 0.04 4.5
RL-125N 121.2 1131 25 6000 4.0 (40) 3.5(35) 0.06 7.0
RL-150N 175.2 160.8 30 5500 4.0 (40) 3.5(35) 0.10 9.6
RL-200N 312.5 290.4 35 5500 4.0 (40) 3.5(35) 0.29 15.5
4R ~T DIMENSIONS
Model A B © D1 D2 (hE7) F |G max. G min. H J K L L1 L2 (I-';AS) N
RL-75N 75 15 107 = 90 90 65 30 45 30 57 180 M20x2.5 6-M8x16 M8x60 12 | 21 | 35
RL-100N 100 | 20 | 132 115 100 | 80 30 45 25 72 195 M20x2.5 6-M10x20 M8x75 12 | 21 35
RL-125N 125 | 25 160 | 140 130 110 | 35 50 25 82 | 205 M24x3.0 6-M12x20 M8x85 12 25 | 45
RL-150N 150 @ 30 190 170 | 130 110 45 55 25 95 | 218 M30x3.5 12-M12x24 M10x100 16 | 32 45
RL-200N 200 | 35 245 220 145 | 120 @ 55 70 35 115 | 240 M36x4.0 12-M16x 30 M10x125 21 | 38 | 60

81 AutoGRrIP



RL-AN 7+ 5 A0 38§85 BR ] Ptk
ROTATING HYDRAULIC CYLINDER WITH AIR CONNECTION

R OTREEHEL - o EAHERRAER -
ZRFOREIREE 2 -
® To allow compressed air to be feed from the rear end of the distributor
through the rotating union.
® Can screw it from the rear end of the cylinder when mounting.
FERE - FEAMENRTE -
ARAERERAR  F27EHE -
When used, a little oil mist should be contained.
The rotary cylinder should not run without air passing through the air

port.
6~L1 *Fr
\k_‘\ L 1
] =—
RC1/4”
Air Port &4l ALD. W ) g I
B: St. 1712 *H*
f— o=
- — [l STul ) o) =
T 1 SIS aalQ
© J(‘ I 1 - HL SIRSIRSIES]
” T@y 'F:‘ |‘: B = 1IN \L(
ROLA 7
Drain Port 8 #4L 57 28 =]
2~RC3/8"(RL-A200N:RC1/2") | 10 5 N
Pressure Port #AJHfL 109.5 H G
J
.-
A B L Dr
REBRIEISLHIER
Subject to technical changes
K 1ili#34% SPECIFICATIONS
itk JEZEHETE Eff. piston area 72 REOEE BEEREN FREEEERAEN I B8
7o
' Air connection N . =
odel #{3 (Extend) Hiffll(Retract) Piston stroke Max. speed Max. pressure s, R Moment of inertia Weight e
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg 2
po|
RL- A75N 42.6 37.1 15 6000 4.0(40) 0.8(8) 0.01 3.0 2
RL- A100N 77.0 71.5 20 6000 4.0(40) 0.8(8) 0.04 4.5 il
RL- A125N 121.2 113.1 25 6000 4.0(40) 0.8(8) 0.06 7.0
RL- A150N 175.2 160.8 30 5500 4.0(40) 0.8(8) 0.10 9.6
RL- A200N 312.5 290.4 35 5500 4.0(40) 0.8(8) 0.29 15.5
HMEUR <) DIMENSIONS
E G G M
Model A B © D1 D2 () F ——— H J K L L1 L2 (H8) N
RL- A75N 75 15 107 90 90 65 30 45 30 57 166 M20 x2.5 6~M8x 16 M8x60 12 | 21 | 35
RL-A100N | 100 20 132 ' 115 @ 100 80 30 45 25 72 181 M20 x2.5 6~M10x20 M8x75 12 | 21 | 35
RL- A125N | 125 25 160 | 140 130 | 110 35 50 25 82 191 M24x 3.0 6~M12x20 M8x85 12 | 25 | 45

RL-A150N 150 30 | 190 170 130 | 110 | 45 55 25 95 | 204 M30x3.5 12~M12x24 M10x100 | 16 = 32 45

RL-A200N 200 = 35 245 220 145 | 120 @ 55 70 35 115 225 M36x4.0 12~M16x30 M10x125 | 21 = 38 | 60

AUTOGRIP 82



RC 2000 828 137 §E 9 43 U 200 B H [BR 6 RSN B
HYDRAULIC CYLINDER WITH ROTATING JOINT

o OAIEIBEHERL -

o DIMEERENERBEEER RAREEREWAKPOLEKNEK -
o WEYI-FEEHEE -

o OJFAFCITHERA RS AR OIS RURI SR IEITITAZ 124 -

®  Center through-hole hydraulic cylinder, suitable for horizontal CNC lathes..
[}

Can choose an external rotary joint with either single or double paths.

® |t meets the demand for coolant through spindle and airtight pressure detect
function.

®  Has a buil-in check valve for safety.

®  Stroke control via proximity switch or linear positioning system.

MEFARIMNERE R BB O EREAERER -
The proximity switch and single or double paths rotating joint are optional.

6~L1 L2

20
10 - j}
Q &4 5
Q
A

@

H

@ >

25

=]

2~R
Pressure port A,B
B

wadl

=3

@ 110
@56 H6
@38
@ 24 H7

oM
oF
oE
@D
ac2

R |

=yl —Tiim

235
Q P
H
G2 J Gl
ot o chrcaehanges
1,Dr
Aif#iHE SPECIFICATIONS
BUER JEZEHTE Eff. piston area 78 EeOEY EaEREN I 8
#{8 (Extend) HiI{8(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
Mode! cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RC-85 43.8 48.1 20 5000 3.5(35) 0.01 6.8
RC-100 65.6 64.4 20 5000 3.5(35) 0.02 9.2
RC-125 109.8 108.5 25 5000 3.5(35) 0.03 1.1
RC-145 152.2 143.9 30 5000 3.5(35) 0.03 14.6
RC-200 279.3 273.6 35 4000 4.0(40) 0.26 35.5
§hEU R~ DIMENSIONS
Model A B C1 Cc2 D E (h7) F G1max. G1min. G2max. G2min. H J K
RC-85 85 20 120 116 100 65 30 45 25 28 8 70 150  M20x1.5
RC-100 100 20 135 131 115 80 40 45 25 28 8 72 1568.5 | M30x1.5
RC-125 125 25 160 156 140 110 40 50 25 33 8 78 164  M30x1.5
RC-145 145 30 187 183 165 110 50 b5 25 38 8 89.5 169.5 | M40x1.5
RC-200 195 35 257 257 225 120 55 73 38 51.5 16.5 120 222.5 | M36x4.0
Model L1 L2 M(H8) M1 N P Q Q1 R S1 S2 T1 T2
RC-85 6~M8x75 12.5 20.5 10 40 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-100 6~M8x75 12.5 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-125 6~M8x80 1 32 10 50 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-145 6~M10x90 18 42 12 57 14 4 3 RC3/8 31 M4x10 48 M5x9
RC-200 6~M16x130 26 38 12 65 15 6.5 4 RC1/2 35 M4x10 60 M5x11

83 AuToGRIP



’ RC 30§81 132 A 9 132 A0 70 9500 BR R D8 0 5

HYDRAULIC CYLINDER WITH ROTATING JOINT

o OEEBATHEMBALRILN -

® Rotating joint and Proximity switch with bracket type.

F-I BERX - BiEE F2 BEN  &i\E
With single path rotating joint (Fixed type) With double paths rotating joint(Fixed type)

M1 wE  BERE M2 wE  ®RE
With single path rotating joint(Moving type) With double paths rotating joint(Moving type)

Inner Outer|

B AMERREIANSI IR S TR AR

linear Sensor with bracket Proximity switch with bracket

s
pii
o)
=
ill

R PO A SR S - * The proximity switch and rotary joiint are optional.
* ORERTS BRI IR - * Choose and attach the appropriate type.
* FRR BN ER T AR IR - * Please contact AUTOGRIP for more detailed drawing.

AuTOGRIP 84



’ RE TR e A B AT (—) BREEn

COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

SR - SRS R ERE] -

REZYIFE B SRS BB R TEERIERE -
LRI O HERERE 2 -

For short form, light weight and high speed rotary cylinder.

Built-in safety check valves, pressure relief valves and proximity sensor.
Can screw it from the rear end of the cylinder when mounting.

BMAREBLEBELAEE D RELESE -
TRBAEB O E SR EN R FAHE - (FHm)

The drain port should be independently connected to oil tank to avoid back
pressure.

Stroke Detection Type can be customized to Linear Positioning System.

2-RC3/8" 45 ; =
Pressure Port A,B [ hieas ) -
#m7L AB HT A:|l.D. ?_W;n: N K
B:|St. 1712 /
[ IR y 2
s ) AT I wl wl g o
3 T 5[ s 8 § @
5
15
] |
| [a2s (] ; ]
RC1/4" v = Y
Drain Port NL
B, H L1
I J G
Drf AB
REBBIEER R
Subject to technical changes
e K Ali#1& SPECIFICATIONS
;;Ii itk SEEMEME Eff. piston area 1152 ReEEY BeEREN I =
@ #8{3(Extend) HiIfAl (Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight
& Model
;‘i cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RE-110 92.7 87.9 20 6000 3.5(35) 0.02 6.9
RE-120 110.8 106 21 6000 4.0(40) 0.03 8.8
RE-130 130.4 123.1 30 6000 4.0(40) 0.03 9.1
SN R <) DIMENSIONS
© G G M
Model A B ") D E F —— — H J K L L1 (H8) N
RE-110 110 20 145 @ 128 42 29 60 40 66 146 M20x2.5 6~M8x70 12 22 35
RE-120 120 21 168 | 145 42 29 60 39 69.5 148 M20x2.5 6~M10x75 17 22 35
RE-130 130 30 168 | 150 50 33 60 30 79.5 158 M24x3.0 6~M10x85 17 27 40

* 3#2BARE - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

85 AuToGRIP



SRR SEIPEEEHET () R E
COMPACT STYLE HYDRAULIC CYLINDER WITH STROKE CONTROL AND SAFETY DEVICE

i RE

S - KERSHPEMERL - FRESERRIAER -
REZYIFE B SRS BB R TEERIERE -
LRI O HERERE 2 -

For short form, light weight and high speed rotary cylinder, suitable for
vertical lathe.

Built-in safety check valves, pressure relief valves and proximity sensor.

® (Can screw it from the rear end of the cylinder when mounting.

RHAREB M EBEOREE  DIBRELEE -
TRBRABBIENREEEMRARE - (F&M)

The drain port should be independently connected to oil tank to avoid back

pressure.
Stroke Detection Type can be customized to Linear Positioning System.

L2
|
T ]
] ]
5 | _
_ K
S 1.D. A
712
_ =|w|w 8 o
CIESIRSI
1
M1
N |
\uﬁg
2~RC1/2" 12~L
Pressure Port A,B
4amfL AB
(RE-150:2~RC3/8™)
H G
RC3/8” o J
Drain Port J8HFL
(RE-150:RC1/4™) f
Dr A A B
RIS IS T
Subject to technical changes EF:
Fi i #31& SPECIFICATIONS ﬁ
BR
RUSR JEZEHETE Eff. piston area 152 R=EEY EaEREN | - LE
1848 (Extend) HiIfil(Retract) Piston stroke Max. speed Max. pressure Moment of inertia Weight i
Model
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg ill
RE-150 174.4 160.8 30 5500 4.0 (40) 0.06 14.9
RE-200K 292.4 274.9 35 4000 4.0 (40) 0.19 29.1
RE-200L 292.4 265.4 50 4000 5.0 (50) 0.21 304
RE-250 465.2 438.2 60 2000 5.0 (50) 0.43 47.2
9hNEIR~F DIMENSIONS
= G G M
Model A B © D1 D2 ) F — i H J K L L1 L2 (H8) M1 N P Q
RE-150 150 30 205 180 130 110 45 | 60 30 99 177.5| M30x3.5 M12x24 M12x105 185 32 | 10 50 125 114
RE-200K 195 35 257 225|145 120 55 73 38 | 120 239 | M36x4.0 M16x30 M16x130 27 38 | 12 65 15 150
RE-200L 195 50 257 225 170 125| 65 80 30 | 135 254 | M42x3.0 M16x30 M16x145 27 45 | 12 65 15 150
RE-250 245 60 307 275220160 65 85 25 | 165 280 | M42x3.0 M20x35 M16x175 28 45 12 65 15 150

* 3 #%B9%8 : DC 10-30V 100mA NPN - *Proximity sensor

: DC 10-30V 100mA NPN.

AuTOGRIP 86



A RE-A EEEEmEmewamd mann

COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

SR BRERSINIREENRL - JEARBRHRAER -

R B SR - RERERTEERIIEREAE -

ZEF O HEREE 2 -

For short form, light weight and high speed rotary cylinder. To allow compressed
air to be feed from the rear end of the distributor through the rotating union.
Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

RSN BB ELOHERE DB RELESE -

R BEAMEBRHTE -

TRBAEBUEBUSRUEEULRFEE - (FTHHm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Positioning System.

rii Jﬂ: [ -
= H
U Ih—"— Ab.&E | N K
| Or B: St. 1712 a
<t [ ] 7
- 1D N 2} wiw ol o
E ¢ \ [ o1Q, Q| Ql &
8
b ‘
|
1
L85 1 EEEE
12.5
H L1] LL
2~RC3/8"
Pressure Port A,B J G
4m7L AB
A RB UGB ORI
N Subiject to technical changes
H
B2 i #5158 SPECIFICATIONS
| N - . o e =
;E itk JEZEETE Eff. piston area 1772 EelEg EeEREN ARPERSEREN I 52
i ; Air connection — )
il ol {8 (Extend) HiI{8)(Retract) Piston stroke Max. speed Max. pressure N S Moment of inertia Weight
cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg
RE-A110 91.2 87.9 20 6000 4.0(40) 0.8(8) 0.02 6.9
RE-A120 109.3 106 21 6000 4.0(40) 0.8(8) 0.02 8.8
RE-A130 128.9 123.1 30 6000 4.0(40) 0.8(8) 0.03 9.1
4MUR~T DIMENSIONS
© G G M
Model A B (h7) D 1= F TR — H J K L L1 (H8) N
RE-A110 110 | 20 145 128 @ 42 29 60 40 66 | 146 M20x2.5 6~M8x70 12 22 38
RE-A120 120 21 168 145 42 29 60 39 69.5 148 M20x2.5 6~M10x75 17 22 38
RE-A130 130 | 30 | 168 | 150 | 50 33 60 30 | 79.5 158 M24x3.0 6~M10x85 17 27 43

* 3 #EFIRA - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

87 AuTOGRIP



A RE-A

52

AT

: P — : (= — =5 W= FF

S RE L () g
COMPACT STYLE HYDRAULIC CYLINDER WITH AIR CONNECTION AND SAFETY DEVICE

o SR KSESITROEHRI  JLREBKRHEAEZR -

o RNEYIFABHEEE REMRTEEGIIERRA -

o ZRISUHERHEEYZ -

®  For short form, light weight and high speed rotary cylinder. To allow compressed

air to be feed from the rear end of the distributor through the rotating union.
®  Built-in safety check valves, pressure relief valves and proximity sensor.
°

Can screw it from the rear end of the cylinder when mounting.

R BN BB ELOHERE DB RELESE -

R BEAMEBRIHTE -

TRBAEBUEBLASRUEEULRFEE - (FT&Hm)

The drain port should be independently connected to oil tank to avoid back pres-
sure.

When used, a little oil mist should be contained.

Stroke Detection Type can be customized to Linear Positioning System.

L2
| |
5
K
= A: LD, FE fﬁu_mm
o = o|Q
8 & B St 77 \ RIREISIESIRS
= T
N
lil=— —
2~RC1/2" Iy Ol
Pressure Port A,B p 12~L
“amAL AB ]
(RE-A150:2~RC3/8")
RC3/8" Air H G
Drain Port %A% N SET) ‘
(RE-A150:RC1/4%) J
RC1/4”
Air Port &4 I
(RE-A150:RC1/8") prl AB
REBBISE A
Subject to technical changes e
I
1% 1li#318 SPECIFICATIONS A
RISk SEEEE Eff. piston area 718 BEOEY RaEREN IR EEEREN I B8 %
- ; 2
Vodel 813 (Extend) HI{8) (Retract) Piston stroke Max. speed Max. pressure g;;og:z;t:ﬁg Moment of inertia | Weight =
cm? cm? mm min(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg-m? kg ill
RE-A150 174.4 160.8 30 5500 4.0(40) 0.8(8) 0.06 14.9
RE-A200K 292.4 274.9 35 4000 4.0(40) 0.8(8) 0.19 29.1
RE-A200L 2024 265.4 50 4000 5.0(50) 0.8(8) 0.21 30.4
RE-A250 465.2 438.2 60 2000 5.0(50) 0.8(8) 0.43 47.2
SN R T DIMENSIONS
E G G M
Model A B ] D1 | D2 ) F e | H J K L L1 L2 (H8) M1 N P Q
RE-A150 150 30 205 180 130 110 45 60 30 99 | 177.5 M30x3.5 M12x24 M12x105 185 32 | 10 | 50 [12.5 114
RE-A200K 195 35 257 225 145 120 55 73 | 38 120| 239 M36x4.0 M16x30 M16x130 27 38 12 65 15 150
RE-A200L 195 50 257 225 170 125 65 80 30 135 254 M42x3.0 M16x30 M16x145 27 45 | 12 | 65 | 15 150
RE-A250 245 60 307 275220 160 65 85 25 165 280 M42x3.0 M20x35 M16x175 28 45 12 65 15 150

* 3R - DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

AuTOGRIP 88



YA RS R KOS AT (— ) s
COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

A Re-L

SR KERSIVT/KEEMEL - JARBREATIHIK -
NZY B EE BB TEEIERE -
ZEF O REREREZ -

For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union.

Built-in safety check valves, pressure relief valves and proximity sensor.

® Can screw it from the rear end of the cylinder when mounting.

R BN BB ELOHERE DB RELESE -

FEKERERASEIBN - BYEHE -

TRBAEBUEBLASRUEEULRFEE - (FT&Hm)

The drain port should be independently connected to oil tank to avoid back
pressure.

The rotary cylinder should not run without liquid through coolant port.

Stroke Detection Type can be customized to Linear Positioning System.

2~RC3/8”
Pressure Port A,.B £
#“mfL AB
| |
I e N
I T
B — K
ﬁ -
= ALD. AR LIz
= ) AE- T =T wfw alo
| [10|W¥ Bs{aR Ll T u g
|
o 8
(il E&Qﬁ 15
i
|y
Coolant Drain Port ‘ 4 LF-—;E
JEIKAL H L1 L
23.5| 125 ‘ —
RCl/a N RC1/4" . ©
Collant Port jE7K4L, Drain Port 237,
7o
I
3 RBIUE SRR
;E Subject to technical changes
i 1ii#1& SPECIFICATIONS
[ itk JEZEHETE Eff. piston area 772 REOEE EafEREN KB e S R I 58
il {8 (Extend) HiI{8(Retract) Piston stroke Max. speed Max. pressure Co’\c;llant EOMEERR Moment of inertia Weight
Model ax. pressure
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) MPa (kgf/cm?) kg:m? kg
RE-L110 927 87.9 20 6000 4.0(40) 1.5(15) 0.02 7.2
RE-L120 109.3 106 21 6000 4.0(40) 1.5(15) 0.03 9.1
RE-L130 128.9 123.1 30 6000 4.0(40) 1.5(15) 0.03 9.5
4MUR~T DIMENSIONS
© G G M
Model A B 7) D £ F TR . H J K L L1 (H8) N
RE-L110 110 20 145 128 42 29 60 40 66 169.5 M20x2.5 6~M8x70 12 22 38
RE-L120 120 21 168 145 42 29 60 39 69.5 1715 M20x2.5 6~M10x75 17 22 38
RE-L130 130 30 168 150 50 33 60 30 795 1815 M24x3.0 6~M10x85 17 27 43

* 3142 R9R8 : DC 10-30V 100mA NPN - *Proximity sensor : DC 10-30V 100mA NPN.

89 auToGRIP



i RE-

-L &

TR T

JE KB EERERET (_—

COMPACT STYLE HYDRAULIC CYLINDER WITH COOLANT CONNECTION AND SAFETY DEVICE

BEER

SR BSRSAT/KEEHREL - o KREIRMRAIHIK - FRESER
MIER
WY IR EEEE  REE R TRESIERRE -

ZREUHEREEZ -

For short form, light weight and high speed rotary cylinder. To allow coolant to
be feed from the rear end of the distributor through the rotating union, suitable
for vertical lathe.

®  Built-in safety check valves, pressure relief valves and proximity sensor.
® Can screw it from the rear end of the cylinder when mounting.

HAREB M EBELREE DB RELSE

EKEM RIS BB -
TREBAEBUENRBEEMRREE - (AR

BENEE -

20m )

The drain port should be independently connected to oil tank to avoid back pres-
sure.
The rotary cylinder should not run without liquid through coolant port.

Stroke Detection Type can be customized to Linear Positioning System.

2x2~M5x8 6% L2
1 ]
2~RC1/2" 5
Pressure Port A,B
#5MFL AB
(RE-L150:2~RC3/8") K
< ) = 7
/ﬁ*\g 5 Z A.|.).W1Iﬂ STulylal =
7 Q| || z B:SL R SHSISHSISIES]
R
b Eig* E NIRELL
RC3/8” 12.  —
Collant Port 3E7KFL | e L
T P N B 12~L
1Le .
RC3/8" 25 H G
Drain Port JE;Hf,
(RE-L150:RC1/4") J
RC1/8" )
Coolant Drain Port 87K HB
RIS SRR
Subject to technical changes Jo
I
i1 SPECIFICATIONS H
_ - . N . BR
itk JEEHETE Eff. piston area 112 ReOEg =aEREN FKEEREEREN | ES %
# il (Extend) Hi1fil(Retract) Piston stroke Max. speed Max. pressure Co'alant CENCEHET Moment of inertia Weight [
Model ax. pressure =
cm? cm? mm min?(r.p.m.) MPa(kgf/cm?) MPa (kgflcm?) kg-m? kg il
RE-L150 174.4 160.8 30 5500 4.0(40) 1.5(15) 0.06 15.2
RE-L200K 292.4 274.9 B85 4000 4.0(40) 1.5(15) 0.19 29.4
RE-L200L 292.4 265.4 50 4000 5.0(50) 1.5(15) 0.21 30.7
RE-L250 465.2 438.2 60 2000 5.0(50) 1.5(15) 0.43 47.5
SR ~T DIMENSIONS
E G G M
Model A B © D1 D2 O7) F e ey H J K L L1 L2 (H8) M1 N P Q
RE-L150 150 | 30 205 180 130 110 45 60 30 | 99 201 M30x3.5 M12x24 |M12x105 18.5| 32 10 50 12.5 114
RE-L200K | 195 35 257 225 145120 55 | 73 | 38 120 | 264 M36x4.0 M16x30 |M16x130 27 38 12 65 15 150
RE-L200L 195 50 257 225 170|125 65 | 80 | 30 | 135|279 M42x3.0 M16x30 | M16x145 27 45 12 65 15 150
RE-L250 245 | 60 | 307 | 275 220 160 65 | 85 | 25 165 305 M42x3.0 M20x35 'M16x175 28 45 12 65 15 150

* 3 #FEH - DC 10-30V 100mA NPN

- *Proximity sensor : DC 10-30V 100mA NPN.

autocrip 90



ZE
i
&
8
#
il

4 rD

P30 | 78 €645 2L 30 83 M BR ]

DOUBLE ROD ROTATING CYLINDER WITH SAFETY DEVICE

o g . WS . ERAVEEHET -
o ARSI B SHIEE KB TR R -
®  For short form, light weight, double rod rotary cylinder.
®  Built-in safety check valves and pressure relief valves.
EMAREB L EFELHEE  DUBSELEE -
The drain port should be independently connected to oil tank to avoid back
pressure.
Cylinder A Cylinder B 6~M12x1.75x24
] {
A 1.D. PIE ﬂ - ,
- M42x1.5
. (&L
B: I.D. AfE | 35—
‘ L M20x2.5
1 \\ ] Fn%ﬂ ~
== ABLDr — 8 a8 s s
. 8 o8 g g
3 g == Q
RC4" ! 35
1313 Drain Port 884l 2 40.5 5|
0 —
] 2-RC3/8"
60 Pressure Port #25H+L 90 C F
D E
RIS ELROER
Subject to technical changes
F2 i #2148 SPECIFICATIONS
SEZEETEES. piston area
itk 718 REOEE EeEREA I 3]
818 (Extend) HIf8 (Retract)
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? cm? cm? mm min(r.p.m.) MPa(kgf/cm?) kg-m? kg
RD-120 122.7 126.1 116.1 113.1 20 5000 3.0(30) 0.14 11.3
RD-125 122.7 126.1 116.1 113.1 25 5000 3.0(30) 0.15 11.5
9hNEIR~F DIMENSIONS
Model A B © D E max. E min. F max. F min.
RD-120 125 130 137 227 60 40 35 15
RD-125 125 130 147 237 55 30 35 10

91 AuTOGRIP



’ RD-N €512 700 89 i R wem
DOUBLE ROD ROTATING CYLINDER

o Y. WS . BRRVEEHEG -
For short form, light weight, double rod rotary cylinder.

B EMAREBLERREDDEE  DBSELEE -
B The drain port should be independently connected to oil tank to avoid back

pressure.
Cylinder A CylinderB  6~M12x1.75x24
. TR -
A LD P {% M42x1.5
B: I.D. A& 35‘;’
T o J: M20x2.5
f?% A B L Dr o = '_E
o 0 O
—) — © / Q3 o ¥ K
——] IS = ISR
% i L%;u Q
L RCl4" o | 35
Drain Port ##Hf ZE i o8 51
1313 =45 =l
] 2~RC3/8” R
Pressure Port #5#7FL 77 C F
60 D E
REBFRABIEL R
Subject to technical changes
i3 1& SPECIFICATIONS
EZEEFEES. piston area
itk 718 REOEEY REERESN | B8
813 (Extend) #Ifl(Retract)
A B A B Piston stroke Max. speed Max. pressure Moment of inertia Weight
Model
cm? cm? cm? cm? mm min*(r.p.m.) MPa(kgf/cm?) kg-m? kg
RD-120N  122.7 @ 126.1 116.1 113.1 20 5000 3.0(30) 0.14 11.2
RD-125N | 122.7 @ 126.1 116.1 113.1 25 5000 3.0(30) 0.15 1.4
SMEIR~F DIMENSIONS
Model A B © D E max. E min. F max. F min.
RD-120N 125 130 137 214 60 40 35 15
RD-125N 125 130 147 224 55 30 35 10

AuTOGRIP 92



SR

i BRI B ) )7t
HYDRAULIC ROTARY VALVE

RV

o BHET{FE IR MBI REESRME -
o OHEFIAMARIRET - FREEMOEKNES) - BAERME -
o BRI  EIRFEHIFKREE -
o |IBATEE - o2 RIESIFKREE -
® Rotary valve is used for clamping cylinder on rotary table.
®  Through unique design, it can make the rotary housing be rotated light force
and is free from oil leaking.
® | Type is a single circuit which controls the clamping.
® |l Type is a double circuit which separately controls the clamping.
B RV AR ARER N EBERRE DR EMESE -
M The drain port of RV type should be independently connected to oil tank to
avoid back pressure.
4~M8 2x4~RC1/4"
Screw hole Distributing port
, o BEal pARiv:iEiY 4~M8x11
L
= : ‘ — RC1/4”
ﬂﬁ% %ﬂ =" 1 prainport mmn
3 5 —b-&—
Q < Q
° SEE
44 1=
— } 1
’E];*
5 12\ 405 | 25 18 | suprcii
T 7 @
136 Pressure Port #4587 I I
TREBIRBISHIER]
Subject to technical changes
$1ii#1% SPECIFICATIONS
BER DIRE EaEREN 2
e Max. pressure Weight
Model Distributing
MPa(kgf/cm?) kgs
RV-31H 40 (IR 4.0(40) 7.4

RV OJRHES - (Note:RV can be custom-made.)

’ RV-A ZE [ER 5[ 82 7 7

AIR ROTARY VALVE

4~M8 2x4~301/4”
Distributing port
%g;gﬁhole A g p
T 2~M8x11
[ |
o| T 71 L <
T & O 8
Q 8 L N2 *ﬂ‘ Q
O P
[ =
L 1 2(4)~RC1/4"
BEEp Pressure Port 454l
5 12\_ 375 | 25 18
125 I II
TREBIRIBIERHHER
Subject to technical changes
1T #31% SPECIFICATIONS
BSE DRE EeERES B8
o Max. pressure Weight
Model Distributing
MPa(kgf/cm?) kgs
RV-A31H 40 (JETEY) 0.8(8) 4.8

i1 RV-A TJIEEEE! - (Note:RV-A can be custom-made.)

93 AuTOGRIP



2 AR S R
COOLANT ROTATING JOINT

A ru-80

o SR SEBRNRALANREEEE -
o NEILKFEFEHABES S MIEZREARLYE - MEFEREE -
®  Coolant joint for high speed, high pressure. Usable for oil and water-soluble coolant.
® Seal bushing inside is made of cemented carbide and ceramics, which provide
higher wear-resistance.
B OTKEERIRRBES  BYEE -
M The joint should not run without liquid through coolant port.
M16x1.5 LH = 5F
P (or 5/8-18UNF - LH)
c|8
We :
()\ ) R = = NP (3
M (L1 — 08
RC1/8"(Dr) / L ‘ — \J
"(Dr
%{}/ [ | 19
45— " 30| | 1125 15
28 RC1/4"(IN) 21 ‘ 65
‘ 122
IREBRIBIELRIMEF] Subject to technical changes
Hi i #31& SPECIFICATIONS
RigR PVER#I{E MPa: r/m &= 1 F B IMPa(kgflcm?) Mt & (EFEA 50 kgflcm?) B EHEEE (rp.m.) S8 (kg)
Model PV Limit value MPa- r/m Max. pressure MPa(kgf/cm?) Delivery amount (at 50 kgf/cm?) Max. speed (r.p.m.) Weight (kg)
RJ-80 14400 6.0(60) 28 I/min 8000 0.5

SN

2 AR E R E BRI LK 7 B B B P 1B

COOLANT ROTATING JOINT WITH AUTOMATIC ON/OFF SEAL

A RJ-92

SR EIER - BE8KI -

SEEY  SEIRLAREERERE -

RELEKEERBES S RIBTHERRY - MERERE -
BEEGMETREES AIIEKEEERE  £IEKEAREZEMEE -

Short form, light weight coolant rotating joint.

Coolant joint for high speed, high pressure.Usable for oil and water-soluble coolant.
Seal bushing inside is made of cemented carbide and ceramics,which provide
higher wear-resistance.

® The seal will depart automatically if no liquid passes during,operation, and will not

be dmaged due to dry touching.

N H/EEES 4kgficm? -
M Min. pressure is 4kgf/cm?.
O
[9)]
S M16xL5LHASF
S 28(0ut)
R O 7377 = {f'}}
Q
‘ ik =
ARINIT ; 1
RC1/4(N) —T.9.|. 242 RC1/80Dr) 9.l 185
98.5

IREBIRIBIEU AT Subject to technical changes

T3R8 SPECIFICATIONS

RISk PVIRFIE MPa- r/m | HSERES MPa(kgficm?) | MEHE (ERESN 50 kgficm?) | BReEAEEZ(rp.m.) &/)\BEIESD MPa(kgficm?d) | E£ (kg)
PV Limit value Max. pressure Delivery amount Min. pressure .
Wigilsd MPa- rim MPa(kgffcm?) (at 50 kgffem?) v s (i) MPa(kgflcm?) Weight (ko)
RJ-92 17500 7.0(70) 28 I/min 10000 0.4(4) 0.46

AuToGRIP 94



LSSVl
’ GFS-100  (:ilicrorct sensor

EF 5o BHIETE  MARMMNES 5.0 7t - MEREFEENEEN -

Type-C FZEEF : I8 Type-C FTE - EREFNEE -

S MREIREM [ 1R EFE’I&H&H—JFEJ ELELETERFIEOESRHE

ﬁ?ﬁ Andr0|d M ios : BT FERAIZ Android E 2 i0S R 4% - GFS-100 %Bﬁﬁgﬂ]

ERE  ERELERER -

. TEE% 2 J’HZ 3TURME  RIBEMWERE R - GFs-100 o] IR E S 2 ML
3TR1E - 1IRHEEARREM -

o AR FE—HKIIFHEREE (GFS-100) F15E AU IF S BRI S (GFS-100)APP
ABEHF -

e i0S 4% : Applei0S 16.1.2 RZALL L - Android 4% : Android 12 fR ARSI L -

® Stable Bluetooth 5.0 Transmission: Equipped with the latest Bluetooth 5.0
technology, ensuring stability in wireless connections.

® Convenient Type-C Charging: Supports Type-C charging for added
convenience in recharging.

® High-Performance Lithium Battery: Provides a longer-lasting battery life,
eliminating concerns about power during work.

® Supports Android and iOS: Whether you use Android or iOS systems, the
GFS-100 is perfectly compatible, offering a seamless experience.

® Configurable for 2-Jaw or 3-Jaw Operation: Based on your specific needs,
the GFS-100 can easily be configured for either 2-jaw or 3-jaw operation,
providing greater flexibility.

® Note: The first-generation gripping force sensor (GFS-100) and the second-
generation gripping force sensor (GFS-100) APP are not compatible and
cannot be used interchangeably.

® jOS System: Apple iOS 16.1.2,Android System: Android version 12.

aG

] DA - 52 RI8E Short
s| T——— —t——1h 8 @B - SHAEE Middle
| @C - R3AI5E Long
Bl
Testing heads
E
F
RE R EBBIIEF) Subject to technical changes
M SPECIFICATIONS
Ri%E BATIEA(EMN) BEmE S EE R
Max. Load (1-jaw) Max. Speed Gripping range
Model Accuracy
(kN) (r.p.m.) (mm)
GFS-100 100 6000 70,84 ,104 + 2%
%
B ShEYR ST DIMENSIONS
g Model A B © D E F G H ‘
=
ft GFS-100 70 84 104 63 54 57 20 68 ‘

95 AuTOGRIP



SJ

REEN(—)

STANDARD SOFT BLANK JAW

S-1
S-6 S-7 S-8 s2
- : ‘ !
- S410 | I
7 ] |
7]
| 1 \
| ] o |
o o Serration ‘/"-*—:‘ ==
S-9 vl N\ Breaeiis S-4
=
. S-12
ShEY R <F DIMENSIONS IR IE AT Subject to technical changes
Rig b3 ot R “MEe
S-1 | S2 S3 S4 S5 S6 S7/| S8 S9 S10 S-11 | S-12 |S-13 . . . 3 Jaw Weight
MODEL Serration Pitch Matching Chuck kg
SJ-04 52 23 | 23 10 5 10 14 @ 28 9 | 14 13 | M8 3 1.5x60° 3H-204, 3P-04 0.5
SJ-05 62 25 | 30 10 5|10 | 14 | 38 9 | 14 20 | M8 35 1.5x60° 3H-205, 3L-205, 3P-05, 3M-05 0.8
SJ-06 73 31 36 12 515 20 38 11 17 24 M1l0 14 1.5x60° 3H-206, 3L-206, 3P-06, 3M-06 1.5
SJ-08 95 35 37 14 524 25 46 | 13 19 22 M12 | 16 1.5x60° 3H-208, 3L-208, 3P-08, 3M-08 2.4
SJ-10 110 | 40 @ 42 16 5 30 | 30 50 |13 | 19 | 27 | M12 18 1.5x60° 3H-210, 3L-210, 3P-10, 3M-10 3.7
*Q | . 3H-12, 3H-212, 3L-212,
SJ12H | 130 50 50 21 5 40 30 60 17 25 30 Mil6 23 1.5x60 3V-12, 3P-12, 3M-12 6.3
N 3H-12, 3H-212, 3L-212,
SJ12P | 130 50 | 50 18 540 30 60 16 23 30 M14 23 1.5x60 3V-12, 3P-12, 3M-12 6.5
. 3H-15, 3H-215, 3H-18, 3L-15,
SJ-16H | 165 62 @ 62 22 8 | 37 43 85 21| 32 37 M20 - 1.5%x60 3P-215, 3P-218, 3V-15, 3V-18 12.6
*Q | ) N 3H-15, 3H-215, 3H-18, 3L-15,
SJ-15P 165 62 | 62 255 | 6 | 37 43 85 21| 32 37 M20 1.5%x60 3P-215, 3P-218, 3V-15, 3V-18 12.5
3H-221, 3H-224, 3H-232,
SJ-21 180 | 64 | 70 | 25 9 40 60 | 80 21 32 45 M20 - 3.0x60° 3P-221, 3P-224, 3V-21, 3V-24, 15.8
3V-32
*SJ-12H 73 12" 3EEAHBIECH - (12"Chucks are originally equipped with SJ-12H.)
* 8J-15P % 15" ZEEAEH MIACHE - (15"Chucks are originally equipped with SJ-15P.)
O Gy
3U Z&gE =7 42 3 A [T| STANDARD SOFT JAW FOR 3U CHUCK
E L L
F ——
~No | P
L/\ v
= ©
< l O {}, -
Q ] S —t—
et BN .
G < LI 1
[a]
- H Q AK
for 3U-203
yl‘ﬁ!ETf DIMENSIONS IREBIRABIE L AR Subject to technical changes
itk
A B © D E F G H J K L
MODEL
3U-203 55 11 9.5 66 12 C3 7 3 26 7 15
3U-204 6.6 11 11 84 17 C4 11 8 32 9.5 20
3U-205 9 13.5 14 108 20 C4 12 3 41.5 13 24
3U-206 11 15 17 129 30 C6 20 8 50 17 30
3U-208 13 17 20 156 34 C6 22 3 63 20.5 35
3U-210 15 20 22 187 39 C6 24 4 74 23 40
3U-212 15 18 22 234 44 C6 29 4 72 23 40

AuToGRIP 96

i
f
iz

\|
/

ff

\
/l

=




FELEN ()

STANDARD SOFT BLANK JAW

g s)

2D/3D #BE 7 1ZXEA [T Standard Soft Jaw for 2D/3D chuck

mE (A Tl Ay
_&g/r\gL__
o] ¥
D D
OE L oE L
T | |
< Lt &éé% o | loF ]
S < [N

"P . . =z
O _I._I_H m e T T _
g o T Ll ] =

G
for 04"~06" for 08”~15"
RBRBIE LR
Subject to technical changes
4hEY R~ DIMENSIONS
itk
A B C D E F G H J K L M N
MODEL
3D-04 22 13 2.5 52 17.5 1 19 8 19 - 25 8 5.5
3D-05 27 15 2.5 56 20 13 23 8 23 - 30 8 55
3D-06 34 21 3 70 23 15.5 27 10 27 - 35 10 6
3D-08 44.5 29 35 84 19 13 31 12 18 26 40 16 7
3D-10 495 32 35 100 22 15 38 15 22 32 50 18 7
3D-12 54.5 36 35 120 26 18 42 17 24 36 60 20 7
3D-15 65 40 5 165 26 18 60 20 40 40 70 24 10
g TH
3E MFE Z1ZHESE Standard Soft Jaw for 3E chuck
A
A
2B
|| b
! [E—
o| .
O __ 1 o
i S S
g F T <
S oG SS v&: r
Q Q
;_E,
IR AR RELTBE
TYPE A TYPE B
IREBRBIE LR
Subject to technical changes
ShEY < DIMENSIONS
itk
A B c D E F G H J K L L1
MODEL
3E.05 AR 20 11 6.6 16.5 10 C5 25 22 29 34.5 39
B & 20 11 6.6 15 25.5 C5 25 30 29 425 39 69
3E-06 AH 23 11 7 19 13 C5 31 27.5 44 46 54
_ B & 23 11 6.6 18 36 C5 31 37.5 44 56 54 92
= AR 30 14 9 25 15 C6 35 36 50 56 62
[t 3E-08
# B & 30 14 9 24 41 C6 35 56 50 76 62 112
£ AR 35 17.5 11 26.5 175 C5 40 40 60 64.5 70
=t 3E-10
- B & 35 17.5 11 26 47.5 C5 40 715 60 96 70 129

iu

97 AuTOGRIP



FEEN (=)

STANDARD SOFT BLANK JAW

g s)

3R ZRBE ZIZXEA T\ Standard Soft Jaw for 3R chuck

(D (T -
NN ot
! M N

Ke

Sl

% ==
© sl "
RIS BT
Subject to technical changes
ShNEIR T DIMENSIONS
FUSR
A B © D E F G H J K L M N P Q R S T
MODEL
3R-08 29.5 13 35 82 20 14 27 12 55 30 5 14 26 90 2 40 16 7
3R-10 30.5 15 35 102 23 16 37 15 65 30 7 21 32 90 2 40 18 7
o i
3W HFE 7 AZX#EAE [T\ Standard Soft Jaw for 3W chuck
@ ©
+
a4
[ P
M N M N
D D
oE L oE L
| | | T T |
<@ ,J ‘ ‘ <m J ‘ ‘
2k ol |
el | | w
¥ ol T i 1 Il i | } ™
[ 1 I [ T 1 I T m
o g B = o o M —
A TARY RS TIBEY
TYPE A TYPE B
{REBIRIBIELAIMEF  Subject to technical changes
9N~ DIMENSIONS
itk
A B c D E F G H J K L M N P Q R S
MODEL
AR 60 44 3.5 80 20 13 35 12.68 30 120 57 16 38 7.94 7 - -
3wW-08
B & 60 48 3.5 80 17 11 35 12.68 30 120 5174 19 32 7.94 7 12.5 32
AR 64 49.5 3.5 100 20 13 40 19.03 30 120 70 17.8 | 444 | 127 7 - -
3W-10
B & 64 50 3.5 100 17 11 40 19.03 30 120 70 22 36 12.7 7 17 36
;Fﬁi
AR 64 49.5 3.5 100 20 13 40 19.03 30 120 70 17.8 | 444 | 127 7 - - E‘J
3W-12 \
B & 64 50 85 100 17 11 40 19.03 30 120 70 22 36 12.7 7 17 36 %
35tk

*3W RFIETAHEEREMMN, RIBTHFERFRENERN, TREE,

*3W series Carbide gripper is optional. * The type of the gripper is selected according to the work-piece conditions.

AuToGRIP 98

\|
/

=

\
/l

=




g s)

RAEEETI (M)

STANDARD SOFT BLANK JAW

3MF 38 Z1ZX4 T\ Standard Soft Jaw for 3MF chuck

DD
N\
| K J
D
OE M
i |
m aF |
< i [
[ 1 LL - _ I
© HIIREN N[
G
RSB RAOER
Subject to technical changes
SNEIR~F DIMENSIONS
By —mEs
i A B © D E F G H J K L M N P 3_‘?‘\%; '(kg)
MODEL aw Weight
3MF-20 70 48 6 160 25 17 80 19.03 | 76.2 41.9 M16 50 12.7 11.5 10.4
o >
AP 3R PE 7 1Z#E 4 [T\ Standard Soft Jaw for AP chuck
| 51 |
56 ST S-8 ‘ .
- | |
N SEREER 8-110
QD AP [
%) I |
| I
= ol [ ]
R o—= |
‘\ \‘ S-9 Serration S-4
s12 L HE A5
IREBRBELAER
Subject to technical changes
9MIR~F DIMENSIONS
itk HrEagngE bl P =NEE (kg)
S-1 S-2 S-3 S-4 S-5 S-6 S-7 S-8 S9 | S-10 | S-11 | S-12
MODEL Serration Pitch Matching Chuck 3 Jaw Weight
SJ-185 165 | 62 62 255 9 37 43 85 21 32 38 | M20 3.0x60° AP-145, AP-185 12.2
SJ-275 180 @ 64 70 255 9 40 60 80 21 32 45 | M20 3.0x60° AP-230, AP-275 16.1
SJ-320 210 | 75 80 30 9 40 60 | 110 26 38 55 | M24 3.0x60° AP-320, AP-375 24.7

i
1¢
izl

N
/A

o

\
/l

=3

99 AuTOGRIP




HJ EEERET (—)

STANDARD HARDENED JAW

H-1
= H6 _ H-8
i | i
o Hl10 ‘
1| ° %” ‘
|
— .
H-9 Serration
H-12 NE
RBHUE SRR Fid. 1
Subject to technical changes
9hNEIR~F DIMENSIONS
RIS Rt 38R “NEE  2%EE
3 Jaw
VODEL H1 |H2| H3 | H4 H5| H6 | H7 | H-8 | H-9 | H-10 H-11 | H-12 | H-13 Se;ration VR Weight | Reference
itch - Drawing
HJ-05 542 23 28 10 4 311 | 14 23.1 85 135 10 M8 3.6 | 1.5x60° 3H-204, 3H-205 1 Fig.2
HJ-06 676 31 36 12 5 402 20 274 11 17 12 M10 9.3 1.5x60° 3H-206, 3P-06 1.7 Fig.2
HJ-08 86.1 35 51 14 ' 5 335 25 184 13 19 | 12 M12| 14 | 1.5x60° | 3H-208, 3P-08 2 Fig.1
HJ-10 100 40 54 16 | 5 | 395 30 225 13 19 | 13 M12 15 1.5x60° 3H-210,3P-10 3 Fig.1
. . 3H-12,3H-212, 3L-212, .
HJ-12H 100.2| 50 | 52 @ 21 5 /647 30 355 17 | 25 | 17 |M16 31.5  1.5x60 3V-12,3P-12, 3M-12 3.5 Fig.2
L . 3H-12,3H-212, 3L-212, .
HJ-12P 100.2 50 | 52 18 5 647 30 355 15 23 | 17 M14|31.5| 1.5x60 3V-12,3P-12, 3M-12 3.6 Fig.2
L . | 3H-15, 3H-215, 3H-18, 3L-15 .
HJ-16H 140.7 62 | 86 | 22 | 8 625 43 34 21 32 | 20 M20 43 1.5x60 3V-15, 3V-18,3P-215, 3P-218 9.6 Fig.1
L . | 3H-15, 3H-215, 3H-18, 3L-15 .
HJ-15P 140.7 62 | 86 255 6 625 43 34 21 32 | 20 M20 43 1.5x60 3V-15, 3V-18,3P-215, 3P-218 9.5 Fig.1
3H-221, 3H-224, 3H-232,
HJ-21 1535/ 80 90 25 9 /103.7) 50 149.8 21 | 32 | 40 M20 56.5 3.0x60° 3P-221, 3P-224, 3V-21, 14.3 Fig.2
3V-24, 3V-32
* HJ-12H ~ HJ-12P ~ HJ-15H ~ HJ-15P EFARIEER H-4 MR -
* For HJ-12H, HJ-12P, HJ-15H, HJ-15P, please confirm the dimension of H-4 before placing the order.
oh
3MF 1ZZ£ERE T
STANDARD HARDEN JAW FOR 3MF CHUCK
L ! g
N IR
H-7 H-7
H-1
H-6 H-8 H-2
\ ] ]
o = o
- H+10
T
@ |
T
< Lrl) L Ll
Y T
T T
vt ) T —
[ [ 7
H-15 H-9 H-4
H-12 :“ =
IREBRBIEUAIEF] Subject to technical changes =
It
YNEIR T DIMENSIONS 1
FUSR EF5EEE =MEE kg 35t}
H-1 H-2 H-3 H-4 H-5 H-6 H-7 H-8 H-9 H-10 H-11 H-12 | H-13 | H-14 | H-15
Model Matching Chuck | 3 Jaw Weight E
3MF-20 135 | 50 76 | 12.7 9 70 | 38.1 65 17 26 40 | M16 | 40 32 /19.03 3MF-20 6.7 ft

Autocrip 100



ARAERET (—
’ HJ STANDARD H,(ARDE?\IED JAW

AP fZ2ERE T STANDARD HARDEN JAW FOR AP CHUCK

T e —

Clamping range H-7 |H-7
| H-2
e i
J iy
| =TT
ANENEE ‘ S
'{ H-6 H-4
<<
H-1
IREBRBIELAIEF] Subject to technical changes
9hNEIR~<F DIMENSIONS
RIS HreEEnsh ERARE =NE=E kg
—— H-1 | H-2 H-3 H-4 H-5 H-6 H-7 Al S
Model Serration Pitch Matching Chuck 3 Jaw Weight kg
HJ-145 191 | 55 | 73 |255 9 92 38 30-125 420 3.0x60° AP-145 12.5
HJ-145 191 | 55 73 |255 9 92 38 35-165 460 3.0x60° AP-185 12.5
HJ-145 191 55 | 73 255 9 92 38 55-240 535 3.0x60° AP-230 125
HJ-145 191 | 55 | 73 |255| 9 92 38 100-285 580 3.0x60° AP-275 12.5
HJ-320 243 | 75 82 30 9 110 | 50 105-300 658 3.0x60° AP-320 24.6
HJ-320 243 | 75 | 82 | 30 9 | 110 | 50 165-375 738 3.0x60° AP-375 24.6

i
1¢
izl

N
/A

o

\
/l

=3

101 AutoGRrIP



A T-NuT [

¥ :
)
E: E: w
S—<e AN
\J A Ft , ’ o
2-T8 218 T4
T5 |76 T4 15 |T6| 5
| T10 =
] nk
~ | ! — ~
=
RHEP e,
T1 T2 T T2
TN1 TN2
- A
- I
— AN 7=
= S SEieim
T8 T8 T8
_ | 79, _
TN3-21 TN4-221 T4
oT1 T4 oT1 T4
| | I I
’ ‘ q ~ I I Il Il F o
o e Sl T I L=
|| N O
‘ Az s T ‘ Ly
|oT5 | T2 ‘@TS ‘ T2 T1 T2
o TN3 TN4 TN5S
{REBREIEURER _ - -
Subject to technical changes
MY R <+ DIMENSIONS
il k=g S} =REs
T1 T2 T3 T4 T5 T6 T7 T8 T9 T10 | T11 3 Pcs Weight
Model Matching Chuck
kg
TN1-04 26 14 15 10 | 14 6 95 M8 5 - | - | H-204, H-205, P-04, P-05, L-205, M-05, SP-304 0.06
H-206, P-06, L-206, 1L-06, M-06, 3N-06, AP-52, RAP-
TN1-06 36 17 185 12 | 20 8 11 M10 6 " | = | 306, sP-306 0.15
H-208, P-08, L-208, 1L-08, M-08, 3N-08, 4T-08, AP-66,
TN1-08 465 20 205 14 25 105 12 M12 10 & - | - RAP-308, SP-308 0.27
H-210, P-10, L-210,1L-10, M-10 , 3N-10, 4T-10,
TN1-10 | 51 22 215 16 30 11 13 M12| 11 = | hn8s RAP!a0l SPLA10 0.36
*TN1-12 555 295 28 21 30 12 167 M16| 13 | - - | 2H-12, P-12,L-12, M-12 0.63
TN2-12 555 295 28 21 30 12 167 M14| 13 @ 18 45 2H-12, P-12, L-12, M-12 0.63
- - - - - - - 21
*TN1-15 80 35 395 255 43 17 205 M20 14 - .  2r-15,3H-18B,P-15 P-215, P-218, L-15, M-215, M-218, 1.53
V-15, V-18
TN2-15 | 80 35 395 255 43 17 205 M20 14 22 6 2115 8H-18B,P-15 P-215, P-218, L-15, M-215, M-218, 15
V-15, V-18
*TN1-212) 56 295 235 21 30 12 12 Mi6| 10 | - - | 3H-12, 4H-12, H-212, L-212, V-12, 4T-15 , AP-115 0.63
TN2-212 | 56 295 235 21 30 12 12 M14| 10 @ 18 4 | 3H-12, 4H-12, H-212, L-212, V-12, 4T-15 , AP-115 0.63
*TN1-215 80 35 34 255 43 17 19 M20| 14 | - - | 3H-15, 4H-15, 3H-18, 4H-18, H-215, L-215, SP-316 1.32
TN2-215 80 35 34 255 43 | 17 | 19 M20 14 22 6 | 3H-15, 4H-15, 3H-18, 4H-18, H-215, L-215, SP-316 1.29
TN3-21 | 46 375 45 25 26 - 26 M20| - - - | P-221,P-224,M-221,M-224,V-21,V-24 V-32 1.84
TN4-221 | 45 36 38 25 28 - 22 M20 19 @ - - | H-221, H-224, H-232, SP-320, SP-324 0.63 _
TN5-185 32 35 30 255 - - 19 M20 - - | - | AP-145, AP-185, AP-230, AP-275 0.15 I
(e
TN5-320 36 42 39 30 | - - 24 M24 - - - | AP-320, AP-375 0.24 5|

=

\
/]

=

*TN1-12 & TN1-212 7% 12" €58 K BIEC & - (12" Chucks are originally equipped with TN1-12 & TN1-212.)
* TN1-15 & TN1-215 7% 15" €58 K BIHBC & - (15" Chucks are originally equipped with TN1-15 & TN1-215.)

Autocrip 102



FL NS DN

CHUCK ADAPTORS
Counter Bore Counter Bore
Counter Bore Rk S
U BB 44T5E 7L, U 124050088 7L U 124050088 7L
e _
R / 7 R 7(\ -
7 7'30'\ = / i 7 7'30"\ =
7"7'30"1:> U]
Al A A
A al o 11100 Qo <
88 SIS 88 SRS 88 SIESIRS
Y H—
LI il L
E1 Screw hole E1 Tap hole _LE Tap hole
iy = \Lgsd E1 L Rl
REIEEHER
Subject to technical changes
FL1 FL2 FL3
SR ~T DIMENSIONS E— —
= 2
Model A © D D1 D2 E E1 L ] Rﬁﬁ Weight
emark (kq)
FL3-04A24 110 85 | 70.6 = 63.513 826 8 | 28 |[M10 M10 3H-204, 2H-204 1.12
FL3-04A25 140 85 | 70.6 82.563 104.8 5.5 32 |M10 M10 3H-204, 2H-204 2.28
FL1-05A24 - 1110 82.6 | 63.513 96 - | 15 'M10 M6 @ 3H-205, 2H-205, 3L-05, 2L-05, 3J-05, 2J-05 0.65
FL3-05A25 135 110 82.6 | 82.563 104.8 6 | 30 |M10 M10 3H-205, 2H-205, 3L-05, 2L-05 1.99
15 2H-206, 4H-206, 3H-206, 3P-06, 2P-06, 3M-06, 2M-06,
FL1-06A25 - 1140/104.8) 82.563 116 @ - M10| M6 | 3E-06, 3D-06, 2D-06, 3N-06, 3J-06, 2J-06 0.96
*18 *3L-206, *2L-206
2H-206, 4H-206, 3H-206, 3L-206, 2L-206, 3P-06, 2P-06,
FL3-06A26 | 165 140 104.8 106.375 1334 6 | 35 |M10 M12 3M-06, 2M-06, 3E-06, 3D-06, 2D-06, 3N-06, 3J-06, 2J-06 3.12
3H-208, 2H-208, 4H-208, 3P-08, 2P-08, 3M-08, 2M-08,
4T-08, 3E-08, 3D-08, 2D-08, 3N-08, 3J-08, 2J-08,
FL2-08A25 - 170 133.4| 82.563 104.8| - 23 M12 | M10 3R-08, 3W-08, 3Q-08 2.7
*3L-208, *2L-208,
17 2H-208, 4H-208, 3H-208, 3P-08, 2P-08, 3M-08, 2M-08, 4T-08,
FL1-08A26 - 170 133.4 106.375 | 150 @ - m12 | M6 | 3E-08, 3D-08, 2D-08, 3N-08, 3J-08, 2J-08, 3R-08, 3W-08, 3Q-08 1.55
*23 *3L-208, *2L-208
4H-10, 3P-10, 2P-10, 3M-10, 2M-10, 3H-12, 2H-12, 4H-12,
3L-212, 2L-12, 3P-12, 2P-12, 3M-12, 2M-12, 4T-10, 4T-12,
FL2-10A26 - 220 171.4) 106.375 133.4| - 25 M16 M12 3E-10, 3D-10, 2D-10, 3N-10, 3J-10, 2J-10, 3R-10, 3Q-10, 5.02
3W-10, 3W-12

2H-210, 4H-10, 3H-210, 3L-210, 2L-210, 3P-10, 2P-10, 3M-10,
2M-10, 3H-12, 2H-12, 4H-12, 3L-212, 2L.-12, 3P-12, 2P-12,
FLLI-10A8 - 220 1714 139719 190 - 18 MI6 M8 o 0 10, 410 2D-10, 3N-10, 2.73

3J-10, 2J-10, 3R-10, 3Q-10, 3Q-12, 3W-10, 3W-12

3H-15, 3H-212, 2H-15, 4H-15, 3L-15, 2L-15, 3P-215, 2P-15,

FL2-15A8 - 1300 235 139719 1714 - 33 M20 M16 oo o o e apols 12.52
FL1-15A211 - 300 235 196.869 260 - 22 M20 M10 2;_112”z':/l_21152"42T'f1§"34H'?1§?;13HL_1185”'32PL_2115£;3P 215, 28715, 6.03
FL2-21A:8 - 3803302 139.719 1714 - 33 M24 M16 3H-215, 3P-221, 3P-224 22.05
40 3H-215
- FL2-21A1 | - |380|330.2| 196,869 | 235 | - [ M24 | M20 o 16.28
?2 FL1-21A:15 - 380 330.2 285775 3302 - 27 M24 M12 3H-215, 3H-18B, 3H-221, 3P-221, 3P-224 8.6
8 FL2-40A:15 - 520 463.6 285775 3302 - 40 M24 M24 3H-224 43.26
- FL1-40A:20 - 520 463.6 412775 463.6 - 27 M24 M12 3H-224, 3H-232 1355

iu

o SRERRNIEBEEZBISRANR, BIREMAE, (Models with "*" mark are produced only by order.

103 autocRrIP



’ CTICT'S EXKEHRTIEERES
COOLANT COLLECTOR WITH STROKE CONTROL

o OfffMTREREIESMEURMES(ERK) -
®  The proximity switch and linear Sensor are optional.

TTERERRSEE - (2L ) The proximity switch is optional.

ER BEAE BRI
Power supply Switching cap. Output tpye
DC 10/30V 100mA NPN

I 38 1% Terminal Connections

+V OP1 ov
R BROWN BLACK B BLUE
BUHRNRBRERSE
linear Sensor installation drawing
+ +V
* +DC10~30V
W
OUTPUT op1
ai
LOAD
L - o OV ° OVDC
CT-S

h
]
L

b Q
S 2 « 5
F o] AP
Kﬁ h 7 & -
_L ;?7_
]7
o prol K
<
— CT-04/05: —LF
== \pPraw
233 15 D | X
(CT-04/05:@126.5) c ==
RBRIBIBRAEF CT-24/28: @60
Subject lo‘techmca\ changes ( @ ) %7}(% ;%ﬂ(%/ﬁi*ﬁ Hj i%
Coolant Collector Coolant Collector with Detecting Ring
SNEYR < DIMENSIONS
E2EWeight (kg) A
Model A B © D E = G
CT CT-S Matching cyl.
CT-04/CT-04S 87 110 60 29 110 57 79 0.9 1.1 | TH-428
CT-05/CT-05S(TH) 87 110 60 29 110 57 84 0.9 1.1 | TH-A536
CT-05/CT-05S(TK) 87 110 60 29 110 57 84 0.9 1.1 | TK-A528, TK-A533
CT-06/CT-06S 100 125 74 36 120 | 645 94 1.2 16 | JKC643,TK-AG4E, TK-BE46, TK-Ce4e,
TR-646
CT-08/CT-08S 110 138 80 39 130 71 105 1.3 1.8 | TK-B846, TK-A853, TK-B853, TR-853
CT-K10/CT-K10S 158 185 88 43 160 94.5 145 1.9 26 | IK-ALO68, TK-A1075, TK-AL078,
TR-1075
CT-12/CT-12S 158 185 88 43 160 = 945 145 1.9 2.6 | TK-A1287, TK-A1291,TR-1291
EFEE
CT-15/CT-15S 206 235 100 50 210 121 190 3.1 43 | TK-A1511, TK-A1512, TK-A1512-35 IK?J
CT-21/CT-21S 226 255 100 50 210 131 210 3.3 46 | TK-2114 (e
Bl
CT-24/CT-24S 250 270 100 50 230 154 248 35 55 | TK-2416, TK-2416L I
CT-28/CT-28S 310 330 100 50 260 181 305 43 7.2 | TK-2820 ul

Autocrip 104



EKEHETEEIREE
’ CT- SBI CT-SBS 35 corLecton it stRoke conTroL

O INT AR TR R AR E M AR AR FI S B (R ) -

MR BEKERERDA0MDE0(EHE M) -

Q608K EREERBAMNCT-S08B ~ CT-S10B ~ CT-S12B -
The proximity switch and linear Sensor are optional.

Drain port @40 and @60 are optional product.
Drain port @60 only use to CT-S08B,CT-S10B,CT-S12B.

TI2REREEE - (#EEC ) The proximity switch is optional.

BRE BEEAR BRI
Power supply Switching cap. Output tpye
DC 10/30V 100mA NPN

I 31 Terminal Connections

R +V OP1 ov
HURNEERERSE N
. : . . #* BROWN & BLACK B BLUE
linear Sensor installation drawing
+ +v +DC10~30V
v
OUTPUT op1
¢ a7
LOAD
e ) ® OVDC

CT-SB
i = T = H‘ [i—
X - ¥ f:#—jg ] , e il H
[N
2G1
@40 T 818 T 3
@ 40 HEKEEE ) 3 =) |
Drain port -
RERY w Rl |
— |
\ \
XX ] I
[N
| , il .
PT1
G2
2z 26 2 D
60 233 c
@60 gawﬁéﬁéaa
rain port o P A mm
7%};&@5 Jis £XK&E SXKEHEBHIIR
3R Only use to . . .
CT-S08B/CT-510B/CT-5128) Coolant Collector Coolant Collector with Detecting Ring
(REBRBIELRIER
Subject to technical changes
SNEYR < DIMENSIONS
EEWeight (kg) pic)aEHEEE Sl
Model A B c D E F | FL | F2 G Gl G2 | H J
CT-SB | CT-SBS Matching cyl.
CT-S05B/CT-S05BS 97 120 68.3 333 96 496 56 - | 25 32 | - | 62 | 86 1.1 1.6 | TS-539, TR-539

CT-S08B/CT-S08BS 133 160 | 82 | 40 130 496 56 63 25 | 32 52 82 | 130 0.9 1.4 TS-866

i
1¢
izl

CT-S10B/CT-S10BS 160 188 88 « 43 | 148 496 56 | 63 25 32 52 | 96 148 | 1.16 2.9 TS-1081

N
/A

o

\
/l

CT-S12B/CT-S12BS 200 ' 232 | 88 43 171 496 56 63 25 | 32 52 | 118 190 2.6 4.0 TS-1210

=3

105 autocriP



’ FV 17344 51 F 5 K

STATIONARY CYLINDER LOCK VALVE FOR AIR STATIONARY CHUCK

Model:FV-01
2~M6
Screw hole 20%0.2 ©
E) | | M
N ZNYNZNN L ] )
SR e
i R) A1 _S
| To)
| ¢ T |
i ullilul A el e
Al CN_ 1B @J 3-g5
RC1/8" 70
Airtight detection port
R TSIk
A C B
Circuit drawing Model:FV-03
EERE
§~M6h | 60+0.2
Ccre! ole
BT S 3 =
)g}x:b : —%LQQI T ) —!
ey o
o @ | ) rs)
= T T
. LT 13
: : i A" CI_gg ' |BL
A Eﬂ B 2-08 | 6850
105
RC1/4"

Airtight detection port
KEmAL

FRE B EZ AR

Subject to technical changes

i
f
iz

\|
/

ff

\
/]

=

Autocrip 106



PENRRESS

THE CALCULATION OF DRAW TUBE LENGTH

DRAW TUBE

Piston Cylinder Adaptor Chuck Adaptor
K paE R R

W GE R

c B
M1 IS K max Cylinder ?ﬂr;w Pipe
. 2 B =]
i L ) B E — /A )

8[J [ i

——1
Spindle of Lathe

i
1¢
izl

N
/A

o

\
/l

=3

L - -
Glmax, BREH
thZEHI 42 5% B Detail of Draw Tube A \%hgl%c'(
L=A+G2max.+H-G1max.+M2+M3 L :
RERFAS ISR R
Subject to technical changes
iR 1& SPECIFICATIONS
FEERARAE LGRS Gl G2 o1 K E
H M3 M2 M1 H1 L
Chuck type Cylinder type max. max. (f7) max. min.
3H-12 A8 TK-A1291 30 23 12 35 28 M100x2 35 95 :883? M100x2 5 A+56+12
3H-15 All TK-A1512 30 33 12 45 33 M130x2 45 125 :8823 M130x2 5 A+81+12
3H-18 All TK-A1512 30 33 12 45 33 M130x2 45 125 :gggz M130x2 5 A+81+12
TG AR G1 G2 o1 K E
H M3 M2 M1 H1 L
Chuck type Cylinder type max. max. (f7) max. min.
3H-204 Ad TK-A528 12 1145 10 25 | 315 M38x1.5 20 35 :8825 M38x1.5 5 A+59+10
3H-205 A4 TK-A533 12 17 10 25 16 M38x1.5 25 35 :88:5 M45x1.5 5 A+46+10
3H-206 A5 TK-A646 15 14 10 25 28 M55x2 20 50 :8825 M60x2 5 A+52+10
3H-208 A6 TK-A853 20 165 12 30 335 M60x2 20 55 :882 M75x2 5 A+60+12
3H-210 A8 TK-A1075 25 21 12 35 285 M85x2 25 80 :882 M95x2 5 A+59.5+12
3H-212 All TK-A1512 30 23 12 45 32 M130x2 30 | 125 gggg M115x2 5 A+70+12
3H-215 A8 TK-2114 35 33 17 45 44 M155x2 40 | 145 gggg M115x2 5 A+87+17
3H-215 All TK-2114 35 33 17 45 51 M155x2 40 | 145 :88;2 M155x3 5 A+93+17
3H-215 Al15 TK-2114 35 33 17 45 38 M155x2 40 | 145 :gggg M155x3 5 A+81+17
3H-18B | Al15 TK-2416 35 35 17 45 | 45 M180x3 40 | 170 :gggg M175x3 5 A+90+17
3H-221 Al15 TK-2416 35 34 17 45 42 M180x3 40 | 170 :88;2 M190x3 5 A+86+17
3H-224 A20 TK-2820 51 B5 17 45 | 42 M220x3 40 | 210 :gggg M225x3 5 A+71+17
3H-232 A20 TK-2820 51 37 17 45 51 M220x3 45 | 230 :gggg M295x3 5 A+82+17

107 autocriP

7 2H4H BI 2 HE R EETEE 3H ~ 3H-2 B3 - (Note:To calculate the draw-tube length of 2H,4H as 3H,3H-2.)




REHNRRERSE
DRAW BAR G ciiaronor oraw sar teneT

Cylinder Adaptor Draw Pipe Chuck Adaptor
W R E R HI18 FREREIER
L

e === E? ,
c =i

@D

i [
L SIyImder J—‘T.:
Bl J
N
G1 max. (3P-04,3P-05) | (G2)min. | *
1
th EH1185% B Detail of Draw Bar G2 min. S;h—%Ck
. S
L=A-G1max.-G2min.-4+C A
REBWIBEUET
Subject to technical changes
iR 1& SPECIFICATIONS
HEERIT, I A G1 G2
B c D K1 K2 L
Chuck type Cylinder type max. min.
3P-04 RK-75(N)/RA-130 30 30/20 | 30/25 45 3 M20x2.5/M16x2 M10x1.5 A-22/A-32
3P-05 RK-75(N)/RA-130 40 30/20 | 30/25 45 -6 M20x2.5/M16x2 M12x1.75 A-13/A-23
3P-06 RK-100(N)/RA-170 40 30/25 | 30/25 45 81.5 M20x2.5/M16x2 M16x2 A-101/A-106
3P-08 RK-125(N)/RA-220 40 40/30 | 35/30 50 106 M24x3/M20x2.5 M20x2.5 A-120/A-130
3P-10 RK-125(N)/RA-220 40 40/30 | 35/30 50 133 M24x3/M20x2.5 M20x2.5 A-147/A-157
3P-12 RK-150(N)/RA-270 40 40/35 | 45/35 55) 133 M30x3.5/M24x3 M20x2.5 A-152/A-157
3P-215 RK-200(N)/RH-200 60 55 55 70 69 M36x4 M30x3.5 A-88
3P-218 RK-200(N)/RH-200 60 55) 55 70 57 M36x4 M30x3.5 A-76
3P-221 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
3P-224 RK-200(N)/RH-200 60 55 55 70 62 M36x4 M30x3.5 A-81
75 2P IR ZHIMRREETER 3P AU - (Note:To calculate the draw-bar length of 2P as 3P.)
FEGAEI T, WEEF AR G1 G2
B © D K1 K2 L
Chuck type Cylinder type max. min.
3M-05 RK-75(N) 40 30 30 45 -2 M20x2.5 M12x1.75 A-17
3M-06 RK-100(N) 40 30 30 45 815 M20x2.5 M16x2 A-101
3M-08 RK-125(N) 40 40 35 50 106 M24x3.0 M20x2.5 A-120
3M-10 RK-150(N) 40 40 85) 50 135 M24x3.0 M20x2.5 A-148
3M-12 RK-150(N) 50 40 45 55 40 M30x3.5 M24x3 A-59

oM B 2R R EEtEE 3M BUx - (Note:To calculate the draw-bar length of 2M as 3M.)

i
f
iz

\|
/

ff

\
/l

=

Autocrip 108



’ Gl
NOTE




’ Gl
NOTE




AUIL'Gd

HIEEERRE, TAREERREE 28, MEE2ER0FRF1TEN.

We reserve the right to modify the specifictions without prior notice.

GIAl=

®

=% 2o ) S F=RFVAS o\ —
2B /AR AR5
AUTOGRIP MACHINERY CO,, LTD.
513006 E{LFAIH/OVBEAEE B8 —E 220 5%
No. 229, Sec. 1, Mingsheng Rd., Puxin Township,
Changhua County 513006, Taiwan

T +886-4-822-8719
F +886-4-823-5719
E sales@autogrip.com.tw

www.autogrip.com.tw V.2024.12CN



	AUTOGRIP_封面
	AUTOGRIP前言_1129
	AUTOGRIP_CN01動力夾頭
	AUTOGRIP_CN02特殊動力夾頭
	AUTOGRIP_CN03橡膠筒夾
	AUTOGRIP_CN04立置式夾頭
	AUTOGRIP_CN05轉盤夾頭
	AUTOGRIP_CN06手動夾頭
	AUTOGRIP_CN07虎鉗
	AUTOGRIP_CN08展刀搪溝頭
	AUTOGRIP_CN09同步夾具
	AUTOGRIP_CN10空油壓迴轉缸
	AUTOGRIP_CN11迴轉分流閥迴轉接頭
	AUTOGRIP_CN12零附件與其他
	AUTOGRIP_封底

